






 

BIOLOGY 7 YCT 

Chapter-1 

Biological Evolution &  

Economic Importance of Animals
1.  What type of organism is Euglena and what 

method of digestion does it use ?   
  Ùetiueervee efkeâme Øekeâej keâe peerJe nw Deewj Ùen heeÛeve kesâ 

efueS efkeâme efJeefOe keâe GheÙeesie keâjlee nw ?  
 (a) Plant-like organism, photosynthesis/heewOes pewmee 

peerJe, ØekeâeMe mebMues<eCe  
 (b) Animal-like organism, phagocytosis/heMeg pewmee 

peerJe, hewâieesmeeFšesefmeme  
 (c) Both plant and animal organisms, 

photosynthesis and phagocytosis /heewOes Deewj heMeg 
oesveeW pewmee peerJe, ØekeâeMe mebMues<eCe Deewj hewâieesmeeFšesefmeme 

 (d) Fungus-like organism, saprophytic 
nutrition/keâJekeâ pewmee peerJe, mewØeesheâerefškeâ hees<eCe  

CG-FSL-Lab-Attendant-2024 
Ans. (c) : Euglena is a unicellular organism that 
exhibits both plant-like and animal-like characteristics. 
It can perform photosynthesis to produce it’s own food 
and also engage in phagocytosis to consume organic 
matter for nutrition. 
Therefore it is a combination of a plant and animal 
organism, utilizing both photosynthesis and 
phagocytosis for digestion.  

2.  In candle jar method, which gas is produced inside 
the candle jar which stimulate the growth of 
bacteria?/kewâC[ue peej heæefle ceW, kewâC[ue ceW keâewve meer iewme 
GlheVe nesleer nw pees peerJeeCeg keâer Je=efæ keâes Göerefhele keâjleer nw? 

 (a) Hydrogen/neF[^espeve  (b) Nitrogen/veeFš^espeve  
 (c) Carbon dioxide/keâeye&ve [eFDee@keämeeF[ 
 (d) Oxygen/Dee@keämeerpeve 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (c) In the candle jar method, the gas produced 
inside the jar that stimulates the growth of bacteria is 
carbon dioxide. The burning candle consumes oxygen 
and produces carbon dioxide creating an environment 
that is more favorable for the growth of certain bacteria.  

3.  Chemoautotrophs derive their energy from  
  jmees-mJehees<eer Deheveer Tpee& Øeehle keâjles nQ 
 (a) Sun/metÙe& mes  
 (b) Inorganic chemicals/Dekeâeye&efvekeâ jmeeÙeveeW mes  
 (c) Dead organisms/ce=le peerJeeW mes 
 (d) Living organisms/mepeerJeeW mes 

HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (b) Chemoautotrophs are organisms that obtain 
their energy from chemical reaction, such as bacteria 
and archaea. They use organic compounds as the main 
source of carbon while inorganic  compound used for 
Fe, S, Mg.  

4.  In birds, the type of cleavage is :  
  heef#eÙeeW ceW efJeoueve keâe Øekeâej nw : 
 (a) Discoidal/ef[mkeâesDeeF[due  
 (b) Holoblastic/nesueesyueeefmškeâ  
 (c) Superficial/meghejHeâerefMeÙeue 
 (d) Meridional/cesjeref[Deesveue 

UKSSSC Lab Assistant (19.05.2019) 

Ans. (a) Cleavage is a word for a kind of splitting or 
separation of cell after fertilization. When a cell of 
embryo starts developing into a multicellular organism. 
• During cleavage the cell divide without an increase in 
mass. Like fish eggs, the yolky eggs of birds undergo 
discoidal meroblastic cleavage. 
5.  Who gave theory of Natural selection?  
  Øeeke=âeflekeâ JejCe efmeæeble efkeâmeves Øeefleheeefole efkeâÙee nw? 
 (a) Charles Darwin/Ûeeume& [eefJe&ve  
 (b) De Lamarck/[er uewceeke&â  
 (c) Weismann/yeerpecewve 
 (d) Wallace/Jewuesme 

RSMSSB Lab Assistant (29.06.2022) 

Ans. (a) Natural selection proposed by Charles  
Darwin. It is a process through which populations of 
living organisms adapt and change. It is a way of 
selecting organism with certain traits that's driven 
completely by nature.   
6.  What is the Evolution?/GefÉkeâeme keäÙee neslee nw? 
 (a) Development of a species/ØepeeefleÙeeW keâe efJekeâeme  
 (b) History and Development of a race/peeefle kesâ 

efJekeâeme keâe Fefleneme ØepeeefleÙeeW keâe efJekeâeme  
 (c) History of a race/peeefle kesâ Fefleneme 
 (d) History and development of race along with 

variations/efJeefYeVelee kesâ meeLe peeefle kesâ efJekeâeme keâe 
Fefleneme 
MP VYAPAM Lab Technician (17.10.2015) 

Ans. (d) Evolution is a process that result in changes in 
genetic material of a population over time.  

Evolution refers to the process where organism 
develops and diversity form earlier forms through out 
history, often involving genetic material.   
7.  What is the study of fossils called?  
  peerJee<ce kesâ DeOÙeÙeve keâes keäÙee keânles nQ? 
 (a) Pomology/heesceesueepeer (b) Phycology/HeâeFkeâesueepeer  
 (c) Paleontology/hewefueDeesvšesuee@peer 
 (d) Psychiatry/meeFef›eâÙeš^er 

MP VYAPAM Lab Technician (17.10.2015) 
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BIOLOGY 8 YCT 

Ans. (c) Paleontology is a branch of science in which 
scientific study of life of the geologic past that involves 
the analysis of plant and animal fossils. 
8.  Non-polar amino acid residues are found 

mostly/DeOeÇgJeer Deceerveesb Decue DeJeefMe° cegKÙele: heeS peeles nw 
 (a) in the core of proteins/Øeesšerve kesâ keâesj ceW  
 (b) on the surface of proteins/Øeesšerve keâer melen hej  
 (c) on alpha helices/DeuHeâe nsefuekeäme hej 
 (d) in non-specific region/DeefJeefMe°  #es$e ceW 

HPSSC Laboratory Assistant (10.07.2021) 

Ans. (a) Non-polar amino acids have either an aliphatic or 
aromatic group which show hydrophobic nature. Proteins 
have a folded compact structure in which non-polar amino-
acids residues are located in the interior of molecule. 
9.  An alpha helix represents   
  DeuHeâe nsefuekeäme ØeoefMe&le keâjlee nw- 
 (a) primary structure of a protein/Øeesšerve keâer 

ØeeLeeefcekeâ mebjÛevee  
 (b) secondary structure of a protein/Øeesšerve keâer 

efÉleerÙekeâ mebjÛevee  
 (c) tertiary structure of a protein/Øeesšerve keâer le=leerÙekeâ 

mebjÛevee  
 (d) aggregation of proteins/Øeesšerve keâe mecegÛÛeÙe  

HPSSC Laboratory Assistant (10.07.2021) 

Ans. (b) The α helix is a structural feature of 
polypeptides which represents the secondary structure 
of a protein which shows intra-molecular H- bonding β 
- helix forms a right handed helix.   
10.  Phylogenetic relationship can be shown by   
  peeefleJe=òeerÙe mecyevOe oMee&Ùee pee mekeâlee nw- 
 (a) Dendrogram/[sv[^es«eece Éeje  
 (b) Gene Bank/peerve yeQkeâ Éeje  
 (c) Data retrieving tool/[sše efjš^eFefJebie Éeje 
 (d) Data search tool/[sše meÛe& štue Éeje 

HPSSC Laboratory Assistant (10.07.2021) 

Ans. (a)  The dendrogram used to classify taxonomic 
relationship. Which consists of stacked branches that 
break down into smaller branches dendrogram is a 
broad term used to represent a phylogenetic tree. 
11.  Anticoagulant hirudin is found in  
  Øeeflemkebâokeâ efn™ef[ve heeÙee peelee nw 
 (a) Snake/meeBhe ceW  (b) Lizard/eqÚhekeâueer ceW  
 (c) Leech/peeWkeâ ceW (d) Scorpion/efyeÛÚt ceW 

HPSSC Laboratory Assistant(11.02.2021) 

Ans.(c)  Hirudin is a natural peptide in salivary glands 
of leech and mosquito which help in blood sucking due 
to having anticoagulant property.  

• Hirudin is most potent natural inhibitor of thrombin.  

12.  Munga silk is obtained from which insect?  
  cetbiee efmeukeâ efkeâme keâerš mes Øeehle neslee nw ? 
 (a) Philosamia ricini/efHeâueesmeeefceÙee jerefmeveer  
 (b) Antheraea assama/SvLeerjerÙee Demeecee  
 (c) Antheraea paphia/SvLeerjerÙee hewefHeâÙee 
 (d) Bombyx mori/yee@efcyekeäme ceesjeF& 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (b) Sericulture is the process of cultivating 
silkworms and extracting silk. 
Munga silkworm is obtained from Antheraea 

assamensis which is endemic to Assam and adjoining 
areas in north eastern India.  

• Munga silk is semi-cultivated silkworms and are the 
strongest natural fibers.   
13.  Select the correct set of homologous organs-  
  mecepeele DebieeW kesâ mener mesš keâe ÛeÙeve keâerefpeÙes- 
 (a) Forelimb of man, wings of birds and flippers of 

whale/ceeveJe kesâ De«eheeo , he#eer kesâ hebKe leLee Jnsue kesâ 
ceervehe#e  

 (b) Forelimb of man, wings of insects and wings of 
birds/ceeveJe kesâ De«eheeo, keâerš kesâ hebKe leLee he#eer kesâ hebKe  

 (c) Forelimb of man, hind legs of horse, wings of 
birds/ceeveJe kesâ De«eheeo, IeesÌ[s kesâ he§eheeo, he#eer kesâ hebKe 

 (d) Forelimb of man, tail of horse, wings of bat/ceeveJe 
kesâ De«eheeo, IeesÌ[s keâer hegÛÚ, ÛeceieeoÌ[ kesâ hebKe 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (a) The organs which have the anatomically and 
structurally same but performs different function called 
homologous organisms.  
Example – Forelimb of man, wings of birds, and 
flippers of whale.   
14.  The term biocoenosis was coined by-  
  Meyo yee@Ùeesefmeveesefmeme efkeâmeves Øeefleheeefole efkeâÙee ? 
 (a) Tansley/ševmeues  
 (b) Carl Mobius/keâeue& ceesefyeÙeme  
 (c) Warming/JeeefceËie 
 (d) R. Mishra/Deej. efceßee 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (b) Biocoenosis is the interacting organisms living 
together in a habitat and consist of a community of 
living organisms and their habitat. The term 
Biocoenosis was given by Karl Mobius in 1877.   
15.  A multicellular organism grows by  
  yengkeâesefMekeâerÙe peerJe Je=efæ keâjles nQ 
 (a) Cell addition /keâesefMekeâe mebkeâueve  
 (b) Cell explosion /keâesefMekeâe ØemHeâesšve  
 (c) Cell division /keâesefMekeâe efJeYeepeve 
 (d) None of these /FveceW mes keâesF& veneR 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (c) Cell division is a process in which parent cell 
divides form two daughter cells. This process occurs 
mainly in larger cell of cell cycle in which cell grows 
and replicates its chromosome before dividing.   
16.  Point mutation involves  
  efyebog GlheefjJele&ve ceW meefcceefuele nw  
 (a) Insertion/efveJesMeve 
 (b) Duplication/DevegefueefhekeâjCe 
 (c) Deletion/ueeshe 
 (d) Change in single base pair/Skeâue cetue Ùegice ceW heefjJele&ve 

HPSSC Lab Assistant(30.09.2018) 

Ans. (d) Any change in the DNA sequence of a cell. In 
point mutation a single nucleotide base in changed by 
addition or deletion.  s 
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Chapter-2 
 

Reproductive System in 

Humans & Human Diseases
1.  Infective stage of Entamoeba histolytica for 

human is :  
  ceveg<Ùe kesâ efueÙes SvšDeceeryee efnmšesefueefškeâe keâer meb›eâecekeâ 

DeJemLee nw : 
 (a) Uninucleate cyst/ÙetefvevÙetefkeäueÙesš efmemš  
 (b) Binucleate cyst/yeeFvÙetefkeäueÙesš efmemš  
 (c) Quardrinucleate cyst/keäJeeef[^vÙetefkeäueÙesš efmemš 
 (d) Trophozoite cyst/š^esHeâespJeeFš efmemš 

CG Lab Assistant-2019 

Ans. (a) : The infective stage of Entamoeba histolytica 
for human is uninucleate cyst. These cysts are resistant 
forms that allow transmission through contaminated 

food or water leading to infection in the intestines. 
2.  Kala-azar is caused by:  

  keâeuee-Depeej efkeâmekesâ keâejCe neslee nw? 
 (a) Plasmodium vivax/hueepeceesef[Ùece JeeFJeskeäme  
 (b) Leishmania donovani/ueerMeceeefveÙee [esveesJeeveer  
 (c) Trypanosoma gambiense/efš^hesveesmeescee iewcyeerÙevme 
 (d) Wuchereria bancrofti/JeeGÛesefjÙee yeQ›eâe@Heäšer 

CG Lab Assistant-2019 

Ans. (b) : Kala-azar is caused by Leishmania donovani. 

It is a parasitic disease transmitted by the bite of 

infected female sand flies, leading to symptoms like 

fever , weight loss and an enlarged spleen and liver. 
3.  Quickening means  
  efkeäJekeâefvebie keâe DeeMeÙe nw: 
 (a) Hearing of the fetal heart sound 

  YeütCe ùoÙe OJeefve keâe megvevee  
 (b) Sudden Cessation of Menstruation 

  ceneJeejer keâe DeÛeevekeâ meceeheve  
 (c) The movement of the feuts in the uterus felt 

by the mother/ieYee&MeÙe ceW YeütCe keâer nueÛeue ceeB keâes 
cenmetme nesleer nQ~ 

 (d) Nausea and vomiting in the morning 

  megyen kesâ meceÙe peer-ceÛeuevee leLee Gušer Deevee 
RRB Lab Technician (10.06.2015) 

Ans. (c) Quickening is when a pregnant woman feels 

the fetus's movements in her uterus, typically occurring 

around the fourth month of pregnancy, indicating the 

body's growth and activity.    

4.  What is the retention of larva embryonic 

character in adults called?  
  JeÙemkeâ ceW DeJeOeejefCele ueeJee& YeütCe iegCe keâes keäÙee keânles 

nQ? 
 (a) Neoteny/efveÙeesšsveer  
 (b) Gastrulation/iewmšÎuesMeve  
 (c) Gametogenesis/iescesšespesÇssvesefmeme 
 (d) Blastula/yueemšguee 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (a) Neoteny refers to the retention of juvenile traits 

into adulthood. In this context, it means that adult 

organisms display characteristics typically seen in the 

larval or embryonic stage.  
5.  Placenta is made up of which two tissues?  
  veeue efkeâve oes TlekeâeW mes yeveleer nw? 

 (a) Adipose and Paternal tissue/Jemee SJeb hewle=keâ Tlekeâ  
 (b) Adipose and Maternal tissues/Jemee SJeb ceele= 

Tlekeâ  
 (c) Maternal and Foetal tissues/ceele= SJeb YeütCe Tlekeâ 
 (d) Maternal and Paternal tissues/ceele= SJeb hewle=keâ 

Tlekeâ 
MP VYAPAM Lab Technician (17.10.2015) 

Ans. (c) The placenta is composed of maternal uterine 

tissue and foetal chorionic tissue. It nourishes the fetus, 

exchanges gases, nutrients and waste and facilitates the 

transmission of material antibodies to the fetus.  
6.  Food for the developing foetus is supplied by 

the  
  efJekeâemeMeerue ieYe& keâes Deenej Gmekesâ Éeje efoÙee peelee nw 

 (a) Uterus/ieYee&MeÙe  
 (b) Placenta/huesmeWše  
 (c) Ovary/DeC[eMeÙe 
 (d) Allantosis/Dehejeheesef<ekeâe 

HPSSC Laboratory Assistant (21.08.2022) 

Ans. (b) The placenta supplies nutrients and oxygen to 

the developing foetus from the mother's bloodstream 

and removes waste products. It acts as a vital interface 

for nutrient exchange during pregnancy.  
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7.  Serum Alkaline Phosphatase levels are elevated 

in all of the following except  

  efvecve meYeer ceW meerjce SukesâueeFve Heâe@mHesâšspe kesâ mlej 
GÛÛe jnles nQ, efmeJeeÙe 

 (a) Rickets/efjkesâšdme  
 (b) Infective hepatitis/meb›eâefcele nshesšeFefšme  
 (c) Obstructive jaundice/ØeeflejesOeer heerefueÙee 
 (d) Heart disease/ÜoÙe jesie 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) Serum alkaline phosphatase levels are elevated 

in all i.e. rickets, infective hepatitis, obstructive 

jaundice except heart disease. 

An alkaline phosphatase (ALP) test measures the 

amount of ALP in the blood. 

8.  Colour-blindness is due to defect in  
  JeCee&vOelee FmeceW oes<e kesâ keâejCe neslee nw 
 (a) Cones/Mebkegâ  
 (b) Rods/Meueekeâe  
 (c) Both (A) and (B)/ (A) Deewj (B) oesveeW 
 (d) Rhodopsin/jes[e@efhmeve 

HPSSC Laboratory Assistant(11.02.2021) 

 Ans.(a) Colour blindness is caused by abnormalities in 

the cone of the eyes. The pigments porphyropsin, 

cyanopsin, and iodopsin are found in the photoreceptor 

cells refered to as cones. The eye’s capacity to perceive 

colour during the day is correlated with these cells. 

9.  Which of the following causes abortion in 

ladies ?  
  efvecveefueefKele ceW mes keâewve mee ceefnueeDeeW ceW ieYe&heele keâe 

keâejCe nw? 
 (a) Viruses/efJe<eeCeg  
 (b) Bacteria/peerJeeCeg  
 (c) Mycoplasma/ceeFkeâeshueepcee 
 (d) None of these/FveceW mes keâesF& veneR 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) Mycoplasma specifically Mycoplasma 

genitalium can be a contributing factor to abortion in 

women, causing infection like pelvic inflammatory 

disease leading to complications.  

10.  AIDS is caused by HIV that principally infects  
  S[dme, SÛe.DeeF&.Jeer. Éeje neslee nw, pees cegKÙele: ØeYeeefJele 

keâjlee nw 
 (a) All lymphocytes/meYeer efuecheâesmeeFšdme  
 (b) Activator B-cells/meef›eâÙece B - keâesefMekeâeSB   
 (c) T4-lymphocytes/ T4- efuecheâesmeeFšdme 
 (d) Cytotoxic T-cells/meeFšesše@efkeämekeâ T - keâesefMekeâeSB 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) AIDS is caused by HIV which primarily infects 

CD4 positive T-lymphocytes (T-helper cells) 

macrophages and dendritic cells. 

11.  HIV is transmitted by all of the following 

except :  

  HIV Fve meYeer mes mebÛeefjle neslee nw, efmeJeeÙe 
 (a) Infected mother to baby/meb›eâefcele ceelee mes efMeMeg  
 (b) Sexual contact/Ùeewve mecheke&â  
 (c) Contaminated needle/otef<ele metF& 
 (d) Insect bite/keâerš keâešves mes  

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) HIV (Human Immunodeficiency Virus) is 
primarily transmitted through specific bodily fluids 
including blood, semen, vaginal fluids and breast milk. 

It is not transmitted through insect bites.  

12.  African sleeping sickness is caused by species of  
  Deøeâerkeâer veeRo jesie ______ keâer Øepeeefle Éeje neslee nw~ 
 (a) Plasmodium/hueepceesef[Ùece  
 (b) Trichomonas/š^eFkeâesceesveeme  
 (c) Trypanosoma/š^eFhewveesmeesce 
 (d) None of the above/Gòeâ ceW mes keâesF& veneR 

DSSSB Laboratory Technician (2012) 

Ans. (c) African sleeping sickness also known as 
African trypanosomiasis is caused by species of the 
protozoan parasite Trypanosoma, particularly 
Trypanosoma brucei gambiense and Trypanosoma 
brucei rhodesience. These parasites are transmitted to 

human through the bite of infected tse-tse flies.  
13.  Causative agent of bacillary dysentry:  

  yesefmeuejer Deeflemeej keâe jesiekeâejkeâ nw :  
 (a) Shigella/efMeiesuuee  (b) E.coli/F&-keâesueer  
 (c) Proteus/ØeesefšDeme  (d) Vibrio/efJeefyeÇÙees  

Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (a) The causative agents of bacillary dysentery, 

Shigella, is a genus of gram-negative bacteria known 

for causing severe intestinal infection. 
14.  Common cold, Influenza, Chickenpox and 

Measles are caused due to the attack of :  
  efkeâve kesâ Dee›eâceCe kesâ keâejCe Deece meoea pegkeâece ÛesÛekeâ 

Deewj Kemeje neslee nw? 
 (a) Virus only/kesâJeue efJe<eeCeg  
 (b) Bacteria only/kesâJeue peerJeeCeg  
 (c) Protozoa only/kesâJeue ØepeerJeieCe 
 (d) Both virus and bacteria/efJe<eeCeg Deewj peerJeeCeg 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (a) The common cold, influenza (flu), chickenpox 

and measles are all caused by virus. They infect the 

respiratory system and spread through droplets, causing 

various symptoms characteristics of each illness. 
15.  Average weight of a new born baby  
  veJepeele efMeMeg keâe Deewmele Yeej neslee nw: 
 (a) 2 kg/2 efkeâ«ee  (b) 4 kg/4 efkeâ«ee  
 (c) 3 kg/3 efkeâ«ee (d) 5 kg/5 efkeâ«ee 

RRB Lab Technician (10.06.2015) 
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Ans. (c) The average weight of a newborn baby varies 

but generally, it is around 3 kilogram (approximately 

6.6 pounds). This weight can vary slightly depending on 

various factors such as gestational age, maternal health 

and genetics, but 3 kg is a commonly accepted average.    
16.  Protein requirement for a pregnant woman per 

day:   
  ieYe&Jeleer ceefnuee keâes Øeefleefove Øeesšerve keâer DeeJeMÙekeâlee 

nesleer nw: 

 (a) 50 grams/50 «eece  (b) 55 grams/55 «eece  
 (c) 60 grams/60 «eece (d) 65 grams/65 «eece 

RRB Lab Technician (10.06.2015) 

Ans. (c) During pregnancy, a woman needs 

approximately 60 grams of protein per day to support 

the growth and development of the fetus, as well as to 

meet her own nutritional needs.   
17.  The fundus is at the level of umbilicus during 

....... week pregnancy.   
  ........... mehleen keâer ieYee&JemLee kesâ oewjeve veeefYe kesâ mlej 

hej HeâC[me neslee nw: 
 (a) 16  (b) 20  
 (c) 24 (d) 28 

RRB Lab Technician (10.06.2015) 

Ans. (c) By 24 weeks of pregnancy, the fundus of the 

uterus reaches the level of the umbilicus. This milestone 

indicates the advancing growth and development of the 

fetus within the mother's womb.   
18.  Total weight gain during pregnancy is   
  ieYee&JemLee kesâ meceÙe kegâue Yeej Øeehle neslee nw: 

 (a) 7-8 kg/7-8 efkeâ«ee.  
 (b) 10-11 kg/10-11 efkeâ«ee.  
 (c) 13-14 kg/13-14 efkeâ«ee. 
 (d) 15-16 kg/15-16 efkeâ«ee. 

RRB Lab Technician (10.06.2015) 

Ans. (b) During pregnancy, a woman typically gains 

around 10-11 kg (22-24 pounds) of weight. This weight 

gain is essential for the healthy development of the 

body and maternal well-being.   
19.  The birth weight of the baby doubles at the age 

of   
  efkeâme DeeÙeg ceW yeÛÛes kesâ Mejerj keâe Yeej pevce kesâ Yeej keâe 

oesiegvee nes peelee nw: 

 (a) 3 months/3 cenervee  (b) 6 months/6 cenervee  
 (c) 9 months/9 cenervee (d) 12 months/12 cenervee 

RRB Lab Technician (10.06.2015) 

Ans. (b) By the age of 6 months, a baby's birth weight 

usually doubles. This doubling reflects healthy growth 

and development, indicating proper nutrition and care 

during the first year of life.   

20.  Infancy period is from  
  MewMeJeemLee DeJeefOe nesleer nw 
 (a) Birth to one month/pevce mes Skeâ ceen  
 (b) One month to 1 year/1 ceen mes 1 Je<e&  
 (c) 1 year to 3 year/1 Je<e& mes 3 Je<e&  
 (d) 3 year to 5 year/3 mes 5 Je<e&  

RRB Lab Technician (10.06.2015) 

Ans. (b) The infancy period spans from one month to 

one year after birth. During this time, infants undergo 

rapid growth and development, transitioning from 

newborns to toddlers, acquiring essential skills and 

abilities.  
21.  The first course of oral pills should be stared 

on the ...... day of menstrual cycle.  
  ceewefKekeâ ieesefueÙeeW keâer ØeLece DeJeefOe keâes ceeefmekeâ Ûe›eâ kesâ 

......efove Meg™ keâjveer ÛeeefnS~  

 (a) 2nd/2 otmeje  (b) 7th/7JeeB   
 (c) 5th/5JeeB (d) 10th/10JeeB  

RRB Lab Technician (10.06.2015) 

Ans. (c) The first course of oral contraceptive pills is 

often started on the 5
th

 day of the menstrual cycle. This 

timing alings with the natural hormonal changes and 

helps regulate the menstrual cycle.   
22.  Head control of the infant occurs at age of ....... 

month  
  efMeMeg keâe efmej keâe efveÙeb$eCe .......... cenerves keâer DeeÙeg ceW 

Øeehle keâjlee nw~ 
 (a) 2  (b) 3  
 (c) 5 (d) 6 

RRB Lab Technician (10.06.2015) 

Ans. (c) Infants typically achieve head control around 

five months of age. This milestone indicates 

strengthening of neck muscles, allowing the baby to 

hold their head steady while sitting or supported 

upright.   
23.  Puerperium is the period begins.  
  meteflekeâeJemLee DeJeefOe keâer Meg®Deele nesleer nw: 
 (a) As soon as the placenta is expelled and last 

for 6 to 8 weeks/pewmes ner huesmesše yeenj efvekeâuelee nw 
Deewj 6 mes 8 mehleen lekeâ yenlee nw~   

 (b) As soon as the baby is expelled and last for 6 

to 8 weeks/pewmes ner yeÛÛes keâes yeenj efvekeâeuee peelee nw 
Deewj 6 mes 8 mehleen lekeâ jnlee nw~   

 (c) As soon as the membrane ruptures and last 

for 6 to 8 weeks/pewmes ner efPeuueer Heâš peeleer nw Deewj 
6 mes 8 mehleen lekeâ jnleer nw~  

 (d) As soon as the placenta is expelled and last 

for 10 to 12 weeks/pewmes ner huesmesše yeenj efvekeâue 
peeleer nw Deewj 10 mes 12 mehleen lekeâ jnlee nw~  

RRB Lab Technician (10.06.2015) 
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Ans. (a) The puerperium or postpartum period, beings 

as soon as the placenta is expelled and lasts for 6 to 8 

weeks. During this time, the mother's body undergoes 

recovery and adaptation after childbirth.    
24.  When the umbilical cord lies in front of the 

presenting part and the membranes are intact 

it is known as :  
  peye ieYe&veeue Øemlegle keâjves Jeeues Yeeie kesâ meeceves nesleer nw 

Deewj efPeefuueÙeeB yejkeâjej nesleer nw lees Fmes keâne peelee nw~ 

 (a) Cord prolapse/keâe[& Øeesuewhme  
 (b) Cord presentation/keâe[& Øemlegefle  
 (c) Cord pulsation/keâe[& mhebove 
 (d) Card delivery/keâe[& ef[ueerJejer 

RRB Lab Technician (10.06.2015) 

Ans. (b) Cord presentation refers to the condition where 

the umbilical cord is positioned between presenting part 

of the fetus and the cervix while the amniotic 

membranes are still intact. This is different from cord 

prolapse, where the umbilical cord slips down into the 

birth canal after the membranes have ruptured. Cord 

presentation can be identified before the membranes 

break and requires careful monitoring to prevent 

complication during delivery.  
25.  Starting of menstrual cycle is called........  
  ceeefmekeâ Ûe›eâ keâer Meg®Deele keâes keâne peelee nw: 

 (a) Ovulation/DeC[eslmeie&    
 (b) Menstruation/ceneJeejer  
 (c) Menarche/jpeesoMe&ve  
 (d) Menopause/jpeesefveJe=efòe 

RRB Lab Technician (10.06.2015) 

Ans. (c) Menarche refers to the onset of the menstrual 

cycle in females, typically occurring during puberty. It 

marks the first menstrual period and signifies the 

beginning of reproductive capability.     
26.  Seminiferous tubules are a part of  
  Meg›eâpevekeâ veefuekeâe efkeâmekeâe Yeeie nw? 

 (a) Kidney/iegoe&  
 (b) Bronchial tree/MJemeveer Je=#e  
 (c) Brain/efoceeie 
 (d) None of the above/FveceW mes Skeâ Yeer veneR 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (d) Seminiferous tubules are part of the male 

reproductive system, found in the testes, where sperm 

production occurs. Hence, they are not associated with 

the kidney, bronchial tree or brain.  
27.  Bacterial diseases in man are-  
  ceveg<Ùe ceW peerJeeCJeerÙe jesie nw - 

 (a) Typhoid, plague, malaria/šeFHeâe@F[, huesie, 
ceuesefjÙee  

 (b) Typhoid, plague, typhus/ šeFHeâe@F[, huesie, 
šeFHeâme  

 (c) Diphtheria, pneumonia, influenza/ef[HeäLeerefjÙee, 
vÙegceesefveÙee, SvHeâuetSbpee 

 (d) Plague, malaria, typhoid/huesie, ceuesefjÙee, 
šeFHeâe@F[ 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (b) Typoid, plague and typhus are all infectious 

diseases caused by bacteria. 

•••• Typhoid fever is caused by the bacterium Salmonella 

typhi. 

•••• Bubonic plague also known as the black death is 

caused by the bacterium Yersinia pestis. 

• Typhus is a group of infectious disease caused by 

Rickettsia bacteria. 
28.  Match the Syndrome in column-I with 

Karyotype in column-II and select the answer 

which is not correct :  
  mlecYe -I ceW efoÙes efmev[^esce keâes mlecYe -II ceW efoÙes 

kesâefjDeesšeFhe mes cesue keâjles ngS Gòej keâe ÛeÙeve keâerefpeÙes 
pees mener veneR nwŠ   

          column-I/ mlecYe -I  column-II/ mlecYe -II 

(a) Edward’s 

Syndrome/S[Je[d&me 
efmev[^esce 

Trisomy 18/š^eFmeesceer 
18  

(b) Patau’s 

Syndrome/hešeT 
efmev[^esce 

Trisomy 13/š^eFmeesceer 
13 

(c) Turner’s 

Syndrome/šve&j efmev[^esce 
Trisomy 21/š^eFmeesceer 
21 

(d) Klinefelter’s 

Syndrome/keäueeFveHesâušj 
efmev[^esce 

XXY 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (c) The correct karyotype for Turner's syndrome 

should be 45, X, not trisomy 21, which is the karyotype 

for down syndrome. Turner syndrome is a genetic 

disorder in females causing one x-chromosome to be 

missing or incomplete.  

29.  Filariasis is caused through the bite of  
  efkeâmekesâ keâešves mes heâeFuesefjSefmeme neslee nw? 
 (a) Culex/keäÙetuewkeäme  
 (b) Anopheles/Svee@efheâefueme  
 (c) Sand fly/mewv[ heäueeF&  
 (d) Both (A) and (B)/(A) leLee (B) oesveeW 

HPSSC Lab Assistant(30.09.2018) 
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Ans. (a) Filariasis is transmitted through the bites of 

infected mosquitoes, but several mosquito genera can 

carry the parasite. Culex mosquitoes are common 

vectors in many areas, particularly urban and semi-

urban ones. 
30.  Cellular totipotency is demonstrated by  
  keâesefMekeâerÙe hetCe&Mekeälelee efkeâmekesâ Éeje ØeoefMe&le keâer peeleer 

nw? 

 (a) Only bacterial cells/kesâJeue peerJeeCeg keâesefMekeâeDeeW Éeje  
 (b) Only gymnosperm cells/kesâJeue DeveeJe=leyeerpeer 

keâesefMekeâeDeeW Éeje  
 (c) Only angiosperm cells/kesâJeue DeeJe=leyeerpeer 

keâesefMekeâeDeeW Éeje 
 (d) All plant cells/meYeer heeohe keâesefMekeâeDeeW Éeje 

HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (d) Cellular totipotency, the ability of a cell to 

develop into a complete plant. This potential is inherent 

in all plant cells, not just specific groups like 

gymnosperms or angiosperms.   
31.  In animals, cellular totipotency has been 

restricted only to  
  ØeeefCeÙeeW ceW keâesefMekeâerÙe hetCe&Meòeâlee kesâJeue ............. lekeâ 

ØeefleyeefvOele nesleer nw~ 

 (a) Germinal cells/peveve keâesefMekeâe  
 (b) Epithelial cells/Ghekeâuee keâesefMekeâeSB  
 (c) Zygote/Ùegicepe  
 (d) Zygote and early blastomeres/Ùegicevepe Deewj henues 

yueemšesefceÙej 
HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (d) In animals, totipotency, the ability to develop 

into any cell type is limited to the zygote and early 

blastomeres, which can differentiate into any cell type 

forming a complete organism. 
32.  Give principle of serum Widal test used for 

diagnosis of enteric fever.  
  Deeb$epJej keâe efveoeve kesâ efueS GheÙeesie efkeâÙee peeves Jeeuee 

meerjce efJe[eue hejer#eCe keâe efveÙece oerefpeS~   

 (a) Precipitation/DeJe#eshe  
 (b) Agglutination/mebMues<eCe 
 (c) Complement Fixation/hetjkeâ efmLejCe 
 (d) Enzyme Immune Assay/SbpeeFce FcÙetve Smmes 

GSSSB Laboratory Technician(30.11.2019) 

Ans. (b) The widal test is an agglutination test where 

the patient's serum is mixed with antigen suspensions of 

salmonella if the patient has antibodies against these 

antigens, visible clumping known as agglutination will 

occur.    
33.  Which one is DNA virus?  
  keâewve-mee Skeâ DNA efJemeeCeg nw? 

 (a) Hepatitis A/nshesšeFefšš A  
 (b) Hepatitis B /nshesšeFefšme B 
 (c) Hepatitis C/nshesšeFefšme C 
 (d) Hepatitis D/nshesšeFefšme D 

GSSSB Laboratory Technician(30.11.2019) 

Ans. (b) The hepatitis B is a small DNA virus made of 

circular DNA, but it is unusual because the DNA is not 

fully double stranded, hepatitis B virus causes the 

disease hepatitis B in which liver are affected that's 

easily prevented by vaccine.  
34.  A Child born in 2010 will not be vaccinated 

against ...............as part of the child 

immunization  program./2010 ceW pevce uesves Jeeues 
yeÛÛes keâes yeeue šerkeâekeâjCe keâeÙe&›eâce kesâ Yeeie kesâ ™he 
ceW______keâe šerkeâe veneR ueiesiee~  

 (a) Measles /Kemeje (b) Diphtheria/ef[hLeerefjÙee  
 (c) Polio /heesefueÙees (d) Small pox /Úesšer ceelee  

NVS Lab Attendant(09.03.2022) 

Ans. (d) A child born in 2010 will not be vaccinated 

against smallpox as part of the child immunization 

program. Smallpox was eradicated globally by 1980, 

and routine vaccination for it ceased in most countries. 

However, vaccinations for measles, diphtheria and polio 

are typically included in childhood immunization 

program to prevent these diseases and protect public 

health.    
35.  The transmission of HIV infection in human 

being generally not occurs/ceveg<Ùe ceW HIV meb›eâceCe 
keâe Øemeej meeceevÙele: veneR neslee nw~  

 (a) By sharing infected injection needles/meb›eâefcele 
FbpeskeäMeve keâer megF& kesâ meePesoejer mes  

 (b) From infected mother to her child/meb›eâefcele ceeB mes 
Gmekesâ yeÛÛes mes   

 (c) By drinking water using the same glass/meceeve 
iueeme keâe GheÙeesie keâjkesâ heeveer-heerves mes  

 (d) By sexual contact with infected person/meb›eâefcele 
JÙeefòeâ kesâ meeLe Ùeewve mecyevOe mes  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (c) The transmission of HIV infection generally 

occurs through sharing infected injection needles, form 

an infected mother to her child, and by sexual contact 

with a infected person. HIV is not transmitted through 

drinking water using the same glass.   
36.  The parasite of benign tertian malaria is 
  JeebefÚle #es$eerÙe ceuesefjÙee keâe hejpeerJeer nesles nQ Š  
 (a) P. ovale /heer. DeesJesue   
 (b) P. vivax /heer. efJeJewkeäme   
 (c) P. falciparum/heer. heâeumeerhesjce  
 (d) P. malariae /heer. ceuesefjÙeeF&  

Kerala PSC Lab Technician(21.01.2023) 
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Ans. (b) Benign tertian malaria caused by Plasmodium 

vivax. It is the most widespread disease, benign tertian 

malaria is characterized by fever that occurs every third 

day and it has traditionally been considered to have a 

benign course without complication or death.    
37.  In P. malariae infection, infected RBC shows 
  heer. ceuesefjÙeeF& meb›eâceCe ceW, meb›eâefcele RBC ØeoefMe&le neslee 

nw Š  
 (a) Jame’s dots /pescme-[e@šdme   
 (b) Maurer’s dots /ceewjj-[e@šdme   
 (c) Ziemann’s dots /efpeceeve-[e@šdme 
 (d) Schuffner’s dots /metheâvej-[e@šdme  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (c) Plasmodium malariae is a parasitic protozoan 

that causes malaria in human by biting of infected 

mosquitoes. 

P. malariae infects old RBC. Infected RBC are normal 

or small sized and rarely Ziemann's stippling may be 

seen. 
38.  VDRL test is done for the diagnosis of   
  VDRL hejer#eCe Fmekesâ jesie efveoeve ceW keâer Deeleer nw 
 (a) Syphilis/meeFefheâefueme  
 (b) Q Fever/ pJej  
 (c) Influenza/FveheäuegSbpee 
 (d) Meningitis/leeefvekeâe-MeesLe(ceWefvevepeeFbefšme) 

DSSSB Lab Assistant (10.05.2015) 
Ans. (a) VDRL test used to diagnose the syphilis by 

detecting antibodies produced by body due to presences 

of bacteria which cause syphilis.  

• The venereal disease research laboratory test (VDRL) 

is a blood test that detect the syphilis infection. 

39.  Which type of Hypersensitivity is called as 

Atopy  
  Sšesheer efkeâme Øekeâej kesâ DeeflemebJesoveMeeruelee keâes keânles nw? 
 (a) Type I/šeFhe I  (b) Type II/ šeFhe II  
 (c) Type III/ šeFhe III (d) Type IV/ šeFhe IV 

DSSSB Lab Assistant (10.05.2015) 
Ans. (a) Atopy is a typically associated with heightened 

immune responses to common allergens. Atopy is on 

exaggerated lgE mediated immune response all atopic 

disorders are type I hypersensitivity disorder.   
40.  Which of the following is an example of auto 

immune disease?  
  mJeÙeb Øeeflejef#ele jesie (Dee@šes FcÙegve jesie) keâe GoenjCe 

efvecve ceW mes keâewve-mee nw? 
 (a) Myasthenia Gravis/ceeÙemLesefveÙee «esefJeme 
 (b) Addison's Disease/S[ermeve jesie  
 (c) Pernicious anemia/heveeaefmeÙeme SveerefceÙee 
 (d) All of the above/GheÙeg&òeâ meYeer 

DSSSB Lab Assistant (10.05.2015) 

Ans. (d) Autoimmune diseases occur when the immune 

system attack the body’s own tissues, mistaking them 

for harmful invaders. Ex. Myasthenia Gravis, Addison 

disease, Pernicious anemia. So all of the above are 

autoimmune disease. 
41.  The mosquito which acts as vector for dengue 

fever?  
  [WiÙet yegKeej kesâ efueS jesieJeenkeâ ceÛÚj nw 
 (a) Culex/keäÙetueskeäme  
 (b) Aedes/Sef[me  
 (c) Anopheles/Svee@efheâefueme 
 (d) All of the above/Thejer meYeer 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) Dengue is viral infection that spread from 

Aedes mosquitoes to people mainly in tropical and 

subtropical climates mild dengue fever causes a high 

fever and flue like symptoms.    
42.  Which test is used for Leprosy Patient?  
  kegâ‰ cejerpe kesâ efueS keâewve-mee hejer#eCe GheÙeesieer nw? 
 (a) Shick test /efMekeâ hejer#eCe  
 (b) Frer's test/øewâme& hejer#eCe  
 (c) Mantoux test/ce@vešewkeäme hejer#eCe 
 (d) Lepromin test/ueerØeesefceve hejer#eCe 

DSSSB Lab Assistant (10.05.2015) 
Ans. (d) Lepromin skin test used to determine the 

leprosy. Leprosy is caused by the organism 

Mycobacterium leprae. It is a chronic curable infection 

mainly causing skin lesions and nerve damage as well 

as affects the skin eyes, nose, and peripheral nerves. 

43.  The lncubation period for hepatitis B Virus is  
  nshesefšefšme B JeeFjme kesâ efueS GodYeJeve DeJeefOe nw 
 (a) 1 - 6 weeks/1 - 6 nheäles  
 (b) 1 - 6 months/1 - 6 cenerves  
 (c) 6 - 12 weeks/6 - 12 nheäles 
 (d) 6 - 12 months/6 - 12 cenerves 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) Hepatitis B is a serious liver infection caused 

by Hepatitis B virus. This virus passed from person to 

person through blood-semen of other body fluids. 

Acute symptom of hepatitis B range from mild to 

severe. They usually appear about 1-6 months after 

infection.  
44.  Amoebic Dysentery is caused by which 

parasite?  
  Deceeryeer hesefÛeMe efkeâme hejpeerJeer mes nesleer nw? 
 (a) E. histolytica/F&. efnmšesefueefškeâe  
 (b) Giardia lamblia/efpeDeeef[&Ùee uewefcyeefueÙee  
 (c) E. Coli/F&-keâesueeF& 
 (d) B. Coli/yeer-keâesueeF& 

DSSSB Lab Assistant (10.05.2015) 
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Ans. (a) Amoebic Dysentry, also known as amoebiasis, 

is caused by a parasite called Entamoeba histolytica. It 

is an intestinal infection that can result in severe 

diarrhoea with abdominal pain and can lead to more 

serious complications if left untreated.  
45.  Ribbon like Helminth Parasite are known as  
  efjyeve pewmes nsueefcevLe hejpeerJeer keâes keânles nQ 
 (a) Tapeworms/šsheJeecme& 
 (b) Flukes/heäuetkeäme  
 (c) roundworms/ieesue-ke=âefce 
 (d) Amoeba/Deceeryee 

DSSSB Lab Assistant (10.05.2015) 
Ans. (a) Tapeworm belongs to phylum platyhelminthes 

and known as flatworm. Tapeworm, resembling a tape 

measuring ribbon. Multisegmented that dwell as adults 

entirely in the human small intestines causes a disease 

called taeniasis.   
46.  Chicken-Pox is caused by   
  Úesšer ceelee keâe keâejCe nw: 
 (a) Herpes simplex/nhe&med efmecheueskeäme  
 (b) Varicella/Jesefjmesuee  
 (c) Adenovirus/S[svees JeeFjme 
 (d) Carno virus/keâejvees JeeFjme 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) Chicken is a viral disease caused by Varicella-

zoster virus belongs to the herpes virus family. In which 

itchy blister like rash appears all over body durring 

illness. The rash turns into fluid filled blisters that burst 

to crust over.  
47.  Nosocomial infection is caused by which species 

of pseudomonas  
  veesmeeskeâesefceÙeue meb›eâceCe mÙet[esceesvee@me kesâ efkeâme peeefle mes 

nesvee nw? 
 (a) Paseudomallei/mÙet[escesuesueeF&  
 (b) Aeruginosa/S™efieveesmee  
 (c) Mallei/cesueueeF& 
 (d) All of the above/GheÙeg&òeâ meYeer 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) The species of pseudomonas that is commonly 

associated with nosocomial infections is Pseudomonas 

aeruginosa. It is a gram-negative bacteria which is very 

common in hospitalized patient that hospitalized longer 

than 1 week.    
48.  Tetanus is caused by Clostridium   
  OevegmlebYe (efšš@veme) keâe keâejCe keäueesmš^eref[Ùece nw 
 (a) Perfringens/hejeføebâpesvme  
 (b) Botulinum /yee@šdŸetefuevece  
 (c) Difficile/ef[heâermeeFue 
 (d) Tetani/efššsveer 

DSSSB Lab Assistant (10.05.2015) 

Ans. (d) Tetanus is caused by the bacterium 

Clostridium tetani, which produces a potent neurotoxin. 

This bacterium is commonly found in soil, dust and 

animal feces.  

Infection occurs when the spores enter the body through 

wounds, leading to muscle stiffness and contractions, 

particularly in the jaw, a condition known as lockjaw.     
49.  Bacillary Dysentery is caused by   
  oC[eCegpe hesefÛeMe keâe keâejCe nw 

 (a) Shigella/efMeiesuee  
 (b) Salmonella/meeueceesvesuee  
 (c) Proteus species/ØeesefšÙeme peeefle 
 (d) Citrobacter/meeFš^esye@keäšj 

DSSSB Lab Assistant (10.05.2015) 
Ans. (a) Bacillary dysentery is an bacterial infection in 

which intestine is infected by a group of shigella 

bacteria that found in human gut.    
50.  Which specimen is more appropriate for 

culture of bacteria in the 1
st
 week of typhoid?  

  šeFheâeF[ kesâ henues nheäles ceW yewkeäšerefjÙee mebJeOe&ve kesâ efueS 
keâewvemee vecetvee DeefOekeâ ÙeesiÙe nesiee? 

 (a) Faeces/ceue  (b) Urine/cet$e  
 (c) Blood/jkeäle (d) CSF/meerSmeSheâ 

DSSSB Lab Assistant (10.05.2015) 
Ans. (c) Typhoid fever is a bacterial infection that 

spreads through contaminated H2O and food typhoid 

fever is an illness you get from Salmonella typhi causes 

a high fever, flue like symptoms and diarrhoea. 

Typhoid symptoms starts appear from 5-14 days after 

infection in this week bacteria moves into blood.    
51.  Resting membrane potential of a living cell 

is:/Skeâ peerefJele keâesefMekeâe keâer efJeßeece efPeuueer #ecelee nw-  

 (a) +70 mV  (b) –70 mV  

 (c) +120 mV (d) –120mV 

Kerala PSC Laboratory Assistant (28.03.2015) 

Ans. (b) A resting neuron has a voltage across its 

membrane called the resting membrane potential. This 

is developed due to the unequal distribution of ions 

across the membrane. In most neurons the resting 

potential has a value of approximately –70 mV. 

52.  Which among the following is used for the 

detection of malarial parasite?  
  ceuesefjÙee hejpeerJeer keâes {tb{ves ceW efvecve ceW mes efkeâmekeâe 

GheÙeesie efkeâÙee peelee nw? 

 (a) Platelets/efyecyeeCeg  
 (b) Packed Red Cells/hewkeä[ ueeue keâesefMekeâe  
 (c) Serum/meerjce 
 (d) Plasma/hueepcee (heueeefJekeâe) 

DSSSB Lab Assistant (10.05.2015) 

                            9 / 300



 

BIOLOGY 16 YCT 

Ans. (b) Blood tests for malaria involve examining 

blood films and utilizing complete blood count tests to 

detect the presence of the parasite. These tests often 

include examining both thick and thin blood smear 

under a microscope to indentify malarial parasites.  
53.  Vaginal smear are valuable for the assessment 

of   
  Ùeesveer Oeyyee Fmekesâ efveOee&jCe ceW cetuÙeJeeve nw 
 (a) Malignancy/ogo&cÙelee  
 (b) Endocrine disorders/Deble:ŒeeJeer efyeceejer  
 (c) Hormonal function/neceexveue keâeÙe& 
 (d) UTI 

DSSSB Lab Assistant (10.05.2015) 
Ans. (c) A vaginal smear assesses hormonal function by 

examining cell changes due to hormonal fluctuations, 

useful for tracking menstrual cycles, menopause and 

detecting hormonal imbalances and endocrine disorders.    
54.  The Alzheimer disease in humans is linked with 

the deficiency of ______________ .  
  ceveg<ÙeeW ceW DeuepeeFcej jesie .................. keâer keâceer mes 

pegÌ[e ngDee nw~ 
 (a) Dopamine/[esheeceeFve  
 (b) Glutamic acid/iuetšeefcekeâ Decue  
 (c) Gamma amino butyric acid/ieecee-SceeFvees 

yeeÙetšefjkeâ Decue 
 (d) Acetylcholine/Sefmešuekeâesefueve 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (d) Alzheimer disease is a progressive disease that 

destroys memory and other important mental functions. 

Alzheimer disease is caused by a combination of 

genetic life style and environmental factors that affect 

the brain. Acetylcholine are particularly low in the 

brains of people with Alzheimer's disease. 

55.  __________is not a part of human female 

external genitalia.  
  .............. ceeveJe ceeoe yeenjer peveveebie keâe Yeeie veneR nw~ 
 (a) Mons pubis/ceeWme hegefyeme  
 (b) Labia minora/uesyeerDe efceveesje  
 (c) Antrum/Ssvš^ce 
 (d) Hymen/ÙeesefveÛÚo 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (c) Antrum is a general term for cavity or chamber 

which is a fluid filled space that develop among the 

follicle cells. It is not part of external genitalia. The 

other options listed mons pubis, labia minora and 

hymen formed external genitalia of female. 
56.  Chorionic gonadotropin produced by 

biotechnology can be used to:  
  pewJeØeewÅeesefiekeâer Éeje Glheeefole keâesefjÙeesefvekeâ 

ieesvew[esš^e@efheve keâe GheÙeesie efvecve kesâ efueS efkeâÙee pee 
mekeâlee nw: 

 (a) Halt the progress of rickets./metKee jesie keâer Øeieefle 
keâes jeskeâvee~  

 (b) Treat infertility in women./ceefnueeDeeW ceW DevegJe&jlee 
keâe GheÛeej keâjvee~  

 (c) Dissolve blood clots in stroke patients./mš^eskeâ 
kesâ jesefieÙeeW ceW jòeâ kesâ LekeäkeâeW keâes Ieesuevee~ 

 (d) Enhance immunity in infants./efMeMegDeeW ceW jesie 
ØeeflejesOekeâ #ecelee yeÌ{evee~ 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) Biotechnologically produced chorionic 
gonadotropin is used to treat infertility in women by 
stimulating ovulation, enhancing the chances of 

conception in those struggling to conceive naturally.       
57.  Which microbe is not used for the industrial 

production of organic acids?  
  efkeâme met#ce peerJe keâe GheÙeesie keâeye&efvekeâ DecueeW kesâ 

DeewÅeesefiekeâ Glheeove kesâ efueS veneR efkeâÙee peelee nw? 
 (a) Vibrio cholerae /efJeefyeÇÙees keâe@uesjer  
 (b) Spergillus Niger /Ssmheefpe&ueme veeFpej  
 (c) Acetobacter acute /Smeeršesyewkeäšj SkeäÙetš 
 (d) Lactobacillus /uewkeäšesyewefmeueme 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (a) Vibrio cholerae is a pathogenic bacterium 
associated with causing cholera and is not used in the 

industrial production of organic acids.    
58.  Who gave the first conclusive evidence on the 

role of bacteria in human diseases? 
  efkeâmeves ceeveJe jesieeW ceW peerJeeCegDeeW keâer Yetefcekeâe hej henuee 

efveCee&Ùekeâ ØeceeCe efoÙee? 
 (a) Francesco Redi/øeâebmesmkeâes jsef[  
 (b) Robert Koch/je@yeš& keâesÛe  
 (c) Antony Van Leeuwenhoek/Sbšesveer Jee@ve 

uÙetJesvene@keâ 
 (d) Louis Pasteur/uegF&me heemÛej 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) Robert Koch provided the first conclusive 
evidence on the role of bacteria in human diseases 
through his development of Koch’s postulates, linking 
specific bacteria to specific diseases, solidifying germ 

theory.     
59.  What is Koch's 4

th
 postulate ?      

  keâesÛe keâer ÛeewLeer DeefYeOeejCee keäÙee nw?  
 (a) The microorganism must be present in every 

case of the disease but absent from healthy 

organisms/jesie kesâ nj ceeceues ceW met#cepeerJe ceewpeto nesvee 
ÛeeefnS uesefkeâve mJemLe peerJeeW mes DevegheefmLele nesvee ÛeeefnS~    

 (b) The suspected micro-organisms must be 

isolated and grown in a pure culture/mebefoiOe 
met#cepeerJeeW keâes Deueie efkeâÙee peevee ÛeeefnS Deewj Megæ 
mebmke=âefle ceW GieeÙee peevee ÛeeefnS~     
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 (c) The same disease must result when the 

isolated micro-organism is inoculated into a 

healthy host/Skeâ ner yeerceejer keâe heefjCeece leye neslee nw 
peye he=Lekeâ met#cepeerJe keâes mJemLe cespeyeeve ceW ueieeÙee peelee 
nw~  

 (d) The same micro-organisms must be isolated 

again from the diseased host/Skeâ ner met#cepeerJeeW 
keâes jesie«emle cespeyeeve mes efheâj mes Deueie efkeâÙee peevee 
ÛeeefnS~   
UPSSSC Laboratory Assistant (26.03.2023) 

Ans. (d) Koch’s 4
th

 postulate states that the micro-

organism should be re-isolated from the inoculated, 

diseased experimental host and identified as being 

identical to the original specific causative agent.    
60.  _______theory was created by Pasteur.    
  -------efmeæeble hee§ej Éeje yeveeÙee ieÙee Lee~  

 (a) Agriculture/ke=âef<e    
 (b) Germ/jesieeCeg    
 (c) Life evolution/peerJeve efJekeâeme  
  (d) Soil Microbes/ce=oe peerJeeCeg   

UPSSSC Laboratory Assistant (26.03.2023) 

Ans.(b) Germ theory states that specific microorganism 

are the cause of specific disease. This theory published 

by Louis Pasteur these diseases are caused by the 

growth and replication of microorganisms.    
61.  Tuberculosis disease is caused by which 

organism?    
  #eÙe jesie efkeâme peerJe mes neslee nw?   
 (a) Mycobacterium tuberculosis/ceeFkeâesyewkeäšerefjÙece 

šŸetyejkegâueesefmeme  
 (b) Mycobacterium bovis/ceeFkeâesyewkeäšerefjÙece yeesefJeme     
 (c) Mycobacterium africanum/ceeFkeâesyewkeäšerefjÙece 

Deøeâerkeâevece   
 (d) All of these/Ùes meYeer   

UPSSSC Laboratory Assistant (26.03.2023) 

Ans. (a) Tuberculosis is a bacterial disease that mainly 

affects the lungs and can also affect any part of the body 

and caused by Mycobacterium tuberculosis. They are 

spread from person to person through air. Robert Koch 

announced the discovery of mycobacterium 

tuberculosis.    
62.  Common cold is caused by which micro-

organisms?  
  efkeâme met#cepeerJeeW mes ]pegKeece neslee nw?  

 (a) Bacteria/peerJeeCeg  
 (b) Fungus/keâJekeâ  
 (c) Virus/JeeÙejme 
 (d) Algae/MewJeeue 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c)  Common cold is a viral infection of upper 

respiratory tract with nose that causes inflammation of 

the membranes that line the nose and throat. Many types 

of virus can cause a cold but the most common viruses 

from the Rhinovirus family. 
63.  Bacterial chromosome is:   
  peerJeeCeg ›eâesceesemeesce keäÙee nw?   

 (a) Single stranded and circular/Skeâue mš^Q[s[ Deewj 
ieesueekeâej   

 (b) Double stranded and circular/oesnjs mš^Q[s[ Deewj 
ieesueekeâej   

 (c) Single stranded and linear/Skeâue mš^Q[s[ Deewj 
jsKeerÙe 

 (d) Double stranded and linear/oesnjs mš^Q[s[ Deewj 
jsKeerÙe 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) Bacterial chromosomes are located in a 

nucleoid in which double stranded DNA is coated with 

histone like protein. Bacteria usually have one circular 

chromosome called nucleotide it is an irregularly 

shaped of contains genetic material   
64.  Which of the following organisms causes 

AIDS?/efvecveefueefKele ceW mes keâewve mes peerJe AIDS keâe 
keâejCe nesles nQ?  

 (a) HIV  
 (b) HLV  
 (c) Staphylococcus/mšsefHeâueeskeâeskeâme 
 (d) Pneumococci/vÙetceeskeâeskeâeF& 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) HIV (Human immunodeficiency virus) cause 

AIDS (Acquired immunodeficiency syndrome) disease 

in which immune system destroyed by HIV retrovirus 

causing health decline and the onset of AIDS. The virus 

can be transmitted through contact with infected blood, 

semen or vaginal fluid. 
65.  BCG vaccine is used to cure:  
  ________ kesâ Fueepe nsleg BCG Jewefkeämeve keâe ØeÙeesie 

efkeâÙee peelee nw~ 

 (a) Pneumonia/efveceesefveÙee  
 (b) Tuberculosis/šdŸetyejkegâueesefmeme  
 (c) Polio/heesefueÙees 
 (d) Amoebiasis/DeefceefyeÙee@efmeme 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) The BCG (Bacillus Calmette-Guerin) vaccine 

is primarily administered to prevent tuberculosis (TB) 

by reducing its severity and preventing complications, 

rather than treating or curing an existing TB infection.  
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66.  Which of the following is communicable 

disease?  
  efvecveefueefKele ceW mes keâewve mee Skeâ meb›eâecekeâ jesie nw?  
 (a) Malaria/ceuesefjÙee  
 (b) Diabetes/ceOegcesn  
 (c) Hypertension/GÛÛe jòeâÛeehe 
 (d) Hyperlipidemia/neFhejefueefhe[sefceÙee 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) Malaria is a communicable disease which is 

caused by a plasmodium parasite transmitted by the bite 

of infected mosquitoes (female anopheles). 
67.  What is the made of transmission of mumps?  
  ieuemegDee efkeâme ceeOÙece mes Hewâuelee nw?  
 (a) Consumption of contaminated water/Øeotef<ele 

heeveer kesâ GheÙeesie mes  
 (b) Droplet/Úesšer yetbo mes   
 (c) food-borne/KeeÅe heoeLe& mes  
 (d) Insect bite/keâerš obMe mes  

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) Mumps is a contagious diseases caused by the 

mumps virus. It primarily spread through direct contact 

with saliva or respiratory droplets from the mouth, nose, 

or throat of an infected person.  
68.  An insect which transmits a disease is called 

a/an:  
  Jen keâerÌ[e efpememeW jesie Hewâuelee nw, Gmes keäÙee keânles nQ?  
 (a) Intermediate host/Fbšjceeref[Sš nesmš  
 (b) Parasite/hewjemeeFš  
 (c) Vector/Jeskeäšj 
 (d) Prey/Øes 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) An insect that transmits a disease from one 

organism to another is called a vector. Vectors are 

organisms that do not cause disease themselves but 

spread infection by conveying pathogens from one host 

to another. Species of mosquito, for example, serve as a 

vectors for the malaria parasite, plasmodium, by 

spreading it to humans.  
69.  Which of the following diseases spreads via 

air?  
  efvecveefueefKele ceW mes keâewve meer yeerceejer nJee mes Hewâueleer nQ?  
 (a) Swine/mJeeFve Heäuet  
 (b) Typhoid/šeÙeHeâeÙe[ 
 (c) Cholera/keâe@uesje 
 (d) Malaria/ceuesefjÙee 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) Swine flu caused by the H1N1 influenza virus, 

can spread through the air via respiratory droplets when 

as infected person coughs, sneeze or talks, making it 

highly contagious in crowded spaces.  

70.  Incubation period of Chickenpox ranges 

between:  
  ÛesÛekeâ (efÛekeâvehee@keäme) keâer T<ceeÙeve (FvkegâyesMeve) 

DeJeefOe keäÙee nQ?  

 (a) 7 – 17 days/7 – 17 efove  
 (b) 10 – 21 days/10 – 21 efove  
 (c) 14 – 28/14 – 28 efove 
 (d) Within 7 days/7 efoveeW kesâ Deboj 

Bihar SHSB Lab Technician (19.03.2016) 

Gujarat VMC Lab Technician (28.03.2021) 

Ans.(b) Chicken pox is contagious viral infection which 

causes an itchy blister like rash on the skin. The rash 

usually appears 10 to 21 days after first being exposed 

to someone who has chickenpox rash usually first 

appears on the chest back or face. 
71.  One of the main symptoms of cholera is:  
  keâe@uesje jesie kesâ ØecegKe ue#eCeeW ceW mes Skeâ ________ nw~ 

 (a) High blood sugar/GÛÛe jòeâ Meke&âje  
 (b) Hypertension/GÛÛe jòeâÛeehe  
 (c) Diarrhoea/omle 
 (d) Migraine/ceeF«esve 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) Cholera is a bacterial disease usually spread 

through contaminated water. It causes severs diarrhoea 

and dehydration. Oral or intravenous hydration is the 

primary treatment or cholera. 
72.  Chikungunya fever is transmitted by:  
  efÛekeâveiegvÙee yeerceejer _______ mes Hewâueleer nw~ 

 (a) Culicine mosquite/kegâefueefmeve ceÛÚj  
 (b) Culex mosquito/keäÙetueskeäme ceÛÚj  
 (c) Aedes mosquito /Ssef[me ceÛÚj 
 (d) Mansonia masquito /cevmeesefveÙee ceÛÚj 

Bihar SHSB Lab Technician (19.03.2016) 

Gujarat VMC Lab Technician (28.03.2021) 

Ans.(c) Chikungunya is a viral infection that 

transmitted by Aedes mosquito and the most common 

symptoms are fever and joint pain the virus may 

circulate within a number of animals including birds 

and rodents.   
73.  Malaria is caused by which microbe?   
  efkeâme keâeršeCeg mes ceuesefjÙee neslee nw?  

 (a) Protozoan/Øeesšes]peesDeeve  (b) Fungi/keâJekeâ  
 (c) Virus/efJe<eeCeg (d) Bacteria/peerJeeCeg 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) Malaria is a protozoan disease which is 

transmitted by infected female anopheles. Blood 

transfusion and contained needles may also transmit 

malaria it's treated with antimalarial medicines.    
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74.  Amoebiasis can occur:  
  DeefceefyeÙee@efmeme efkeâmeces nes mekeâlee nw?  
 (a) In children/yeÛÛeeW ceW   
 (b) At any age/efkeâmeer Yeer DeeÙeg ceW   
 (c) In adults/JeÙemkeâeW ceW  
 (d) In infants/otOe heerles yeÛÛeW ceW  

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) Amoebiasis is an intestinal disease. It is most 

common in tropical areas with untreated water. 

Amoebic dysentery is a severe form of Amoebiasis 

Associated with stomach pain. It mostly affects young 

adult and is rare below age group of 5 years.  
75.  Which of the following is eradicated in India?  
  efvecveefueefKele ceW mes efkeâme jesie keâes Yeejle ceW hetCe& ™he mes 

efcešeÙee pee Ûegkeâe nw?  
 (a) Small pox/ Meerleuee (mcee@ue hee@keäme)  
 (b) Cholera/ keâe@uesje   
 (c) Chicken pox/ ÛesÛekeâ (efÛekeâve hee@keäme) 
 (d) Diphtheria/ef[hLeerefjÙee  

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) Small pox was declared eradicated globally by 

the world health organization (WHO) in 1980, 

following an intensive global vaccination campaign. 

India was a significant part of this success, having 

eliminated small pox within its borders prior to the 

global declaration.    
76.  DOTS Programme is associated with:   
  DOTS keâeÙe&›eâce_______mes mebyeefOele nw~  
 (a) Diphtheria/ef[hLeerefjÙee  
 (b) Typhoid/šeFHeâeF[  
 (c) Tuberculosis/ šdŸetJejkegâueesefmeme 
 (d) Malaria/ceuesefjÙee 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) DOTS (Directly observed therapy) is also 

known as TB-DOTS. Dots is a strategy used to guide 

the treatment of pulmonary tuberculosis, DOTS helps 

patients to achieve successful TB treatment outcomes 

by shortening treatment duration and improving its 

quality.   
77.  Another name for whooping cough is:   
  keâeueer Keebmeer keâe otmeje veece keäÙee nw?  
 (a) Poliomylities/heesefueÙeesceF&efueefšme  
 (b) Japanese encephalities/peeheeveer SefvmeHesâefueefšme  
 (c) Yellow fever/heeruee pJej 
 (d) Pertussis/heš&gefmeme 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(d) Whooping cough (Pertussis) is a highly 

contagious respiratory tract infection that is easily 

preventable by vaccine. If causes long stretches of 

severe cough that some time end with a whooping 

sound. It is a bacterial infection. 

78.  Wilson’s disease occurs due to the 

accumulation of _________ in the tissues.   
  efšMÙet ceW _______kesâ mebÛeÙeve mes efJeumeve jesie neslee nw~  
 (a) Zinc/efpebkeâ  (b) Copper/keâe@hej  
 (c) Magnesium/cewiveerefMeÙece (d) Calcium/kewâefuMeÙece 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) Wilson's disease is characterized by the 

accumulation of copper in the tissues. It is a rare genetic 

disorder that prevents the body from eliminating excess 

copper, leading to its buildup, particularly in the liver, 

brain and eyes.  
79.  Spermatogenic cells are located in which part 

of the testis?/Je=<eCe kesâ efkeâme Yeeie ceW Meg›eâpeveveerÙe 
keâesefMekeâeSB efmLele nw? 

 (a) Rete testis/Je=<eCe peeefuekeâe  
 (b) Seminiferous tubules/Meg›eâpevekeâ veefuekeâe 
 (c) Tunica albuginea /MJesle kebâÛegkeâ (šdŸegefvekeâe SuyegpeerefveÙee) 
 (d) Interstitium/Deblejeueer 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (b) Spermatogenesis is the process by which 

sperm cell production occurs: the germ cells give rise to 

the haploid spermatozoa. Sperm production takes place 

inside the seminiferous tubules. which is convoluted 

cluster of tubes located inside the testes. 
80.  Method of stimulating adaptive immune 

response and memory against known infectious 

agent is called  
  %eele meb›eâecekeâ Jeenkeâ kesâ efJe®æ S[e@efhšJe FcÙetve 

efjmhee@vme Deewj mcejCe Meefòeâ keâes Göerhle keâjves keâer efJeefOe 
keâes keânles nQ~ 

 (a) Grafting/jesheCe  
 (b) Natural Resistance/Øeeke=âeflekeâ ØeeflejesOe 
 (c) Vaccination/šerkeâekeâjCe 
 (d) Susceptibility/ÛegbyekeâerÙe ØeJe=efòe 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (c) Vaccines help immune system fight infections 

faster and more effectively and becomes protected 

against a disease through vaccination which provide 

Adaptive immunity. Adaptive immunity is initiated 

when an innate immune response fail to eliminate a new 

infection.  
81.  Which herpes virus causes oral infection or 

keratitis?  
  keâewve mee heefjmehe& (nefhe&]pe) efJe<eeCeg cegKe meb›eâceCe Ùee 

kesâješeFšerme keâe keâejCe yevelee nw? 
 (a) Herpes simplex virus/nefhe&pe efmechueskeäme efJe<eeCeg  
 (b) Epstein-Barr virus/Sshemšerve yeej efJe<eeCeg 
 (c) Varicella Zoster virus/Jewjermesuee peesmšj efJe<eeCeg 
 (d) All of the above/Ghejesòeâ meYeer 

HPSSC Laboratory Technician (26-06-2017) 
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Ans. (a) Herpes simplex virus spread through skin 

contact or sexual transmission most people with oral 

herpes were infected during childhood or as young adult 

from non-sexual contact with infected saliva. 
82.  The larva of Taenia solium causes which of 

disease?  
  šerefveÙeemeesefueÙece keâe ef[cYe efkeâme jesie keâe keâejCe yevelee 

nw? 

 (a) Coenocerosis/meerveesmesjesefmeme  
 (b) Fatal infection/peerJeuesCe meb›eâceCe 
 (c) Cysticercosis/hegefšhegÛÚòeâe 
 (d) Cancer/keQâmej 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (c) Cysticercosis is a parasitic tissue infection 

caused by larval cysts of the tapeworm. Taenia solium 

that affects the brain, muscles and other tissue.  

Cysticercosis is usually acquired by eating food, water 

contaminated by tapeworm's eggs.   
83.  Whooping cough is caused by which species of 

Bordetella?  
  efkeâme peeefle kesâ yees[&šsuee keâeueer KeeBmeer keâer Jepen nw? 

 (a) B.Pertussis/yeer. Hešd&Ÿetefmeme  
 (b) B. Parapertussis/yeer. hewjeHešd&Ÿetefmeme  
 (c) B. Bronchisepta/yeer.yeÇesvkeâermeshše 
 (d) All option/Ùes meYeer 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (a) Whooping cough is a highly contagious 

respiratory tract infection which is also known as 

Pertussis is caused by a bacteria Bordetella pertussis. 
84.  Downs Syndrome is related to  

  [eGve efmeb[^esce mebyebefOele nw: 

 (a) Nullisomy/veefuemeesceer 
 (b) Monosomy/ceesveesmeesceer 
 (c) Trisomy/š^eFmeesceer 
 (d) Tetrasomy/šsš^emeesceer 

Kerala PSC Jr. Laboratory Asst. (07.07.2018) 

Ans. (c) Down syndrome is a example of trisomy is a 

genetic disorder caused by the presence of all or part of 

a third copy of chromosome 21 due to unequal cell 

division.  
85.  Diabetes insipidus is caused due to  

  [eÙeefyešerpe Fefvmeefhe[me efkeâmekesâ keâejCe neslee nw? 

 (a) Deficiency of insulin/Fbmegefueve keâer keâceer  
 (b) Excess of insulin/Fbmegefueve keâer DeefOekeâlee  
 (c) Hyposecretion of ADH / ADH keâe neFheesœeeJe 
 (d) Hypersecretion of ADH / ADH keâe DelÙeefOekeâ 

œeeJe 
Kerala PSC Jr. Laboratory Asst. (07.07.2018) 

Ans. (c) Diabetes insipidus is caused by problems with 

a vassopressin hormone which is also known as 

antidiuretic hormone (ADH). Which are not properly 

retain water from urine and kidneys do not work 

properly to keep enough water in the body.  
86.  Ideal time for collecting blood sample for 

detection of filarial worm is  

  heâeFuesefjÙee ke=âefce keâe helee ueieeves kesâ efueS jòeâ keâe 
vecetvee Skeâ$e keâjveskeâe DeeoMe& meceÙe nw? 

 (a) 2 pm – 4  pm (b) 10 pm – 2 am 
  (c) 6 am – 8 am (d) 10 am – 2 pm 

Kerala PSC Jr. Laboratory Asst. (07.07.2018) 

Ans. (b) The filarial are thread like parasitic nematodes 

that transmitted by arthropod vectors. The microfilaria 

that cause lymphatic filariasis circulated into blood at 

night and the blood should be collected between 10 pm 

and 2 am. 
87.  Characters of acquired immunity are  
  Deefpe&le Øeeflej#ee kesâ ue#eCe nQ 

 (a) Specificity/efJeefMe°lee  
 (b) Retains memory/mce=efle ØeefleOeejCe  
 (c) Differentiate between self and non-self/mJe Deewj 

iewj-mJe ceW Devlej 
 (d) All of these/Ùen meYeer 

HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (d) Acquired immunity is characterized by 

specificity to pathogens, retention of memory for faster 

response upon re-exposure and the ability to distinguish 

between self and non-self cells. 

Hence, all features apply. 
88.  An antibiotic is  
  Skeâ SsefvšyeeÙeesefškeâ nw 
 (a) Chloramphenicol/keäueesjwchesâefvekeâe@ue  
 (b) Ethephon/FLesheâe@ve  
 (c) Phosphon-D/heâe@mheâesve-D 
 (d) None of these/FveceW mes keâesF& veneR 

HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (a) Chloramphenicol an antibiotic is a substance 

used to kill or inhibit the growth of bacteria. It is also 

been used for the treatment of typhoid and cholera. 

Chloramphenicol is an antibiotic that inhibits protein 

synthesis.  
89.  Trench fever is caused by :  

  š^WÛe yegKeej efkeâmekesâ keâejCe neslee nw? 

 (a) Bartonella quintana/yeešesvesuee efkeäJebšvee  
 (b) Coxiella burnetii/keâe@efkeämeSuee yevexšer  
 (c) Orientia  tsutsugamushi/DeesefjSbefšÙee lmeglmegieecegMeer 
 (d) Rickettsia prowazekii/efjkesâšdefmeÙee ØeesJee]peskeâer 

Kerala PSC Laboratory Technician Gr. II (09.05.2014) 
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Ans. (a) Trench fever is a louse-borne disease caused 

by the gram-negative bacteria Bartonella quintana. 

Trench fever is a moderately serious disease transmitted 

by body lice. Trench fever observed originally in 

military populations during world war I and II.   

90.  Which among the following diseases is not 

transmitted through blood transfusion? 

  efvecveefueefKele ceW mes keâewve-mee jesie jòeâ DeeOeeve kesâ 
ceeOÙece mes mebÛeefjle veneR neslee nw?  

 (a) HIV/SÛe.DeeF&.Jeer.  
 (b) Hepatitis B/nshesšeÙeefšme yeer 
 (c) Filariasis/heâeFuesefjÙeeefmeme 
 (d) Hepatitis C /nshesšeÙeefšme meer 

Kerala PSC Laboratory Technician Gr. II (09.05.2014) 

Ans. (c) Filariasis is a disease that is not transmitted 

through blood transfusion. It is a vector born disease, 

meaning it is transmitted through insects such as 

mosquitoes.   

91.  Which among these is known as bad 

cholesterol? 

  FveceW mes efkeâmes Kejeye keâesuesmš^e@ue kesâ ™he ceW peevee peelee 
nw?  

 (a) HDL/SÛe [er Sue  (b) LDL/Sue[erSue 
 (c) IDL/DeeF&[erSue (d) VLDL/JeerSue[erSue 

Kerala PSC Laboratory Technician Gr. II (09.05.2014) 

Ans. (b) Low-density lipoprotein (LDL) cholesterol 

called as bad cholesterol that make up most of body's 

cholesterol  

• Cholesterol is a waxy fat like substances that found in 

the cells in our body which is make by liver. High 

amount of cholesterol in blood raises a risk of coronary 

artery disease. 

92.  Sertoli cells are related to :  
  mešexueer keâesefMekeâeSB mecyeefvOele nw : 

 (a) Nutrition of spermatozoa/Meg›eâeCegDeeW kesâ hees<eCe mes  
 (b) Excretion/Glmepe&ve mes  
 (c) Respiration/Õemeve mes 
 (d) None of the above/GheÙeg&òeâ ceW mes keâesF& veneR 

UKSSSC Lab Assistant (19.05.2019) 

Ans. (a) Sertoli cells are a type of somatic cell around 

which spermatids develop in the tubules of the testis, 

sertoli cell has also been called the mother or nurse cell 

which nourish developing sperm cells through the 

stages of spermatogenesis. 
93.  Endemic species are?  
  mLeeefvekeâ ØepeeefleÙeeb keâewve-meer nesleer nQ? 

 (a) Rare species/efJejue ØepeeefleÙeeb  
 (b) Species localized in a specific region/efkeâmeer 

efJeefMe° #es$e ceW mLeeveerÙeke=âle ØepeeefleÙeeb  

 (c) Cosmopolitan in distribution/efJelejCe ceW 
meeJe&Yeewefcekeâ 

 (d) Critically endangered species/yengle DeefOekeâ Kelejs 
ceW Deeves Jeeueer ØepeeefleÙeeb 

MP VYAPAM Lab Technician (18.10.2015, Shift-III) 

Ans. (b) Endemic species are plant and animal species 

that are found in a particular region. They are not 

naturally found any where else some species are 

endemic to a continent while others can be endemic to 

an island and mountain range etc. 
94.  General ratio of diluents to sperm is :  
  cebokeâ mes Meg›eâeCeg keâe meeceevÙe Devegheele nw~ 
 (a) 1 : 1 to 4 (diluents : milt)/1 : 1 mes 4 (cebokeâ : 

efceuš)  
 (b) 1 : 1 to 6 (diluents : milt)/1 : 1 mes 6 (cebokeâ : 

efceuš) 
 (c) 1 : 1 to 10 (diluents : milt)/1 : 1 mes 10 (cebokeâ 

: efceuš) 
 (d) 1 : 1 to 12 (diluents : milt)/1 : 1 mes 12 (cebokeâ 

: efceuš) 
MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (c)  The correct ratio of 1 : 1 to 10 (diluents : milt) 

means that for every unit volume of milt, up to 10 units 

of diluents can be added. This range is designed to 

maintain sperm viability and motility while optimizing 

the conditions for fertilization.  
95.  Which of the following is not a viral disease? 
  efvecveefueefKele ceW mes keäÙee Skeâ JeeÙejue yeerceejer veneR nw? 
 (a) WSSV/[yuÙet Sme Sme Jeer 
 (b) EUS/F& Ùet Sme 
 (c) IPNV/DeeF& heer Sve Jeer 
 (d) TSV/šer Sme Jeer 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) Epizootic ulcerative syndrome (EUS) also 

known as mycotic granulomatosis (MG) or red spot 

disease (RSD). It is a fungal disease caused by an 

oomycetes member called Aphanomyces invadans.  
96.  All forms of asexual reproduction shows 

certain common features that include :  
  DeueQefiekeâ Øepeveve kesâ meYeer ™he kegâÚ meeceevÙe 

efJeMes<eleeDeeW keâes oMee&les nQ, efpeveceW Meeefceue nQ : 
 (a) Mitotic cell division/ceeFšesefškeâ keâesefMekeâe efJeYeepeve  
 (b) Offspring identical to parents 

  ceelee-efhelee kesâ meceeve mebleeve  
 (c) Either one of the above/GheÙeg&keäle ceW mes keâesF& Skeâ 
 (d) Both the above/GheÙeg&keäle oesveeW 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (d) Asexual reproduction is a mode of 

reproduction in which a new offspring is produced by a 

single parents. i.e. They are the clones of their parents. 
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A mitosis is a form of asexual reproduction as the result 

of the cell cycle is two identical cells. 
97.  Method of transmission of infection includes   
  meb›eâceCe kesâ mebÛejCe keâer efJeefOe ceW Meeefceue nQ 

 (a) Inoculation /mebjesheCe  
 (b) Inhalation/DebleÕemeve  
 (c) Contact/mebheke&â 
 (d) All of the above/Gòeâ meYeer 

Haryana SSC Lab Technician (24.07.2021) 

Ans. (c) Mode of transmission refers to how an 

infection agent can be transferred from one person to 

another as well as skin contact, sexual intercourse etc. 
98.  The spermatids are transformed into sperms 

by the process called :  
  Meeg›eâeCegØemet ™heebleefjle neskeâj mhece& yeveeles nQ, Fme 

Øeef›eâÙee keâes keânles nQ : 

 (a) Spermiation/mheefce&SMeve  
 (b) Spermiogenesis/mheefce&Deespesvesefmeme  
 (c) Spermatogenesis/mhecexšespesvesefmeme 
 (d) Spermatogonia/mhecexšesieesefveÙee 

RSMSSB Lab Assistant (29.06.2022) 

Ans. (b) Spermatogenesis is the process by which 

haploid round spermatids developed from germ cells in 

the seminiferous tubules of the testicle spermatid cell 

change into spermatozoa by the process of 

spermiogenesis.   
99.  Disease in which balance of sodium and 

potassium is disturbed and is caused by excess 

of aldosterone :  
  jesie efpemeceW meesef[Ùece Je heesšsefMeÙece keâe meblegueve efyeieÌ[ 

peelee nw leLee Ùen Su[esmšsje@ve keâer DeefOekeâlecee mes Glhevve 
neslee nw : 

 (a) Cushing's disease/kegâefMebie jesie  
 (b) Addison's disease/Ss[ermeve keâe jesie  
 (c) Conn's disease/keâe@vme jesie 
 (d) Hirsutism/efnmeg&efšpce 

RSMSSB Lab Assistant (29.06.2022) 

Ans. (c) Conn's disease, also known as primary 

hyperaldosteronism, leads to an overproduction of 

aldosterone causing an imbalance in sodium and 

potassium levels.   
100.  Malaria is caused by which micro-organism?  
  ceuesefjÙee efkeâme met#cepeerJe kesâ keâejCe neslee nw? 

 (a) Plasmodium vivax/hueepceesef[Ùece JeeFJeskeäme  
 (b) Plasmodium Malariae/hueepceesef[Ùece ceuesefjÙeeF&  
 (c) Plasmodium Falciparum/hueepceesef[Ùece Hesâefumehesjce 
 (d) All of these/Ghejesòeâ meYeer 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (d) Malaria is an infection caused by a 

plasmodium parasite which is protozoa and transmitted 

by bite of infected mosquitoes. (Anopheles mosquitoes) 

Only four species of the protozoan genus plasmodium 

usually infect human P.falciparum, P.Vivax, P. 

Malariae and P. Ovale 

101.  AIDS is caused by which type of micro-

organism?  
  S[dme efkeâme Øekeâej kesâ met#cepeerJe kesâ keâejCe neslee nw? 
 (a) Virus/JeeÙejme  
 (b) Bacteria/yewkeäšerefjÙee  
 (c) Fungus/Hebâieme 
 (d) None of these/FveceW mes keâesF& veneR 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (a) AIDS (Acquired immune deficiency 

syndrome) is a viral disease that is caused by HIV Virus 

in which immune system is damage so that body is less 

able to fight infection and disease. 
102.  What is the formation of sperm in a male 

called?  
  heg™<e ceW Meg›eâeCeg yeveves keâer ef›eâÙee keâes keäÙee keânles nQ? 
 (a) Gametogenesis/iewcesšespesvesefmeme  
 (b) Oogenesis/Tpesvesefmeme  
 (c) Spermatocyte/mhecexšesmeeFš 
 (d) Spermatogenesis/mhecexšespesvesefmeme 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (d) Spermatogenesis is a process by which haploid 

spermatozoa developed from germ cells. Sperm 

production takes place inside the seminiferous tubules 

which is a convoluted cluster of tubes located inside the 

testes, Spermatogenesis begins at puberty when 

testosterone levels rise.  
103.  RNA like particles that cause disease are  
  jesie keâeefjle keâjves Jeeues RNA pewmes keâCe nw 
 (a) Virus/JeeÙejme  
 (b) Viroid/JeeÙeje@F[  
 (c) Prion/efØeDee@ve  
 (d) Mycoplasma/ceeFkeâeshueepcee 

HPSSC Laboratory Assistant (10.07.2021) 

Ans. (b) Viroids are small single stranded circular 

RNAs that infectious pathogen, they have no protein 

covering that causes several important diseases of 

cultivated plants. Viroids are the smallest known agents 

of infectious disease.   
104.  _____isoenzyme is elevated during myocardian 

infarction.  
  efoue kesâ oewje kesâ meceÙe_______DeeFmeesSbpeeFce yeÌ{e 

ngDee neslee nw~ 
 (a) Amylase/SceeFuespe  (b) G6-PD/ G6-PD  
 (c) LDH/ LDH (d) CK - MB/ CK - MB 

Gujarat AMC Lab Technicain (08.05.2022) 
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Ans.(d) During a myocardial infarction (MI), or heart 

attack, certain enzymes and isoenzymes are released 

into the bloodstream as a result of damage to the heart 

muscle. The key isoenzyme associated with myocardial 

infarction is CK - MB, which stands for creatine kinase- 

MB. 
105.  Which of the following is not an example of 

autosomal dominant trait?  
  efvecveefueefKele ceW mes keâewve-mee Skeâ Dee@šesmeesceue Øeyeue 

ue#eCe keâe GoenjCe veneR nw? 

 (a) Cystic fibrosis/efmeefmškeâ heâeFyeÇesefmeme  
 (b) Brachydactyly/yeÇskeâer[skeäšeFueer  
 (c) Huntington's disease/nbefšbiešve jesie 
 (d) Marfan syndrome/ceejheâve efmeb[^esce 

Gujarat AMC Lab Technicain (08.05.2022) 

Ans. (a) Cystic fibrosis is an herited disease 

characterized by the build up of thick sticky mucus that 

can damage many of body's organs that passed down 

through families. 
106.  Kala azar is caused by the following 

parasite____.  
  keâeuee peej keâe keâejCe efvecveefueefKele ceW 

mes_________hejpeerJeer kesâ keâejCe nw~ 

 (a) Entamoeba histolytica/Sbš-Deceeryee efnmšesefuekeâe 
 (b) Trypanosoma brucei/š^eFhewveesmeescee yeÇeskeâeF&  
 (c) Leishmania donovani/uesmeceeefveÙee [esveesJeeveer 
 (d) Plasmodium vivax/hueepceesef[Ùece JeeFJewkeäme 

Gujarat AMC Lab Technicain (08.05.2022) 

Ans. (c) Leishmania is a parasitic protozoa which 

responisble for the disease leishmaniasis that spread by 

sand fly of the genus phlebotomus in the old world. 

Leishmania parasites are found in tropical end sub-

tropical areas of the world. 
107.  Cortisone is used as an Effective anti-

inflamatory drug in the treatment of .......  
  keâesšeameesve keâes ............ kesâ GheÛeej ceW metpeve jesOeer 

Deew<eefOe kesâ ™he ceW ØeÙeesie efkeâÙee peelee nw~  

 (a) High blood pressure/GÛÛe jòeâ Ûeehe  
 (b) Atherosclerosis/SLesjesmuesjesefmeme  
 (c) Arthritis/DeLe&jeFefšme 
 (d) Diabetes/ceOegcesn 

RRB Lab Technician (10.06.2015) 

Ans. (c) Arthritis is a joint disorder in which the 

inflammation of one or more joints leading to pain. The 

cortisone inhibits the inflammatory effect of circulating 

monocytes and eosinophils thus contributing to relief of 

acute symptoms. 
108.  A disease caused by allergic disease is called:  
  Suepeea jesie kesâ keâejCe nesves Jeeues jesie keâes keânles nw: 

 (a) Asthma/DemLecee  
 (b) Tuberculosis/#eÙe  
 (c) Cancer/keQâmej 
 (d) Gastroenteritis/iewmš^esSbšwjeFefšme 

RRB Lab Technician (10.06.2015) 

Ans. (a) A disease caused by allergic disease is called 

Asthma. It triggered by allergens like pollen, dust or pet 

dander etc. Asthma (Bronchial asthma) is a lung disease 

in which airways get narrow and swollen and blocked 

by excess mucus it is a chronic respiratory illness makes 

it harder to breath. 
109.  Inability to sleep is termed as :  
  meesves keâer De#ecelee keâes keâne peelee nw~ 
 (a) Dyspepsia/DeheÛe/DepeerCe&/yeonpeceer 
  (b) Dyspnaea/[eefmheefveÙee  
 (c) Anorexia/SveesefjkeämeÙee 
 (d) Insomnia/FbmeesefcveÙee 

RRB Lab Technician (10.06.2015) 

Ans. (d) Insomnia is a common sleep disorder that can 

make it hard to fall asleep or stay a sleep depression 

anxiety lack of exercise chronic illness or certain 

medication.   
110.  An agent that has power to kill micro-

organism:  
  Skeâ SpeWš efpemeceW met#ce peerJe keâes ceejves keâer Meefòeâ nesleer 

nw: 
 (a) Bacteriostat/yewkeäšerefjÙeesmšsš  
 (b) Bacteriocide/yewkeäšerefjÙeesmeeF[  
 (c) Antiseptic/Sbšermesefhškeâ 
 (d) Bacteriostasis/yewkeäšerefjÙeesmšssefmeme 

RRB Lab Technician (10.06.2015) 

Ans. (b) Bacteriocides are substances that may be used 

for the cleaning of consumer products. 

• Bacteriocide is a substances which kills bacteria 

which nature are antiseptics or antibiotics and used to 

control sulfate-reducing bacteria slime forming bacteria 

iron oxidizing bacteria bacteriostatic antibiotics 

suppress the growth of bacteria  

• Any substances that inhibits the growth of infections 

microorganisms called antiseptic. 

111.  Strength of savlon for cleaning of wounds.  
  IeeJeeW keâes meeHeâ keâjves kesâ efueS mesJeuee@ve keâer meeceLÙe& 

nesleer nw: 
 (a) 1 : 10  (b) 1 : 100  
 (c) 1 : 1000 (d) 1 : 10000 

RRB Lab Technician (10.06.2015) 

Ans. (a) Savlon is a antiseptic (liquid) which is use to 

wound wash for first aid treatment it provide protection 

against infection by cleaning or killing bacteria in cuts 

dilute 1 part savlon antiseptic liquid in 15 parts of H2O 

before applying over cuts and scrapes. 
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112.  Information given by the sufferer about his 

illness.  
  heerefÌ[le Éeje Gmekeâer yeerceejer kesâ yeejs ceW oer peeves Jeeueer 

peevekeâejer nesleer nw: 
 (a) Sign/mebkesâle   (b) Symptom/ue#eCe  
 (c) Observation/DeJeueeskeâve (d) Diagnosis/efveoeve 

RRB Lab Technician (10.06.2015) 

Ans. (b) Symptom is that a person feel or experiences 

that may indicate that they have a disease they can not 

be observed by a health care provider sign are 

externally observable while diagnosis is a process of 

determining the nature of a disease or disorder.               
113.  .......... is the permanent method of sterilization.  
  yebOÙeekeâjCe keâer mLeeÙeer efJeefOe .......... nw~  
 (a) MTP /meieYe&lee keâe efÛeefkeâlmeerÙe meceeheve  
 (b) Diaphragm /[eÙeøeâece  
 (c) Tubectomy/ceefnuee vemeyeboer  
 (d) D & C/ D Deewj C 

RRB Lab Technician (10.06.2015) 

Ans. (c) Tubectomy is a permanent method of women 

sterilization in which blocks the fallopian tubes by 

surgical method to preventing the egg released by ovary 

for reaching the uterus.  
114.  The following are the signs of dehydration 

except:  
  efvecveefueefKele ceW mes ÚesÌ[keâj efvepe&ueerkeâjCe keâe mebkesâle nw: 

 (a) Sunken tearless eyes/Oebmeer ngF& Deßegnerve Dee@Kes   
 (b) Loss of skin elasticity/lJeÛee ueÛeerueeheve keâce nesvee  
 (c) Diuresis/Deefle hesMeeye nesvee  
 (d) Depressed fintenelle/ef[Øesm[ efHeâvešsvesue 

RRB Lab Technician (10.06.2015) 

Ans. (c) Diuresis refers to excessive urination, which is 

not a sign of dehydration but rather may indicate other 

conditions such as diabetes or excessive fluid intake.   
115.  Radio active cobalt and radium are used for 

the treatment of -diseases.  
  jsef[ÙeeW meef›eâÙe keâesyeeuš leLee jsef[Ùece ........... jesie kesâ 

Fueepe kesâ efueS GheÙeesie efkeâÙee peelee nw~ 
 (a) Cholera/keâe@uesje (nwpee) 
 (b) Haemophilia/nerceesHeâerefueÙee  
 (c) Cancer/keâke&âjesie (keQâmej) 
 (d) Sickle cell anaemia/oeye keâesefMekeâe heeb[gjesie 

RRB Lab Technician (10.06.2015) 

Ans. (c) Cobalt therapy is the medical use of gamma 

rays from the radioisotope cobalt-60 to treat conditions 

such as cancer which emits gamma radiation with the 

help of this radiation that cancer cells are destroyed. 

Radium 223 dichloride act on bone metastases killing 

the tumor cells and reducing the pain that can course.  

116.  The disease that spread through sexual contact 

is .......   
  Jen jesie pees Ùeewve mecyevOe mes Hewâuelee nw ......... 
 (a) Leprosy/kegâ…  (b) AIDS/S[dme  
 (c) Itches/Kegpeueer (d) Scabies/Keepe 

RRB Lab Technician (10.06.2015) 

Ans. (b) HIV (Human immunodeficiency virus) is a 
virus that attacks cells that help the body fight infection 
it spread by body fluid of a person with HIV sex etc. 
HIV can lead to the disease AIDS (acquired 

immunodeficiency syndrome). 
117.  .......... is example for the disease caused by 

bacteria:/peerJeeCeg kesâ keâejCe nesves Jeeues jesie keâe 
GoenjCe ........... nw:  

 (a) Cold/Meerle  
 (b) Typhoid/še@ÙeHeâeF[  
 (c) Typhus fever/šeÙeheâme pJej 
 (d) Chicken pox/ÛesÛekeâ 

RRB Lab Technician (10.06.2015) 

Ans. (b) Typhoid is a bacterial infection that spread 
through contaminated food and water  

• Typhoid fever is a life threatening infection caused by 
the bacterium Salmonella typhi they multiply and 
spread into the blood stream.  
118.  .......... is caused by the fungus.  
  keâJekeâ kesâ keâejCe ......... neslee nw~ 
 (a) Malaria/ceuesefjÙee   
 (b) Athletes foot/SLeueeršdme Hetâš  
 (c) Filariasis/HeâeFuesefjÙeeefmeme 
 (d) Typhus fever/šeFheâme pJej 

RRB Lab Technician (10.06.2015) 

Ans. (b) Atheletes foot is caused by fungi that normally 
live on skin hair called dermatophytes. It commonly 
occurs in people whose feet have become very sweaty 
while confined within tight fitting shoes cured by Tinea 
pedis. 
119.  Hormone secreted by the testes :  
  Je=<eCe mes neceexve œeeefJele neslee nw:  
 (a) Oestrogen/Smš^espeve  (b) Pitocin/efhešesefmeve  
 (c) Androgens/Sv[^espeve  (d) Progestrone/Øeespesmš^e@ve 

RRB Lab Technician (10.06.2015) 

Ans. (c) Androgen is a steroid hormone that regulate the 

male characteristics in vertebrates by binding to 

androgen receptors. The predominant and most active 

androgen is testosterone which is produced by the male 

testes.  
120.  The time interval between infection of 

suspected person and the appearance of signs 

and symptom of the disease is called    
  mebefoiOe JÙeefòeâ Jesâ meb›eâceCe Deewj jesie kesâ mebkesâleeW Deewj 

ue#eCeeW kesâ Øekeâš nessves kesâ yeerÛe kesâ meceÙe Deblejeue keâes 
keâne peelee nw~  
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 (a) Quarentine/mebiejesOe  
 (b) Recovery period/Jemetueer DeJeefOe  
 (c) Incubation/T<ceeÙeve 
 (d) Isolation period/DeueieeJe DeJeefOe 

RRB Lab Technician (10.06.2015) 

Ans. (c) Incubation period is the time from exposure to 
an infections agent to when you actually develop 

symptoms. 

It is variable depending upon the pathogen and the 

immunity of the host. 
121.  Route of transmission of Hepatitis B :  
  nshesšeFefšme yeer kesâ mebÛejCe keâe ceeie& 
 (a) Oral /Deesjue  
 (b) Potential /heesšWefMeÙeue  
 (c) Faeco oral/HeFkeâes Deesjue  
 (d) Contaminated water/otef<ele heeveer 

RRB Lab Technician (10.06.2015) 

Ans. (b) Hepatitis B is transmitted through blood and 
bodily fluids, including unprotected sex, sharing needles 
and from mother to child during birth. It is not spread 

via oral or contaminated water routes.   
122.  Mode of transmission of typhoid fever:  
  šeFHeâeF[ yegKeej kesâ mebÛejCe keâe lejerkeâe 
 (a) Intravenous/Deble:efMeje  (b) Faecal/Heâerkeâue  
 (c) Respiratory/Õemeve (d) Droplet/ÚesšeryeBto 

RRB Lab Technician (10.06.2015) 

Ans. (b) The mode of transmission of typhoid fever 
primarily through contaminated food and water, which 
is a faecal-oral route. This means that the bacteria 
causing typhoid fever, Salmonella typhi are typically 
passed in the faeces and some times in the urine of 

infected people. 
123.  Causative organism of diphtheria  
  ef[hLeerefjÙee keâe keâejCe peerJe : 
 (a) Mycobacteria/ceeFkeâesyewkeäšerefjÙee  
 (b) Streptococcus/mš^shšeskeâeskeâme   
 (c) Coryne Bacterium diphtheria 

  keâesefjve yewkeäšerefjÙee ef[hLeerefjÙee 
 (d) Staphylococcus/mšwefHeâueeskeâeskeâme 

RRB Lab Technician (10.06.2015) 

Ans. (c) Diphtheria is a bacterial infection caused by 
Corynebacterium diphtheria it infects the respiratory 
system causes weakness sore throat mild fever and 

swollen grand's in neck. 
124.  Incubation period of measles :   
  Kemejs keâe T<ceeÙeve DeJeefOe nesleer nw~ 
 (a) 1-7 days/1-7 efove  
 (b) 7-14 days/7-14 efove  
 (c) 14-21 days/14-21 efove 
 (d) 21-28 days/21-28 efove 

RRB Lab Technician (10.06.2015) 

Ans. (b) Measles is a viral infection that spreads 

through the air by respiratory droplets produced from 

coughing or sneezing by the infected person. Symptoms 

usually develop 10-12 days after exposure to an infected 

person and last 7-10 days.                
125.  Site for Mantaux Test  
  cewveše@keäme hejer#eCe keâe mLeeve nw: 
 (a) Outer and upper quadrant of gluteus maximus  

  iuetefšÙeme cewefkeämeceme keâe yeenjer leLee Thejer ÛeewLeeF& Yeeie  
 (b) Deltoid Left region  

  [suše@Ùe[ yee@Ùee #es$e  
 (c) Posterior left forearm 

  efheÚuee yee@Ùeer yee@n 
 (d) Anterior left forearm 

  De«e yee@Ùeer yee@n 
RRB Lab Technician (10.06.2015) 

Ans. (d) Anterior left forearm is the site for the 

mantoux test which is used to screen for tuberculosis. 

The test involves an intradermal injection on the flexor 

surface of the left forearm, mid-way between the elbow 

and wrist.  
126.  Media of transmission of bovine type of 

tubercle bacilli:  
  šddÙegyeke&âue yewefmeuueer keâe ieespeeleerÙe Øekeâej keâe mebÛejCe 

ceeOÙece neslee nw: 
 (a) Milk/ogiOe        (b) Water/peue   
 (c) Air/JeeÙeg (d) Food/Yeespeve  

RRB Lab Technician (10.06.2015) 

Ans. (a) The primary media of transmission for bovine 

type of tubercle bacilli, which is Mycobacterium bovis, 

is trough milk. It is casually transmitted to humans by 

consuming raw milk from infected cows.     
127.  Painful Micturition :  
  heerÌ[eÙegòeâ hesMeeye keâe nesvee (Micturition) neslee nw: 
 (a) Eneuresis/MeÙÙee cet$eCe  
 (b) Dysuria/hesMeeye ceW peueve  
 (c) Retention of urine/hesMeeye keâe DeJejesOe  
 (d) Diarrhoea/Deeflemeej 

RRB Lab Technician (10.06.2015) 

Ans. (b) Dysuria is a painful urination or burning 

sensation during urination which is generally occurs due 

to bacterial infection of the urinary tract. It is more 

common in women. 
128.  Amount of solution used for evacuant enema is 

adults :  
  JeÙemkeâeW ceW Glmepe&keâ Sefvecee (evacuant enema) kesâ 

efueS ØeÙeesie efkeâÙee peeves Jeeues efJeueÙeve keâer cee$ee nesleer 
nw:   

 (a) 100-250 ml  (b) 250-350 ml  
 (c) 500-1000 ml (d) 1000-1500 ml 

RRB Lab Technician (10.06.2015) 
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Ans. (c) The correct amount of solution used for an 

evacuant enema in adults is typically 500-1000 ml.  
129.  Mode of transmission of Pertussis : 
  hešg&efmeme kesâ mebÛejCe keâe lejerkeâe : 
 (a) Vector transmission/Jeskeäšj š^ebmeefceMeve  
 (b) Through contaminated water 

  otef<ele heeveer kesâ ceeOÙece mes  
 (c) Droplet infection/yet@oeW keâe meb›eâceCe 
 (d) /Faecoaral/Hesâkeâesjue 

RRB Lab Technician (10.06.2015) 

Ans. (c) Pertussis is a serious bacterial infection of 

lunge and breathing tubes that spread easily by the 

droplet infection initial symptom are usually similar to 

those of the common old with a runny nose fever and 

mild cough.   
130.  Time required to measure the Mantaux text.  
  cebše@keäme hejer#eCe keâes ceeheves kesâ efueS DeeJeMÙekeâ meceÙe 

nw? 
 (a) 24 to 48 hrs/24 mes 48 Iebšs  
 (b) 48 to 72 hrs/48 mes 72 Iebšs  
 (c) 10 to 12 hrs/10 mes 12 Iebšs 
 (d) 2 to 4 hrs/2 mes 4 Iebšs 

RRB Lab Technician (10.06.2015) 

Ans. (b) The Mantaux test is a tool for screening for 

tuberculosis. It is the major tuberculin skin tests used 

around the world. It should be read between 48 and 72 

hours after administration. 
131.  Name of the oral Polio Vaccine.  
  Deesjue heesefueÙees Jewkeämeerve keâe veece: 
 (a) BCG/yeer.meer.peer.   
 (b) TAB/šwye  
 (c) Salk/meukeâ  
 (d) Sabin/meeefyeve 

RRB Lab Technician (10.06.2015) 

Ans. (d) Polio vaccines are used to prevent 

poliomyelitis which is developed by Dr. Albert sabin 

and first used in 1961. Which has played a key role in 

nearly eradicating. 
132.  The following are the standard tuberculosis 

drug except.  
  efvecveefueefKele keâes ÚesÌ[keâj ceevekeâ lehesefokeâ oJee nw: 
 (a) Chloromycin/keäueesjesceeFefmeve 
 (b) Streptomycin/mš^shšesceeFefmeve  
 (c) INH/DeeF&.Sve.SÛe. 
 (d) PAS/heer.S.Sme. 

RRB Lab Technician (10.06.2015) 

Ans. (a) Chloromycin is used to treatment of bacterial 

infections that works by stopping the growth of 

bacteria. 

• Antibiotic is a type of antimicrobial substances active 

against bacteria make it difficult for bacteria grow and 

multiply.   
133.  Which is primary sex organ? 

  keâewve mee ØeeLeefcekeâ Ùeewve Debie nw? 

 (a) Vagina/Ùeesefve  
 (b) Ovary/DeC[eMeÙe  
 (c) Uterus/ieYee&MeÙe 
 (d) Fallopian tubes/ef[cye Jeeefnveer 

HPSSC Laboratory Assistant(11.02.2021) 

 Ans.(b) Primary sex organ involved in the formation 

of gamete and sex hormones. While the secondary sex 

organs include glands, organ or duct which do not form 

any gamete but involved in sexual reproduction. So the 

ovary is the primary sex organ.  
134.  Which of the following is a STD?  
  efvecve ceW mes keâewve mee STD nw ? 

 (a) Cancer/keQâmej  
 (b) Malaria/ceuesefjÙee  
 (c) Pneumonia/vÙetceesefveÙee 
 (d) Trichomoniasis/š^eFkeâesceesefveÙeeefmeme 

HPSSC Laboratory Assistant(11.02.2021) 

 Ans.(d) Trichomoniasis is a sexual transmitted 

infection caused by Trichomonos vaginalis which is a 

single celled protozoa produces mechanical stress on 

host cells and then ingests cell fragments after death. 
135.  Cob-web clot  of CSF indicate:  

   CSF keâe@ye-Jesye keäuee@š ØeoefMe&le keâjlee nw :   
 (a) Cryptococcal meningitis 

  ef›eâhšeskeâeskeâeskeâue cesefvevepeeFefšme   
 (b) Encephalitis/ FbmesheäueeFefšme   
 (c) Poliomyelitis/ heesefueÙeesceeÙeefueefšme  
 (d) Tuberculous meningitis 

  šŸetyejkeäÙetueme cesefvevepeeFefšme  
Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (d) The CSF parameters is differentiating between 

intracerebral hemorrhage and cerebral infarction. A 

spider web clot in the CSF that has been collected is 

rare but indicative of TB meningitis.   

136.  The main sugar present in semen : 

  JeerÙe& ceW cegKÙe Meke&âje GheefmLele neslee nw~  

 (a) Glucose/iuetkeâespe  (b) Lactose/uewšespe  
 (c) Sucrose/meg›eâespe  (d) Fructose/øeâkeäšespe  

Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (d) Semen is unique among body fluids for a high 

concentration of the monosacharides fructose which 

required to support sperm viability function and 

motility.     

                           20 / 300



 

BIOLOGY 27 YCT 

137.  The following are biological hazards except : 

efvecveefueefKele ceW mes ÚesÌ[keâj pewefJekeâ peesefKece nw : 
 (a) Anaemia/SveerefceÙee  (b) AIDS/S[dme  
 (c) Hepatitis/nshesšeFefšme  (d) Tuberculosis/lehesefokeâ  

Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (a) Biological hazard is a biological substance that 

posses a threat to the health of living organism.  The 

main biological hazards encountered in food induce 

bacteria. Viruses which can have severely adverse 

health effects. 

The most common nutritional cause of anemia is iron 

deficiency.   
138.  In which parasitic infection DEC Provocation 

test in used?  

  DEC Gòesefpele hejer#eCe efkeâme hejpeerJeer meb›eâceCe ceW 
ØeÙeesie neslee nw?    

 (a) Wuchereria bancrofti/JegÛejsefjÙee yewve›eâe@heäšer 
  (b) Ascaris lumbricoids/Smkesâefjme uegefcyeÇkeâesF[dme   
 (c) Entamoeba histolytica/SCš Deceeryee efnmšesefueefškeâe  
 (d) Tape worms/heâerlee ke=âefce  

Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (a) The diethylcarbamazine (DEC) provocation 

day test is used to diagnose the Wuchereria bancrofti 

infections in area where microfilariae exhibit nocturnal 

periodicity. 

139.  Black water fever is associated with the 

infection of. 

  keâeueepeej meb›eâceCe mes mecyeefvOele nw~  
 (a) P. vivax/heer. JeeFJewkeäme 
  (b) P. falciparum/heer-hewâumeerhesjce  
 (c) P. ovale/heer-DeesJesue 
  (d) P. malariae/heer-ceuesefjÙee  

Kerala PSC Laboratory Technician (29.01.2015) 

Ans. (b) Black water fever is a severs clinical syndrome 

occurring as a complication of malarial infection 

characterized by intravascular hemolysis caused by 

heavy parasitization of red blood cells with Plasmodium 

falciparum.  
140.  Gastric diseases are those which are related to 

  iewefmš^keâ jesie Jen nw pees mecyeefvOele neslee nw :  
 (a) Stomach/DeeceeMeÙe (b) Intestine/DeeBle   
 (c) Lungs/hesâheâÌ[e  (d) Liver/Ùeke=âle 

Gujarat VMC Lab Technician (28.03.2021) 

Ans. (a) Gastrointestinal disease is disorders of the 

digestive tract which made up of mouth to anus 

functional disease are those in which the GI tract 

appears normal but does not move properly Ex-

constipation food poisoning gas blotting. 

141.  Which of the following are disease that are 

caused by viruses? These viruses primarily 

affect the nervous system.  

  efvecveefueefKele ceW mes keâewve-mee jesie nw efpemekeâe keâejCe 
efJe<eeCeg nw? Ùes efJe<eeCeg ØeeLeefcekeâ ™he mes lebef$ekeâe leb$e keâes 
ØeYeeefJele keâjlee nw~ 

  (i) Poliomyelitis/heesefueÙeesces™jppegMeesLe  
  (ii) influenza/FbheäuetSbpee  
  (iii) Bronchial pneumonia/yeÇeskeâeFue vÙetceesefveÙee  
  (iv) Rabies/jsyeerpe 
 (a) i and ii  (b) i and iii  

 (c) i and iv (d) ii and iv 

Gujarat VMC Lab Technician (28.03.2021) 

Ans. (c) The disease caused by viruses that primarily 

affects the nervous system is poliomyelitis and Rabies. 

• Poliomyelitis a viral disease that can affect nerves and 

can lead to partial or full paralysis. 

• Rabies - a viral infection that causes inflammation of 

the brain in humans and other mammals.   

142.  ELISA test is used for the diagnosis of 

  Sefuemee hejer#eCe kesâ efveoeve kesâ efueS GheÙeesie efkeâÙee peelee 
nw :  

 (a) Migraine/ceeF«esve   (b) Hepatitis/nshesšeFefšme   
 (c) Diabetes/ceOegcesn  (d) AIDS/S[dme 

Gujarat VMC Lab Technician (28.03.2021) 

Ans. (d) The enzyme linked immunosorbent assay 

(ELISA) is commonly used to detect antibodies in the 

blood which is produced by the body's immune system 

when it detects harmful substances called antigen. It 

used to detect virus infection especially blood borne 

viruses such as HBV, HIV etc. 

143.  Diseases caused by vectors are called  

  jesieJeenkeâeW Éeje Glhevve nesves Jeeuee jesie keânueelee nw~  

 (a) Zoonoses /heMeg peefvele   
 (b) Arthropod borne /mebefOeheeo peefvele  
 (c) Water borne /peue peefvele 
 (d) Food borne /KeeÅe peefvele 

Gujarat VMC Lab Technician (28.03.2021) 

Ans. (a) Zoonoses are infection that people can get 

from animals. (Vertebrate animals) major modern 

diseases such as Ebola and salmonellosis are zoonoses 

the disease in directly transmitted like rabies and 

influenza.  

144.  The complete absence of semen ejaculation is 

called 

  JeerÙe&-mKeueve keâer hetCe& DevegheefmLeefle keâes keâne peelee nw : 
 (a) Oligospermia/Deesefueieesmheefce&Ùee   
 (b) Hypospermia/neFhees-mheefce&Ùee   
 (c) Hyperspermia/neFhej-mheefce&Ùee  
 (d) Aspermia/S-mheefce&Ùee  

Gujarat VMC Lab Technician (28.03.2021) 
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Ans. (d) Aspermia is a abnormal results are found on 

the semen analysis. In which complete absence of 

seminal fluid emission upon ejaculation. There can be 

many causes of male factor infertility but causes 

unknown.   

145.  Diabetes mellitus occurs due to 

  [eÙeefyešerpe cesefuešme efkeâmekesâ keâejCe mes neslee nw~  
 (a) Increased blood sugar level 

  yeÌ{e ngDee jkeäle Meke&âje neslee nw~   

 (b) Decreased blood sugar level 

  Ieše ngDee jkeäle Meke&âje mlej  
 (c) Increased blood urea level 

  yeÌ{e ngDee jkeäle ÙetefjÙee mlej 
 (d) Decreased blood urea level 

  Ieše ngDee jkeäle ÙetefjÙee mlej 

Gujarat VMC Lab Technician (28.03.2021) 

Ans. (a) Diabetes is a condition that happens when your 

blood sugar is too high it develops when your pancreas 

does not make insulin.  

146.  In _______. Bacillus mucosus capsulatus 

organism is found with the pneumococcus.   
  _______ ceW, yewefmeueme cÙetkeâesmeme kewâhmetuewšme Deeiexefvepce 

vÙetceeskeâeskeâme kesâ meeLe heeÙee peelee nw~ 

 (a) Pneumonia/vÙetceesefveÙee  
 (b) Tuberculosis/#eÙejesie  
 (c) Pharyngitis/hewâefjbpeeFefšme 
 (d) Pneumothorax/vÙetceesLeesjskeäme 

DSSSB Laboratory Technician (2012) 

Ans. (a) Pneumonia is a viral infection that inflames air 

sacs in one or both lungs. Which may filled with fluid 

pneumonia can be very serious and can cause death. 
147.  Wilson's disease is a disorder of abnormal 

_______ metabolism.  
  efJeuemeve jesie DemeeceevÙe _______ ÛeÙeeheÛeÙe keâe Skeâ 

efJekeâej nw~  

 (a) Copper/leeByee  (b) Iodine/DeeÙees[erve  
 (c) Manganese/ceQieveerpe (d) Zinc/pemlee 

DSSSB Laboratory Technician (2012) 

Ans. (a) Wilson's disease is an inherited disorder in 

which copper accumulate in the organs especially in 

liver and brain. It can lead to high copper levels that 

cause life threatening organ damage. 
148.  Leprosy is caused by  
  keâesÌ{ _______ kesâ keâejCe neslee nw~ 

 (a) Mycobacterium tuberculosis/ceeFkeâesyewkeäšerefjÙece 
šŸetyejkegâueesefmeme  

 (b) Mycobacterium leprae/ ceeFkeâesyewkeäšerefjÙece uesØeer  

 (c) Mycobacterium bovis/ ceeFkeâesyewkeäšerefjÙece yeesefJeme 
 (d) None of the above/Gòeâ ceW mes keâesF& veneR 

DSSSB Laboratory Technician (2012) 

Ans. (b)  Leprosy is an infectious disease that cause 

skin lesions and nerve damage. It is caused by 

mycobacterium leprae. 

It mainly affects the skin, eyes, nose and peripheral 

nerve.  
149.  Oral thrush is caused by  
  cegBn kesâ Úeues ______ kesâ keâejCe nesles nQ~ 

 (a) Penicillium/hesefveefmeefueÙece  
 (b) Fusarium/heäÙetpesefjÙece  
 (c) Candida/keQâef[[e 
 (d) None of the above/Gòeâ ceW mes keâesF& veneR 

DSSSB Laboratory Technician (2012) 

Ans. (c) Oral thrush is an infection caused by fungus 

Candida in which creamy white lesions on tongue or 

inner cheeks. It can quick become irritated and cause 

mouth pain and redness.  
150.  In AIDS, there occur depletion of  
  S[dme _______ kesâ keâceer mes Dee peeleer nw~ 

 (a) CD4 lymphocytes/CD4 efuebheâesmeeFš  
 (b) Monocytes/ceesveesmeeFš  
 (c) Granulocytes/«esvÙetueesmeeFš 
 (d) Reticulocytes/jsefškegâueesmeeFš 

DSSSB Laboratory Technician (2012) 

Ans. (a) CD4 cells are type of white blood cell. That 

help fight infection by triggering immune system to 

destroy viruses bacteria that they make sick . HIV 

attacks and destroys CD4 cells that may destroy so 

many CD4 cells   
151.  Erysipelas and impetigo are typical _______ 

infections of the skin.  
  Sefjmeerhesueme Deewj Fbhesefšiees lJeÛee kesâ ______ meb›eâceCe nw~ 
 (a) Staphylococcal/mšsheâeFueeskeâeskeâue  
 (b) Streptococcal/mš^shšeskeâeskeâue  
 (c) Pneumococcal/vÙetceeskeâeskeâue 
 (d) None of the above/Gòeâ ceW mes keâesF& veneR 

DSSSB Laboratory Technician (2012) 

Ans. (b) Impetigo in an non-life threatening infection 

but can result in post Streptococcal acute erysipelas 

caused by bacterial infection characterized by large 

raised red patches on skin caused by Streptococcus 

bacteria.  

152.  Removal of entire diseased part of the tissue is 

known as  
  Tlekeâ kesâ jesie«emle Yeeie keâes hetje efvekeâeue osvee ______ 

keânueelee nww~ 
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 (a) Incision biopsy/Fefvmepeve yeeÙeeshmeer  
 (b) Excision biopsy/Sefkeämepeve yeeÙeeshmeer  
 (c) Punch biopsy/hebÛe yeeÙeeshmeer 
 (d) Cone surgery/keâesve mepe&jer 

DSSSB Laboratory Technician (2012) 

Ans. (b) Excision biopsy is a surgical procedure in 

which a small amount of healthy tissue around the 

abnormal area may also be removed (entire tumor). 
153.  The damage of human body due to radiation 

(X-rays or gamma rays) is measured in  

  efJeefkeâjCe (X-efkeâjCe DeLeJee ieecee efkeâjCeeW) kesâ keâejCe 
ceeveJe Mejerj keâer #eefle keâes ceehee peelee nw 

 (a) Rems /jscme  
 (b) Roentgen /jesSvšpeve  
 (c) Curei /keäÙetjer 
 (d) Rads /jw[ 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (a) Rems is a units of radiation dosage applied to 

humans roentgen.  

Equivalent man (rem) is a unit of equivalent dose 

effective dose and committed dose which used to 

measured to health effects of low levels of ionizing 

radiation on the human body.   
154.  Which is caused by deficiency of iodine ?  

  DeeÙees[erve keâer keâceer mes keäÙee neslee nw? 

 (a) Hyperthyroidism /neFhejLeeÙejesFef[pce 
 (b) Goitre /IeWIee  
 (c) Diabetes /ceOegcesn 
 (d) None of these /FveceW mes keâesF& veneR 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (b) Goitre happens when thyroid gland grows 

larger iodine deficiency is the most common cause of 

goiter. Body required iodine to produce thyroid 

hormone. 
155.  Human cloning is permitted in Britain for the 

purpose of 

  efkeâme ØeÙeespeve kesâ efueS efyeÇšsve ceW ceeveJe keäueesefvebie keâer 
Devegceefle nw? 

 (a) Genetics /DeevegJebefMekeâer  
 (b) Research /DevegmebOeeve  
 (c) Reproduction /peveve 
 (d) Therapeutics /efÛeefkeâlmee 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) Human cloning is the creation of a genetically 

identical copy of human including techniques used to 

collect embryonic stem cells.  

Therapeutics treatment and care of a patient for the 

purpose of preventing and combating disease or 

alleviating pain.  
156.  The sleeping sickness is caused by  

  efveõeueg jesie Fmekesâ keâejCe neslee nw 

 (a) Escherichia sp. /SMeefjefkeâDee mheer.  
 (b) Neisseria sp. /veeFpeerefjÙee mheer.  
 (c) Entamoeba sp. /SCšDeceeryee mheer. 
 (d) Trypanosoma sp. /efš^hewveesmeescee mheer. 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) African sleeping sickness (Trypanosomiasis) is 

a vector -borne parasitic disease caused by protozoans 

of genus Trypanosoma which transmitted by tse-tse 

flies (Glossina) it results in swelling of brain. 
157.  During bone marrow aspiration ‘dry tap’ is 

observed in  
  DeefmLe-ceppee Ûet<eCe kesâ oewjeve ‘[^eF šwhe’ Øesef#ele neslee nw 

 (a) Aplastic anemia/Shueeefmškeâ SveerefceÙee ceW  
 (b) Myelofibrosis/ceeÙeueesheâeFyeÇesefmeme ceW  
 (c) Acute leukemia/leer›e uÙetkesâefceÙee ceW 
 (d) All of these/Ùen meYeer ceW 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) Dry tap is a bone marrow aspiration in which 

no material entered the aspiration syringe which used to 

diagnosis and management of many hematological 

diseases depends on examination of the bone marrow. 

• A plastic anemia is a condition in which body stops 

producing new blood cells. 

• Myelofibrosis is a rare blood cancer where scar tissue 

forms in bone marrow. 

• Acute leukemia is a blood cancer that affect WBCs.    
158.  Bence Jones proteins are seen in  
  yesvme peesvme Øeesšerve efoKeeF& osles nQ 

 (a) Haemolytic anemia/®efOejueÙeer SveerefceÙee  
 (b) Multiple myeloma/ceušerheue ceeÙeueescee  
 (c) Leukemia/uÙetkesâefceÙee 
 (d) Thrombocytopenia/LeÇe@cyeesmeeÙešessheerefveÙee 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (b) Bence Jones protein is a monoclonal globulin 

protein found in urine that are particularly diagnostic of 

multiple myeloma in the context of target organ 

• Multiple myeloma is a blood cancer affects plasma 

cells.   

159.  What is the cavity within a secondary follicle?  

  efÉleerÙekeâ Heâe@efuekeâue ceW keâesšj keäÙee nw? 

 (a) Grafian follicle /«eeefHeâÙeve Heâe@efuekeâue 
 (b) Zona pellucida /peesvee hesuÙegefme[e  
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 (c) Theca folliculi /Leerkeâe heâe@efuekegâueeF& 
 (d) Antrum /Svš^ce 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) The follicular antrum is the portion of ovarian 

follicle filled with follicular fluid which provide the 

environments for development of oocyte.      
160.  Property of acquiring antibiotic resistance 

from viral colony is by  

  efJe<eeCeg efveJen mes ØeeflepewefJekeâ ØeeflejesOe Deefpe&le keâjves keâe 
iegCe nw 

 (a) Transference/mLeeveevlejCe Éeje  
 (b) Conjugation/mebÙegiceve Éeje  
 (c) Transduction/heej›eâceCe Éeje 
 (d) Mutation/GlheefjJele&ve Éeje 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (c) Transduction is a mode of genetic transfer from 

one bacteria to another through a virus that promoting 

genetic diversity, enhance survival in changing 

environment as well as antibiotic resistance or 

capability to metabolise new substrates.   
161.  Which of the following is a monogenetic 

parasite ?  
  efvecve keâewve mee Skeâ ceesveespesvesefškeâ hejpeerJeer nw? 

 (a) Hydra /neF[^e  
 (b) Fasciola /hewâefmeDeesuee  
 (c) Ascaris /Smkewâefjme 
 (d) Earthworm /keWâÛegDee 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) Ascaris is a monogenetic parasite that complete 

their life cycle in only one individual host i.e. human 

causes the disease as ascariasis.    
162.  Which of the following combinations shows 

antagonism ?  
  efvecve ceW mes keâewve mee mebbÙeespeve Svšeieesefvepce oMee&lee nw? 

 (a) Aspirin + Warfarin /Sefmheefjve ± Jeejhesâefjve  
 (b) Nitrofurantoin + Nalidixic acid /veeFš^esheäÙegjsvšesFve 

± vesefueef[efkeämekeâ Sefme[  
 (c) Ceftazimide + Gentamicin /mesheäšeefpeceeF[ ± 

pesvšeceeFefmeve 
 (d) Imipenem + Cilastatin /Fefcehesvece ± efmeuesmšwve 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(b) Nitrofurantoin is an antibiotic medication that 

is used for the treatment of urinary tract infections 

which disrupt ribosomal RNA, DNA and other 

intracellular substances. 

• Nitrofurantoin inhibits the antibacterial action of 

nalidixic acid nitrofurantoin will not work for colds flu 

or other viral infection.   

163.  Tetanus infection is characterized by all, 

except:  
  šeršvesme kesâ meb›eâceCe keâe ue#eCe efvecve ceW mes Skeâ keâes 

ÚesÌ[keâj meYeer nw: 

 (a) Muscle spasm /hesMeer mheepce  
 (b) Fever /pJej  
 (c) Trouble swallowing /efveieueves ceW keâef"veeF& 
 (d) Difficulty in urination /hesMeeye ceW keâef"veeF& 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Tetanus is a serious bacterial disease caused 

by Clostridium tetani that causes painful muscles 

spasms and can lead to death it may causes a fast pulse, 

fever, sweating, painful muscle spasms and trouble 

swallowing etc.    
164.  Amodiaquine an antimalarial drug belongs to  
  SceeF[eskeäJeerve Skeâ SvšerceuesefjÙee Deew<eefOe nw pees efvecve kesâ 

Devleie&le Deeleer nw: 

 (a) 4-amino quinolines /4-Sceervees keäJeerveesueerve  
 (b) 8-amino quinolines /8- Sceervees keäJeerveesueerve  
 (c) 2,4-diamino pyrimidine/2,4-[eFSceerveeW efheefjefce[erve 
 (d) 1, 3-diamino acridine /1, 3-[eFSceerveeW Sef›eâ[erve 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(a) Amodiaquine is a medication used to treat 

malaria and more effective than chloroquine while the 

mechanism of action to similar to that of chloroquine 

amodiaquine is a 4-aminoquinoline compound related to 

chloroquine.   
165.  Sulphadimethoxine is a/an  
  meuheâe[eFcesLee@efkeämeve nw Skeâ 

 (a) Short acting sulpha drug /DeuheeJeefOe ØeYeeJeer meuheâe 
[^ie  

 (b) Intermediate acting sulpha drug /ceOÙeJeleea ØeYeeJeer 
meuheâe [^ie  

 (c) Long acting sulpha drug /oerIee&JeefOe ØeYeeJeer meuheâe 
[^ie 

 (d) Extra-long acting sulpha drug /Deefle oerIee&JeefOe 
ØeYeeJeer meuheâe [^ie 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Sulphadimethoxine  is the only drug that used 

to treat bacterial and protozoal pathogen in reptiles used 

mainly in veterinary medicine to treat coccidiosis as 

well as other infection.  
166.  Gentamycin belongs to which class ?  
  pesvšeceeFefmeve efkeâme Jeie& kesâ Devleie&le Deeleer nw? 

 (a) Aminoglycoside antibiotic /Sceervees iueeFkeâesmeeF[ 
ØeeflepewefJekeâ  

 (b) Beta lactum antibiotics /yeerše uewkeäšce ØeeflepewefJekeâ  
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 (c) Peptide antibiotics /heshšeF[ ØeeflepewefJekeâ 
 (d) Macrolide antibiotics /ces›eâesueeF[ Øeefle pewefJekeâ 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(a) Gentamycin belongs to class aminoglycoside 

antibiotics which is used to killing bacteria or 

preventing their growth in many different part of body it 

rapidly crosses the placenta.  
167.  P

32
 is used as  

  P
32 GheÙeesie ceWs efueÙee peelee nw 

 (a) Investigation of blood disorder /jòeâ efJeke=âefle keâer 
peeBÛe keâjves ceW  

 (b) Treatment of Thyroid gland /LeeÙeje@Ùe[ «ebefLe kesâ 
GheÛeej ceW  

 (c) Treatment of Polycythaemia /hee@ueermeeFLesefceÙee kesâ 
GheÛeej ceW 

 (d) Investigation of Colon /keâesueesve keâer peeBÛe keâjves ceW 
HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) P
32

 (Phosphorus) is a radioactive isotope of 

phosphorus whose nucleus consists of 15 protons and 

17 neutrons it is used in the treatment of blood disorder 

celled polycythemia (Type of leukemia).  
168.  Which is a systemic antacid ?  
  efmemšsefcekeâ Deebš Sefme[ keäÙee nw? 

 (a) Magnesium hydroxide /cewiveerefMeÙece neF[^e@keämeeF[  
 (b) Aluminium hydroxide /SuÙegefceefveÙece neF[e@keämeeF[  
 (c) Sodium bicarbonate /meesef[Ùece yeeFkeâeyeexvesš 
 (d) Sodium carbonate /meesef[Ùece keâeyeexvesš 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) Systemic antacids are antacids which get 

systemically absorbed Ex-sodium bicarbonate. 

• Antacid is a substance that neutralizes stomach acidity 

and relieve indigestion or upset stomach.    
169.  Parasysmpathomimetic drugs cause  
  hewjeefmechewLeesefcecesefškeâ [^ie GlheVe keâjlee nw 

 (a) Bronchodilation /yeÇeBkeâes[eFuesMeve  
 (b) Mydriasis /ceeFef[^Ùeeefmeme  
 (c) Bradycardia /yeÇsef[keâeef[&Ùee 
 (d) Constipation /keâebefmšhesMeve 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) Parasysmpathomimetic drug used to activate 

the nervous system by modifying the effects of 

acetylcholine. 

• These drugs are sometime used to treat slow heart 

rhythms (bradycardia).  

170.  Chloroquine is used for treatment of malaria 

caused by  
  keäueesjeskeäJeerve keâe GheÙeesie ceuesefjÙee kesâ GheÛeej ceW neslee 

nw, pees 

 (a) P. ovale /heer. DeesJesue Éeje GlheVe ngDee nes~  
 (b) P. vivax /heer. JeeFJeskeäme Éeje GlheVe ngDee nes~  
 (c) P. malaria /heer. ceuesefjÙee Éeje GlheVe ngDee nes~ 
 (d) All of these /Fve meYeer Éeje GlheVe ngDee nes~ 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Chloroquine is a medication used to treat 

malaria a red blood cell infection transmitted by the bite 

of a mosquito. It inhibits DNA and RNA biosynthesis 

and produces rapid degradation of ribosome's. 
171.  Skin discolouration from red-brown-black is 

caused by  
  ueeue-Yetjer-keâeueer lJeÛee keâe efJejbpeve neslee nw 

 (a) Dapsone /[whmeesve Éeje  
 (b) Ethambutol /SLescyÙegše@ue Éeje  
 (c) Rifampicin /efjheâeefcheefmeve Éeje 
 (d) Clofazimine /keäueeshesâefpeceeFve Éeje 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Clofazimine is a riminophenazine  dye that has 

been extensively used for the treatment of leprosy or 

other skin diseases in very common and is unacceptable 

to some patients. 
172.  Furosemide is  
  heäÙegjesefmeceeF[ nw 

 (a) Loop diuretics /uethe-[eFÙetjsefškeäme  
 (b) Osmotic diuretics /Dee@mceesefškeâ Ùetjsefškeäme  
 (c) Thiazide diuretics /LeeÙepeeF[ Ùetjsefškeäme 
 (d) Potassium sparing diuretics /heesšwefMeÙece mhesefjbie 

[eFÙetjsefškeäme 
HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(a) Furosemide is a type of diuretic that treat high 

blood pressure, heat failure and oedema. 

• It promotes diuresis by blocking tubular reabsorption 

of Na
+
 and Cl

–
 in proximal and distal tubules.   

173.  Calcium channel blocker produce cardiac 

effect by/kewâefumeÙece Ûewveue yuee@keâj keâeef[&keâ ØeYeeJe 
GlheVe keâjlee nw 

 (a) Negative inotropy /efveiesefšJe Fveesš^e@heer Éeje 
 (b) Negative chronotropy /efveiesefšJe ›eâesveesš^e@heer Éeje  
 (c) Negative dromotropy /efveiesefšJe [^esceesš^e@heer Éeje 
 (d) All of these /Fve meYeer kesâ Éeje 

HPSSC Laboratory Assistant (25.07.2019) 
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Ans. (d) Calcium channel blockers are the medicines 

that used to lower blood pressure angina pressure 

angina pectoris and preventing migraine  

• Negative inotropes weakens the heat contraction 

chromotropy (increases heart rate) and dromotropy 

(increase rate of condition through AV node).  
174.  Acetylcholine and physostigmine are examples 

of which type of drug interactions ? 
  Sefmešeruekeâesefueve leLee heâeÙemeesefmšiceeFve efvecve efkeâme 

Øekeâej keâe [^ie Devleef›e&âÙee keâe GoenjCe nw? 
 (a) Synergism/meerveefpe&pce 
 (b) Addition/ÙeesieMeerue  
 (c) Potentiation/heesšWsefMeSMeve 
 (d) Antagonism/Svšeieesefvepce 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) Potentiation is a complex process leading to 

persistent strengthening of synapses. 

• Potentiation when one drug does not elicit a response 

on its own but enhances the response to another drug. 
175.  Beta agonist used in bronchial asthma exert 

action by  
  yeerše Sieesefvemš efpemekeâe GheÙeesie yeÇeWefkeâÙeue DemLecee cesW 

neslee nw Dehevee Demej [euelee nw 

 (a) Blocking β1 receptor/ β1 efjmeshšj keâes yuee@keâ keâjkesâ  
 (b) Blocking β2 receptor/ β2 efjmeshšj keâes yuee@keâ keâjkesâ  
 (c) Stimulating β1 receptor/ β1 efjmeshšj keâes Gòesefpele 

keâjkesâ 
 (d) Stimulating β2 receptor/ β2 efjmeshšj keâes Gòesefpele 

keâjkesâ 
HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) β agonist constitute the frontline treatment for 

both asthma and COPD (Chronic obstructive pulmonary 

disease). It relax airways smooth muscle by stimulating 

β-2 adrenergic receptors. 

β-2 agonists are bronchodilator drugs.  
176.  The route of administration of human 

monovalent live vaccine (RV1) for Rotavirus is  
  jesše JeeÙejme kesâ efueS ¢egcesve ceesveesJesuesvš ueeF&Je Jeskeämeerve 

(RV1) Øeoeve keâjves keâe ceeie& nw~ 

 (a) Subcutaneous/meyekeäÙegšsefveÙeme  
 (b) Intra Muscular/Fvš^e cemkegâuej  
 (c) Intra-dermal/Fvš^e [ce&ue 
 (d) Oral/cegKe (Deesjue) 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Rotavirus vaccine is administered by putting 

drops in the child's mouth before they turn 8 month old. 

• There is no specific medicine to treat rotavirus 

infection. 

177.  Recommended site of administration of DPT in 

infants is /efMeMegDeeW ceW DPT Øeoeve keâjves kesâ efueS 
ØemleeefJele meeFš nw 

 (a) Gluteal/iuegšerÙeue  
 (b) Deltoid/[suše@Ùes[  
 (c) Lateral aspect of thigh/peeBIe keâe heeefMJe&keâ henuet 
 (d) Forearm/Yegpee«e 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) DPT (diphtheria, pertussis, tetanus) vaccine is 

given as a number of injections to infant and young 

children. It preferred injection site is the vastus lateral is 

muscle of the thigh. 

DPT should be given one dose at each of these dose 

ages 2 months, 4 months and 6 months.   
178.  Clarification is term used when solid content of 

product does not exceed to   
  Glheeo keâe "esme heoeLe& peye.............. mes DeefOekeâ veneR 

neslee lees heo keäuesefjefheâkesâMeve ØeÙegòeâ efkeâÙee peelee nw~ 

 (a) 1%  (b) 5%  
 (c) 10% (d) 15% 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(a) Clarification is when solid do not exceed 1% 

filtration is applied to the recovery of valuable solids 

from slimes. 

It is essential step in H2O treatment process to remove 

suspended solid through gravity settling providing a 

clarified liquid effluent.  
179.  Weight variation limit as per IP for a tablet 

weighing 300 mg is   
  300 mg Yeej Jeeueer efkeâmeer šsyeuesš kesâ efueS IP kesâ 

Devegmeej Yeej heefjJelÙe& meercee nw 

 (a) ± 2.5%  (b) ± 5%  
 (c) ± 7.5% (d) ± 10% 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(b) The weight variation statistical quality contrast 

test is used to confirm uniformity of the dosage unit and 

therefore also to support product safety, identity and 

quality. 

• Weight variations in a limited extent are qutenormal 

due to variations in the density of the powder material 

and to a partially incomplete. 
180.  Disintegration time limit as per IP for an 

effervescent tablet is   
  IP kesâ Devegmeej, efkeâmeer yegueyeguesoej šsyeuesš kesâ efueS 

efJeKeb[ve meceÙe meercee nw 

 (a) 5 minutes/5 efceveš  (b) 10 minutes/10 efceveš 
 (c) 15 minutes /15 efceveš (d) 30 minutes/30 efceveš 

HPSSC Laboratory Assistant (25.07.2019) 
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Ans. (a) Effervescent tablets are designed to release 

carbon dioxide upon contact with H2O. The absorption 

process takes place faster than tablets and capsules.  

• According to the European pharmacopoeial standards 

for effervescent tablets. The disintegration time should 

5 minutes.    
181.  Slightly soluble compound as per IP 

specification of solubility is  
  DeuheefJeuesÙe Ùeewefiekeâ keâer IP kesâ Devegmeej efJeuesÙelee keâe 

efJeefveoxMeve nw~  

 (a) One part in 10-30 parts of solvent/efJeueeÙekeâ kesâ 
10-30 Yeeie ceW Skeâ Yeeie  

 (b) One part in 30-100 parts of solvent/efJeueeÙekeâ kesâ 
30-100 Yeeie ceW Skeâ Yeeie  

 (c) One part in 100-1000 parts of solvent/efJeueeÙekeâ 
kesâ 100-1000 Yeeie ceW Skeâ Yeeie 

 (d) One part in 1-10 parts of solvent/efJeueeÙekeâ kesâ  
  1-10 Yeeie ceW Skeâ Yeeie 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(c) A slightly soluble salt is that dissolves only 

very slightly in H2O from 100 to 1000.  

• Solubility is the analytical composition of a saturated 

solution expressed as a proportion of a designated solute 

in a designated solvent.     
182.  A rectal suppository is used to treat a fever. 

The would represent what type of drug 

delivery?/ceueeMeÙeer Jeefle&keâe keâe GheÙeesie pJejesheÛeej ceW 
efkeâÙee peelee nw~ Ùen efkeâme Øekeâej keâer Deew<eefOe Øes<eCe keâes 
oMee&Siee? 

 (a) Parenteral  and local/hewjsvšsjue leLee ueeskeâue  
 (b) Parenteral and systemic/hewjsvšsjue leLee efmemšsefcekeâ  
 (c) Enteral and local/Svšjveue leLee ueeskeâue 
 (d) Enteral and systemic/Svšjveue leLee efmemšsefcekeâ 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(b) Rectal suppository used to treat fever 

represents enteral and systemic drug delivery. This 

product is used to relieve occasional constipation it 

works by drawing water into the intestine.  
183.  The storage temperature of soft gelatin capsule 

is  
  vejce efpeuesšerve kewâhmetue keâe Yeb[ejCe leeheceeve 
 (a) 15-18 

0
C  (b) 21-24 

0
C  

 (c) 18-20 
0
C (d) 25-27 

0
C 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(b) Soft gelatin capsule is a type of capsule which 

contain medicine in the form of liquid or powder which 

dissolve more quickly and have 13% to 16% moisture 

content so storing in the range of 35% to 65% relative 

humidity and 15 to 25
o
C temperature.  

184.  The function of copper-T is to prevent  
  keâe@hej-T keâe keâeÙe& efkeâmekeâes jeskeâvee nw? 
 (a) Fertilization/efve<esÛeve   
 (b) Egg maturation/DeC[ heefjhekeäJelee  
 (c) Ovulation/DeC[eslmeie& 
 (d) Implantation of blastocyst/yueemšesefmemš keâe 

DeejesheCe 
HPSSC Laboratory Technician (27.09.2020) 

Ans. (a) Copper – T is an IUD that produces an 

inflammatory reaction that is toxic to sperm and egg 

preventing frequency it repel the movement of sperm by 

changing their pattern of movement.  

It can also prevent the fertilized egg from implantation  

in the womb.  

Note – The Commission has considered option (d) is 

correct. 

185.  Period of pregnancy is called  
  ieYee&JemLee keâer DeJeefOe keânueeleer nw 

 (a) Gestation period /meieYe&lee DeJeefOe  
 (b) Incubation period /GÆJeve DeJeefOe  
 (c) Pre-patent period /hetJe&-SkeâlJe DeJeefOe 
 (d) Blastulation /yueemšguesMeve 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (a) Gestation is a period of development during 

the carrying of an embryo inside viviparous animal 

pregnancy is calculated as 40 weeks and starts from the 

first day of your last menstrual period classify into 3 

stages known as trimesters.  
186.  Bidder’s canal is meant for the passage of  
  efye[j kewâveeue efkeâmekeâes ceeie& osves kesâ efueS nw? 

 (a) Ova/Deb[eCeg   (b) Urine/cet$e  
 (c) Sperms /Meg›eâeCeg (d) All of these /Ùes meYeer 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) Bidder's canal is a part of the males 

reproductive system and absent in females. It receives 

sperms from testes via vasa efferentia and acts as 

urinogenital canal opening into ureters.  
187.  Leydig cells secrete  
  uesef[ie keâesefMekeâeSB œeeefJele keâjleer nQ 

 (a) Oestrogens /Smš^espeve  
 (b) Testosterone /šsmšesmšerjesve   
 (c) Progesterone /Øeespesmšsje@ve 
 (d) Corticosterone /keâe@efš&keâesmšerje@ve 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (b) Leydig cells are primary source of testosterone 

or androgens in males which play an important role in 

sperm production and controlling sexual development. 
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188.  Epididymis is lined by  
  Sefheef[[eFefceme mleefjle (efIejer) nesleer nw 
 (a) Cuboidal epithelium /Ieveekeâej Ghekeâuee Éeje  
 (b) Simple columnar epithelium /meeOeejCe mlebYeekeâej 

Ghekeâuee  
 (c) Pseudostratified columnar epithelium 

/ketâšmleefjle mlebYeekeâej Ghekeâuee Éeje 
 (d) Transitional epithelium /DebleJe&leea Ghekeâuee Éeje 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) The epididymis is a single convoluted tubule 

lined by a pseudostratified epithelium cells the so called 

principle basal narrow and clear cells. 

• It play important role in sperm maturation of gain 

motility to sperm and store sperms.  
189.  Leydig cells are seen in  
  uesef[ie keâesefMekeâeSB efoKeeF& osleer nw 
 (a) Liver /Ùeke=âle ceW  (b) Bone /nñer ceW  
 (c) Lungs /hesâheâÌ[eW ceW  (d) Testes /Je=<eCe ceW 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (d) Leydig cells are the essential and crucial cells 

located in the testes of the male gonads known as 

testicular interstitial cells found adjacent to the testicle 

they produce testosterone in the presence of a 

luteinizing hormone (LH).  
190.  ELISA will use antibodies conjugated to all the 

following reagents, except :  
  SueeFpee efvecveefueefKele meYeer DeefYekeâce&keâes mes mebÙegeficele 

Sb[eryee@[er keâe GheÙeesie keâjsiee, efmeJeeÙe: 
 (a) ALP  (b) HRP  
 (c) Riboflavin/jeFyeesheäuesefJeve(d) Biotin/yeeÙeesefšve 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) Vitamin B2 (Riboflavin) is a Elisa kit for the in 

vitro quantitative measurement of vitamin B2. 

• The standard Elisa reagents used include a detection 

antigen or antibody.  
191.  Which serological test is done for diagnosis of 

enteric fever ? 

  Deeb$e pJej kesâ efveoeve kesâ efueS keâewve meerjceefJe%eeveer 
(meerjesuee@efpekeâue) hejer#eCe efkeâÙee peelee nw?  

 (a) Widal test/efJe[eue hejer#eCe  
 (b) Weil-Felix test/Jeerue-hesâefuekeäme hejer#eCe  
 (c) ASO 
 (d) VDRL Test/VDRL hejer#eCe 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (a) Widal test is a quick procedure to diagnose 

typhoid fever or enteric fever it is developed by 

Georges Fernand Widal in 1896.  

In this patient's serum mixed with antigens derived from 

two bacteria and found presence of antibodies against 

two antigens.   

192.  Method of stimulating adaptive immune 

response and memory against a known 

infectious agent is called 

  efkeâmeer %eele meb›eâceCekeâejer SpeWš kesâ efJe™æ Devegketâefuele 
Øeeflej#ee Øeefleef›eâÙee Deewj mce=efle kesâ Göerheve keâer efJeefOe 
keânueeleer nw~  

 (a) Grafting/GhejesnCe  
 (b) Vaccination/šerkeâekeâejCe   
 (c) Natural resistance/Øeeke=âeflekeâ ØeeflejesOe  
 (d) Hypersensitivity/DeeflemebJeosveMeeruelee  

HPSSC Laboratory Technician (27.09.2020) 

Ans. (b) Vaccination is a simple and safe way of 

protecting body from disease before infection.  

Vaccine contain a microorganism or virus in a 

weakened live or killed state or proteins or toxins from 

the organism it stimulating the body's adaptive 

immunity. 

• Vaccine word comes from the cowpox virus vaccinia.    
193.  In malaria pre-erythrocytic schizogony occurs 

in/ceuesefjÙee ceW efØe-SefjLeÇesmeeFefškeâ MeeFpeesieesveer GlheVe 
nesleer nw~  

 (a) Lungs/hesâheâÌ[eW ceW  (b) Liver/Ùeke=âle ceW  
 (c) Spleen/hueerne ceW (d) Kidney/Je=keäkeâ ceW 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (b) Schizogony occurs first in hepatocytes and 

then repeatedly in erythrocytes causing all the 

pathology of  malaria.  

Pre-erythrocytes state or Exo-exoerythrocytic cycle 

includes both the sporozoite invasion of the mammalian 

hot and the liver-stage.     
194.  Parasite which can be transmitted by sexual 

contact is 

  }Qefiekeâ mebheke&â Éeje mebÛeefjle nes mekeâves Jeeuee hejpeerJeer nw~  
 (a) Trichomonas vaginalis/š^eFkeâesceesveeme Jewefpevesefueme   
 (b) Trypanosoma cruzi/efšhewveesmeescee ›etâpeer   
 (c) Leishmania donovani/ueerMceeefveÙee [esveesJeeveer  
 (d) Enteromonas hominis/Sbšerjesceesveeme nesefceefveme  

HPSSC Laboratory Technician (27.09.2020) 

Ans. (a) Trichomonas vaginalis is an anaerobic 

flagellated protozoan parasite which is transmitted 

through sexual intercourse cause a disease called 

trichomoniasis,  it is more common in black women.   
195.  Weil Felix reaction fir scrub typhus show 

positivity for  
  Jeerue hesâefuekeäme DeefYeef›eâÙee efheâj m›eâye šeFheâme efkeâmekesâ 

efueS Oeveelcekeâlee ØeoefMe&le keâjlee nw?  
 (a) OX-K (b) OXK + OX19 
 (c) OX 2 (d) OX 19 

HPSSC Laboratory Technician (27.09.2020) 

                           28 / 300



 

BIOLOGY 35 YCT 

Ans. (a) Weil Felix is a non-specific agglutination test 

which detects anti-nickettsial antibodies in patients 

serum.  

• Typhus fevers are a group of diseases caused by 

bacteria (Orientia  tsutsugamushi).  

• OXK reactive agglutinins appear 10-14 day after 

onset of scrub typhus and declined subsequently with 

time.   
196.  Schick test is for  
  efMekeâ hejer#eCe efkeâmekesâ efueS nw?  
 (a) Susceptibility to diphtheria/ef[heäLeerefjÙee keâer 

mebYeeJevee   
 (b) Susceptibility to tetanus/šeršsveme keâer mebYeeJevee  
 (c) Susceptibility to Scarlet fever/mkeâeue&sš pJej keâer 

mebYeeJevee 
 (d) Susceptibility to RF/ RF keâer mebYeeJevee 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (a) The Schick test detects immunity to diphtheria 

either acquired through previous infection or 

vaccination it is highly effective method for diagnosing 

and detecting potential infection of the bacterium 

Clostridium diphtherae it is a simple but accurate 

procedure.  
197.  The medical term used for the sleeplessness is  
  efvebõenervelee kesâ efueS GheÙeesie ceW ueer peeves Jeeueer 

efÛeefkeâlmeerÙe heo nw: 

 (a) Somnambulism/meescveeceyegefuepce  
 (b) Insomnia/FvmeesefcveÙee  
 (c) Hallucination/nwuegefpevesMeve 
 (d) Nyctinuria/efvekeäšervÙegefjÙee 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (b) Insomnia is a sleeping disorder in which facing 

trouble falling or staying asleep insomnia is chronic 

when it happens at least 3 nights a week for 3 months or 

more it is not always clear what triggers insomnia but 

it's often associated with stress and anxiety.  
198.  Which of the following is not a characteristic 

symptom of diphtheria infected person ?  
  efvecve ceW mes keâewve mee Skeâ ef[heäLesefjÙee «eefmele JÙeefòeâ 

uee#eefCekeâ ue#eCe veneR nw? 

 (a) Difficulty in urination / cet$e yeneJe ceW cegefMkeâue  
 (b) Swollen glands in neck /ieues ceW hetâueer ngF& «ebefLe  
 (c) Sore throat /ieue-MeesLe 
 (d) Fever /pJej 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (a) Diphtheria is a serious infection caused by 

strains of bacterial called Corynebacteium diphtheriae 

that make a toxin which is responsible for sore throat 

fever and swollen lymph node.   

199.  DPT booster dose-1 is given at  
  DPT keâe ØeLece yetmšj [es]pe efoÙee peelee nw: 
 (a) 1-2 months /1-2 cenerves hej  
 (b) 3-9 months /3-9 ceen hej  
 (c) 10-15 months /10-15 ceen hej 
 (d) 16-24 months /16-24 ceen hej 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (d) DPT (Diphtheria, Pertussis and Tetanus) 

vaccine is consists of a sterile isotonic sodium chloride 

solution containing sodium phosphate buffer to control 

pH. All children should get five doses of DPT vaccine 

per the schedule 1
st
 booster 16-24 months and 2

nd 
 

booster 5 years. 
200.  Disease caused by Yersinia pestis is  
  Ùeefme&efveÙee hesefmšme Éeje keâewve mee jesie neslee nw? 
 (a) Trachoma /š^skeâescee  (b) Gonorrhea /ieesveesjerÙee  
 (c) Plague /huesie (d) Rabies /jsyeer]pe 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) Plague is an infectious disease that affects 

rodents caused by Yersinia pestis bacteria it spread by 

the bite of fleas that have previously fed on infected 

mice rat etc.    
201.  Sulfones are recommended in the treatment of  
  efkeâmekesâ GheÛeej ceW meuheâesvme DevegMebefmele nw? 
 (a) Tuberculosis/šeryeer (#eÙe)  
 (b) Dysentery/Deeflemeej  
 (c) Leprosy/kegâ‰ 
 (d) Scurvy/mkeâJeea 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) Sulfones is a bacteriostatic which is used in the 

treatment of leprosy.  

• Leprosy is a bacterial infection caused by 

Mycobacterium leprae that affects mainly skin, eyes and 

nose etc. 
202.  Diethyl carbamazine is used in the treatment of  
  efkeâmekesâ GheÛeej ceW [eFSefLeue keâeye&cesefpeve ØeÙegòeâ neslee 

nw? 
 (a) Hookworm infection/ntkeâJece& meb›eâceCe  
 (b) Roundworm infection/jeGC[Jece& meb›eâceCe  
 (c) Tapeworm infection/šsheJece& meb›eâceCe 
 (d) Filariasis/heâeFuesefjSefmeme 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (d) Diethyl carbamazine is a medication which is 

used in the treatment of filariasis that is caused by 

aschelminthes worm called Wuchereria bancrofti that 

transmitted by Culex mosquito.  
203.  Toxoids are used for  
  še@keämee@F[dme ØeÙegòeâ nesles nQ: 
 (a) Tuberculosis /šŸetyejkeäÙetueesefmeme kesâ efueS  
 (b) Typhoid /šeÙeheâe@Ùe[ kesâ efueS  
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 (c) Diphtheria /ef[heäLesefjÙee kesâ efueS 
 (d) Enteric fever /Deeb$e pJej kesâ efueS 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) Toxoids is chemically modified toxin from 
pathogenic microorganism the most often used toxoid 
but diphtheria derived toxoids and other proteins are 
also used occasionally.  
204.  “Varicella vaccine” is given for the prevention 

of which of following Diseases ?  
  efvecve ceW mes efkeâme yeerceejer mes yeÛeeJe kesâ efueS ‘‘Jewjermesuee 

šerkeâe’’ efoÙee peelee nw? 
 (a) Chicken pox /Úesšer ceelee  
 (b) Cervical cancer /«eerJee keâe keQâmej  
 (c) Hepatitis /nshesšeFefšme- A 
 (d) Tuberculosis /šeryeer 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (a) The Varicella vaccine is also known as chicken 
pox vaccine that protects against chickenpox. 

Chickenpox is a highly contagious disease that causes 
an itchy rash and can sometimes lead complicities  
205.  Result of Mantoux test is read after  
  cewvše@keäme hejer#eCe keâe heefjCeece heÌ{e peelee nw: 
 (a) 6 Hours /6 IeCšs heMÛeeled  
 (b) 24 Hours /12 IeCšs heMÛeeled  
 (c) 48 Hours /48 IeCšs heMÛeeled 
 (d) 96 Hours /96 IeCšs heMÛeeled 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) The Mantoux test is a tool for screening for 
tuberculosis that is major tuberculin skin tests used 
around the world in which small amount of fluid 
(tuberculin) into the skin on the lower part of arm  test 
must return within 48-72 hours to have trained health 
care worker look for reaction on the arm.  
206.  Reconstituted BCG vaccine should be used 

within/Hegve:efveefce&le BCG šerkeâe GheÙeesie ceW ues uesvee ÛeeefnS 
 (a) 6 Hours /6 Iebšs kesâ Yeerlej  
 (b) 12 Hours /12 Iebšs kesâ Yeerlej  
 (c) 18 Hours /18 Iebšs kesâ Yeerlej 
 (d) 24 Hours /24 Iebšs kesâ Yeerlej 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (a) BCG (Bacillus Calmette Guerin) is a vaccine 
for tuberculosis (TB) which is a bacterial disease.  

• Reconstituted vaccines should be used as soon as 
possible after mixing and discarded with 6-hours. 
207.  Non-ciliated peg cells are found in  
  De-jesceerÙe hesie keâesefMekeâeSB heeF& peeleer nQ 
 (a) Uterus/ieYee&MeÙe ceW  
 (b) CNS/CNS ceW  
 (c) Fallopian tube/ef[cyeJeener veueer ceW 
 (d) Stomach/DeeceeMeÙe ceW 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (c) A per cell is a non ciliated epithelial cell within 

the uterine tube the per cells capacitate spermatozoa 

making them capable of fertilizing an in the ampulla 

that make up around 10% total number of cells. 
208.  Food poisoning case with diarrhoea within 6 

hours/6 Iebšs kesâ Deboj Deeflemeej kesâ meeLe KeeÅe 
efJe<eeòeâlee keâe ceeceuee neslee nw 

 (a) S. aureus/Sme. Dee@efjÙeme  
 (b) Clostridium perfringes /keäuee@mš^eref[Ùece hejeføebâpesme  
 (c) C. botulinum/meer. yeesšgefuevece 
 (d) V.cholerae/Jeer. keâe@uesjer 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (c) Clostridium botulinum is a gram-positive rod 

shaped bacteria which cause botulism that is a rare but 

serious illness caused by a toxin that attacks body's 

nervous system. 

It is spread by the ingestion of inadequately cooked 

food or processed in which toxin has formed. 
209.  Which stage of falciparum not seen in 

Peripheral blood smear?  
  Heâeefumehesjce keâer keâewve meer DeJemLee heefjOeerÙe ®efOej 

Deeueshe ceW efoKeeF& veneR osleer nw? 
 (a) Schizont/MeeFpee@vš  
 (b) Gametocyte/iewefcešesmeeFš  
 (c) Ring for/efjbie Heâe@j 
 (d) Double ring/[yeue efjbie 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (a) Schizont stage of Plasmodium occurs in human 

liver cells and erythrocytes. 

• Erythrocytes infected with Plasmodium falciparum 

schizonts are not seen in the peripheral circulation 

because they attach to venular endothelium via knob 

like structure on the infected erythrocyte membrane.    
210.  VDRL test is an example of   
  VDRL hejer#eCe Skeâ GoenjCe nw: 

 (a) Tube test/šdÙetye šsmš keâe   
 (b) Ring test/efjbie šsmš keâe  
 (c) Slide test/mueeF[ šsmš keâe  
 (d) None of these/FveceW mes keâesF& veneR 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (c) The VDRL test is a screening test for syphilis. 

The test works by looking for antibodies in your blood 

sample specific to syphilis. 

• Venereal disease research laboratory (VDRL) test is a 

slide flocculation test. 
211.  Azoospermia is/Spetmheefce&Ùee nw 
 (a) Less sperms in semen/JeerÙe& ces keâce Meg›eâeCeg  
 (b) Non-motile sperms in  semen/JeerÙe& ceW DeieefleMeerue 

Meg›eâeCeg  
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 (c) No spermatozoa in the ejaculate/JeerÙe&heele ceW keâesF& 
Meg›eâeCeg veneR  

 (d) Dead spermatozoa in the ejaculate /JeerÙe&heele ceW 
ce=le Meg›eâeCeg 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (c) Azoospermia is the medical condition of a man 

whose semen contains no sperm it is associated with 

male infertility it affects about 1% of the male 

population. 

• It may occur because of an obstruction in the 

reproductive tract or inadequate sperm production. 
212.  Selective media for Vibriocholerae is   
  efJeefyeÇÙees keâe@uesjer kesâ efueS ÛeÙeefvele ceeOÙece nw 
 (a) Stuart/mšgDeš&  
 (b) Blood agar/®efOej Deieej  
 (c) TCBS 

 (d) Chocolate agar/Ûee@keâuesš Deieej 
HPSSC Laboratory Technician (11.03.2022) 

Ans. (c) Thiosulfate citrate bile salts sucrose agar 

(TCBS)  is a medium for the isolation of V. Cholerae 

and is widely used world wide. 

• TCBS agar is highly selective for the isolations of V. 

cholerae and V. parahaemolyticus as well as other 

Vibrio species. 

213.  Mycobacterium tuberculosis was discovered by  
  ceeFkeâesyewkeäšerefjÙece šdÙetyejkegâueesefmeme keâer Keespe keâer Leer 
 (a) Louis Pasteur/uegF& heeMÛej 
 (b) Robert Koch/je@yeš& keâesÛe  
 (c) Lister/efuemšj 
 (d) Jenner/pesvej 

HPSSC Laboratory Technician (11.03.2022) 

Ans. (b) In 1882 Dr. Robert Koch announced the 

discovery of Mycobacterium tuberculosis. The bacteria 

responsible for causing tuberculosis (TB) he was 

awarded the noble prize in medicine in 1905.     
214.  Name the parasite causing Malaria. 

  ceuesefjÙee GlheVe keâjves Jeeues hejpeerJeer keâe veece- 
 (a) Plasmodium vivax/hueepceesef[Ùece JeeFJewkeäme 
 (b) Wuchereria bancrofti /JegÛesefjÙee yeQ›eâeheäšer 
 (c) Brugia malayi/yeÇgefpeÙee ceueeF& 
 (d) Leishmania donovani/ueermeceeefveÙee [esveesJeeveer 

Kerala PSC Jr. Laboratory Asst. (07.07.2018) 

Ans. (a) The parasite causing malaria known 

Plasmodium vivax is a species of the genus 

Plasmodium, which is transmitted to humans through 

the bite of infected female Anopheles mosquitoes.  

215.  Barr body is absent in :  

  yej& yee@[er ceW DevegheefmLele neslee nw- 

 (a) Edward's syndrome/S[Je[& efmeb[^esce  
 (b) Super female/meghej ceefnuee  

 (c) Turner's syndrome/šve&j efmeb[^esce 
 (d) None of these/FveceW mes keâesF& veneR 

Kerala PSC Laboratory Technician Gr. II (09.05.2014) 

Ans. (c) Turner syndrome is a genetic condition in 

which females are born with only one X chromosome, 

rather than the usual two.  

As a result, they typically have one X chromosome and 

no Barr body, which is a condensed, inactive X- 

chromosome found in the cells of most females.  

216.  ________ cell lines appear to be immortal.  
  ................... keâesefMekeâe jsKeeSB DeefJeveeMeer Øeleerle nesleer nQ~  

 (a) Primary/cegKÙe  
 (b) Continuous/efvejblej  
 (c) Adherent/DeOesjsvš 
 (d) Suspension/efveuebyeve 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) Continuously cell lines possess immortality 

demonstrating indefinite proliferation under laboratory 

conditions, making them valuable tools for long term 

studies in various field of research. 

217.  The larger cell in cervical smears is  
  «eerJee DeeuesÙe ceW ye=nlej keâesefMekeâe nw 

 (a) Basal cell/yesmeue keâesefMekeâe 
 (b) Parabasal cell/hewjeyesmeue keâesefMekeâe  
 (c) Intermediate cell/FCšjceeref[Sš keâesefMekeâe 
 (d) Superficial cells/meghejHeâerefmeÙeue keâesefMekeâe 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (d) In cervical smears, superficial cells are larger 

than other cell types, making them easier to identify. 

They are shed from the surface of the cervix and play a 

role in evaluating cervical health. 

218.  CB-NAAT technology is used for  
  CB-NAAT lekeâveerkeâ efkeâmekesâ efueS ØeÙegòeâ nesleer nw? 
 (a) Bacterial culture/peerJeeCegkeâ mebJeOe&ve  
 (b) Bacterial identification/peerJeeCegkeâ henÛeeve  
 (c) M. Tuberculosis/Sce. šŸetyejkeäÙetueesefmeme 
 (d) Hepatitis B/nwhewšeFefšme B  

HPSSC Lab Technician (29-11-2020) 

Ans. (c) CB-NAAT (Cartidge Based Nucleic Acid 

Amplification Test) technology is used for the detection 

of mycobacterium tuberculosis and rifampicin 

resistance. It provides results within a few hours, 

significantly aiding in the early diagnosis and treatment 

of tuberculosis. 

219.  Which of the following mosquitoes act as vector 

for dengue fever? 

  [Wiet pJej kesâ efueS keâewve mee ceÛÚj Jeenkeâ kesâ leewj hej 
keâeÙe& keâjlee nw? 
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 (a) Culex/keäÙetueskeäme      (b) Anopheles/Svee@efheâueerpe  
 (c) Aedes/S[erpe (d) All of these/Ùen meYeer 

HPSSC Lab Technician (29-11-2020) 

Ans. (c) Aedes mosquito act as vector for dengue fever.  

Dengue caused flu-like symptoms and lasts for 2-7 

days. Symptoms include headache, high fever, rash and 

muscular and joint pain. It may also cause nausea and 

vomiting.    

220.  G6PD deficiency anemia is due to  
  G6PD keâceer Jeeuee SveerefceÙee efkeâme keâejCe neslee  nw? 
 (a) Membrane defect /efPeuueer $egefš  
 (b) Enzyme defect /efkeâCJekeâ $egefš  
 (c) Haemoglobin abnormality /nerceesiueesefyeve 

DemeeceevÙelee 
 (d) Blood loss /jòeâ neefve 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (b) G6PD deficiency anemia is due to enzyme 

defect known as G6PD (glucose-6-phosphate 

dehydrogenase). This enzyme helps red blood cells 

work properly. A lack of this enzyme can cause 

hemolytic anemia. 

221.  The most common form of malnutrition are the 

following except./efvecveefueefKele ceW mes ÚesÌ[keâj 
kegâhees<eCe keâe meyemes meeceevÙe ™he nw~ 

 (a) Beri-beri/yesjer-yesjer  
 (b) Protein energy main nutrition 

  Øeesšerve Tpee& kegâhees<eCe  
 (c) Marasmus/cejemceme 
 (d) Kwashiorkor/keäJeeMejkeâesj 

RRB Lab Technician (10.06.2015) 

Ans. (a) The most common form of malnutrition are the 

protein energy main nutrition, marasmus, kwashiorkor 

except beri-beri. 

222.  Scurvy caused due to deficiency of  
  mkeâJeea efkeâmekeâer keâceer mes neslee nw? 
 (a) Pyridoxal phosphate/heeÙeefj[e@keämeue heâe@mhesâš  
 (b) Cyanocobalamin/meeÙeveeskeâesyeeueeefceve  
 (c) Thiamine/LeeÙeefceve 
 (d) Ascorbic Acid/Smkeâe@efye&keâ Sefme[ 

HPSSC Laboratory Technician (27.09.2020) 

Ans. (d) Scurvy caused due to deficiency of ascorbic 

acid (vitamin C). 

Vitamin C is found in citrus fruits and vegetables. 

Symptoms of scurvy include bleeding gums fatigue, 

skin rash, weakness, bruising etc. 
223.  Which is a deficiency disease ?  
  efvecve ceW mes keâewve mee Skeâ $egefš jesie nw? 
 (a) Asthma/DemLecee  (b) Jaundice/heerefueÙee  
 (c) Scurvy/mkeâJeea (d) Cancer/keQâmej 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) Scurvy is a deficiency disease. 

Scurvy caused due to deficiency of ascorbic acid 
(vitamin C). 

Vitamin C is found in citrus fruits and vegetables. 

Symptoms of scurvy include bleeding gums fatigue, 

skin rash, weakness, bruising.  

224.  Dark adaptation time is increased in _____ 

deficient individuals./DebOekeâej Devegketâueve meceÙe 
............keâer keâceer Jeeues ueesieeW ceW yeÌ{ peelee nw~ 

 (a) Vitamin A/efJešeefceve A  
 (b) Vitamin B/ efJešeefceve B  
 (c) Vitamin C/ efJešeefceve C 
 (d) Vitamin D/ efJešeefceve D 

Haryana SSC Lab Technician (24.07.2021) 

Ans. (a) Dark adaptation time is increased in vitamin A 

deficient individuals. 

• Xeropthalmia disease occurs due to the deficiency of 

vitamia A. 

• It is the abnormal dryness of the conjuctiva and 
cornea of the eye with inflammation and ridge 

formation. 

225.  Adjuvant added in DPT vaccine is  
  DPT šerkeâekeâjCe ceW efceueeÙee peeves Jeeuee S[pegJeWš nw 
 (a) Aluminum phosphate/SuÙegefceefveÙece heâe@mhesâš  
 (b) Magnesium phosphate/cewiveerefMeÙece heâe@mhesâš  
 (c) Zinc phosphate/efpebkeâ heâe@mhesâš 
 (d) Ammonium phosphate/DeceesefveÙece heâe@mhesâš 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(a) Adjuvant added in DPT vaccine is aluminum 
phosphate. 
Each 0.5-ml dose contains aluminium hydroxide as 
adjuvant (not more than 0.6 mg aluminium by assay) 
and 4.5 mg of sodium chloride. 

226.  Ayre's spatula is used to scrape/DeeÙejs-mhewšguee keâe 
GheÙeesie KegjÛeves kesâ efueS efkeâÙee peelee nwŠ 

 (a) Nipple discharge/efvehheue ef[mÛeepe&  
 (b) Pap smear/hewhe mceerÙej  
 (c) Biopsy/yeeÙeeshmeer 
 (d) Sputum/Letkeâ 

GSSSB Laboratory Technician(30.11.2019) 

Ans. (b) Ayre's spatula is utilized for pap smears. it 

scrapes cells from the cervix, aiding in cervical cancer 

screening. This method helps detect abnormalities early, 

facilitating effective treatment and prevention strategies.  

227.  Non-enzymatic addition of any sugar to protein 

is called/Øeesšerve ceW efkeâmeer Meke&âje kesâ iewj SbpeeFceer keâes 
efceueevee keânueelee nw Š  

 (a) Glycosylation /iueeFkeâesmeeFuesMeve   
 (b) Glycogenation /iueeFkeâesefpevesMeve   
 (c) Glycation /iueeFkesâMeve  
 (d) Glycolysis /iueeFkeâesefueefmeme  

Kerala PSC Lab Technician(21.01.2023) 
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Ans. (c) Glycation is the non-enzymatic process where 

sugars react with proteins, altering their structure and 

function. This modification is implicated in various age-

related diseases like diabetes and neurodegenerative 

disorders.   
228.  Tumour marker of ovarian cancer is 
  ieYee&MeÙe keâe keQâmej keâe šŸetcej ceeke&âj nw Š  
 (a) T24   (b) CEA  
 (c) CA 19.9 (d) CA 125  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (d) CA 125 is a protein biomarker elevated in 

ovarian cancer. It is used for diagnosis, monitoring 

treatment response and detecting recurrence. The 

elevated CA 125 levels indicate potential ovarian cancer 

presence or progression.   
229.  Metabolic disorder associated with abnormal 

metabolism of Tyrosine is called  
  šeFjesefmeve kesâ DemeeceevÙe cesš@yeesefuepedce mes mecyeefvOele 

cesš@yeesefuekeâ efyekeâej keâes keâenles nQ 

 (a) Albinism/Ssueefyeefvepedce  
 (b) Alkaptonuria/ SuekewâhšesvÙetefjÙee  
 (c) Phenylketonuria / hesâveeFue kesâšesvÙetefjÙee 
 (d) Tyrosinosis / šeÙejesefmeveesefmeme 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) Alkaptonuria is a metabolic disorder where the 

body cannot breakdown tyrosine properly, leading to 

the accumulation of homogentisic acid, causing urine 

and other body fluids to turn dark when exposed to air.  

230.  The agglutinogen develop in the embryo after 

how many days of conception?  
  ieYe&OeejCe kesâ efkeâleves efove yeeo YeütCe ceW De@iuegefšveespesve 

efJekeâefmele neslee nw? 
 (a) 10  (b) 20  
 (c) 30 (d) 40 

DSSSB Lab Assistant (10.05.2015) 
Ans. (d) The agglutinogen develops in the embryo 

approximately 40 days after conception. This process 

marks a crucial stage in the development of the immune 

system, facilitating the production of antibodies to 

combat potential pathogens and foreign substances.   
231.  What is the normal bleeding time, by duke 

method?  
  [Ÿetkeâ heæefle kesâ Devegmeej meeceevÙe jòeâœeeJe keâer DeJeefOe 

efkeâleveer nw? 

 (a) 1 - 6 minute/1- 6 efceveš  
 (b) 6 - 10 minute/6 - 10 efceveš  
 (c) 10 -14 minute/10 - 14 efceveš 
 (d) 15-20 minute/15-20 efceveš 

DSSSB Lab Assistant (10.05.2015) 

Ans. (a) The normal bleeding time, determined by the 

Duke method, ranges from 1 to 6 minutes. This method 

assesses the time it takes for bleeding to stop after a 

standardized incision. It aids in diagnosing disorders 

related to platelet function and vascular integrity.    

232.  Chronic case of a disease denotes:  
  yeerceejer keâer oerIe&keâeefuekeâ efmLeefle _______ keâe Åeeslekeâ 

nw~ 

 (a) Severe attack of the disease/jesie keâe keâ°ceÙe 
Dee›eâceCe  

 (b) Mild attack of the disease/jesie keâe cevo DeJeefOe mes 
jesie  

 (c) Disease occurring for a very long period/yengle 
uebyeer DeJeefOe mes jesie 

 (d) Disease occurring for a short period of time 

/DeuheeJeefOe jesie 
Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) "Chronic case of a disease" denotes a prolonged 

state of illness, lasting for an extensive period, 

indicating a condition that persists over a long duration 

rather than a brief or acute duration.  

233.  Papanicolaou is 
  heeheeveerkeâeueeG nw- 

 (a) A plant/Skeâ heewOee 
 (b) An animal/Skeâ ØeeCeer  
 (c) A scientist/Skeâ Jew%eeefvekeâ 
 (d) None of te above/Skeâ Yeer veneR 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (c) Papanicolaou refers to a scientist named 

George Papanicolaou, known for developing the Pap 

smear test, a screening method for cervical cancer 

detection, which has saved countless lives worldwide. 

234.  _______is the major form found during 

intrauterine life and at birth.  
  ...............ieYee&MeÙe kesâ Yeerlej kesâ peerJeve Deewj pevce kesâ 

meceÙe heeÙee peeves Jeeuee cegKÙe ™he nw~ 
 (a) HbA  
 (b) HbA2  
 (c) HbF 
 (d) None of the above/Gòeâ ceW mes keâesF& veneR 

Haryana SSC Lab Technician (24.07.2021) 

Ans. (c) Hemoglobin F (HbF) is the primary form 

present during intrauterine life and at birth. It has a 

higher affinity for oxygen, facilitating oxygen transfer 

from maternal to fetal circulation. HbF gradually 

diminishes after birth, replaced by adult hemoglobin 

variants.   
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235.  Paediatrics deals with care and cure of diseases 

of   
  heeref[Ùeeefš^keäme mebyeefOele nw Fvekeâer mesJee Deewj megßeg<ee mes- 

 (a) Children/yeÛÛes  
 (b) All ages/meYeer Gceü 
 (c) Accident cases/ogIe&švee 
 (d) None of these/FveceW mes keâesF& veneR 

HPSSC Laboratory Assistant 10.04.2022 

Ans. (a) Paediatrics focuses on providing medical care 

and treatment exclusively for children, encompassing 

their physical, mental and development health needs 

from infancy through adolescence.    

236.  Labour takes place after ...... days of last 

menstrual period :/DeeefKejer ceneJeejer kesâ ......... efoveeW 
kesâ yeeo ØemeJe neslee nw: 

 (a) 300  
 (b) 280  
 (c) 365 

 (d) 240 
RRB Lab Technician (10.06.2015) 

Ans. (b) Labor typically occurs about 280 days after the 

last menstrual period, marking the duration of a full-

term pregnancy. This timeframe is used to estimate the 

expected due date for childbirth.    
237.  Signs of true labour are not the following 

except.  
  efvecve ceW mes ______keâes ÚesÌ[keâj ØemeJe keâe mener mebkesâle 

veneR nw~ 

 (a) Painful rhythmic uterine contraction 

  oo&veekeâ ueÙeyeæ ieYee&MeÙe mebkegâÛeve  
 (b) Dilatation of the OS/Dees Sme keâe HewâueeJe  
 (c) Fetal movement/YeütCe keâe nueÛeue 
 (d) Show/efoKevee 

RRB Lab Technician (10.06.2015) 

Ans. (c) True labour signs include painful rhythmic 

uterine contractions, dilatation of the OS (cervical 

opening) and the presence of a show (mucus discharge). 

The fetal movement is not a direct indicator of true 

labour.   

238.  Mitomycin is used as 
  ceeFšesceeFefmeve ØeÙegòeâ neslee nw, 

 (a) Anti-biotic /Sbšer-yeeÙeesefškeâ kesâ leewj hej  
 (b) Anti-cancer /Sbšer-keQâmej kesâ leewj hej  
 (c) Anti-fungal /Sbšer-hebâieue kesâ leewj hej 
 (d) Anti-thyroid /Sbšer-LeeÙejeF[ kesâ leewj hej 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (b) Mitomycin functions as on anti-cancer drug, 

inhibiting cancer cell growth and spread. It's used in 

treating various cancers by damaging the DNA within 

the cancer cells, ultimately leading to cell death.  
239.  Which drugs among the following cause failure 

of oral contraceptive ?  
  cegKe-ieYe& efvejesOekeâ efJeheâuelee keâe keâejCe efvecve ceW mes 

Skeâ [^ie nw: 

 (a) Isoniazid /DeeFmeesveeFefpe[  
 (b) Rifampicin /efjheâeefcheefmeve  
 (c) Pyrazinamide /heeÙejeefpeveSceeF[ 
 (d) Ethambutol /F&LeeceyÙetšesue 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (b) Rifampicin can cause oral contraceptive failure 

by accelerating the breakdown of hormones in the liver, 

reducing their effectiveness. This interaction may lead 

to unintended pregnancy while using oral contraceptives 

alongside rifampicin.   

240.  Which medium is used for recovery of 

opportunistic and dimorphic pathogens?  
  DeJemejJeeoer leLee efÉ™heer jesieeCegDeeW keâer efjkeâJejer kesâ 

efueS keâewve mee ceeOÙece neslee nw? 

 (a) SDA agar/ SDA Deieej  
 (b) Malt extract agar/ceeuš meej Deieej  
 (c) Brain heart infusion agar/ceefmle<keâ-ùoÙe mebueefÙele  

Deieej 
 (d) None of these/FveceW mes keâesF& veneR 

HPSSC Lab Technician (29-11-2020) 

Ans. (c) Brain heat infusion agar is used for the 

recovery of opportunistic and dimorphic pathogens due 

to its nutrient-rich composition, which supports the 

growth of a wide range of microorganisms.  

241.  The Ayer's spatula is used to obtain  
  keäÙee Øeehle keâjves kesâ efueS DeeÙesj keâe mhewÛeguee ØeÙegòeâ 

neslee nw? 

 (a) Gastric smears/pe"jerÙe mceerÙej  
 (b) Oral smears/cegKeerÙe mceerÙej  
 (c) Sweat smears/hemeerves keâe mceerÙej 
 (d) Vaginal smears/Ùeesefve mceerÙej 

HPSSC Lab Technician (29-11-2020) 

Ans. (d) The Ayer's spatula is utilized to obtain vaginal 

smears, aiding in the collection of samples for 

diagnostic purposes, particularly in gynecology for 

assessing cellular abnormalities and infections.  
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Chapter-3 
 

Classification of Animal 

Kingdom 
  

1.  Which of the following animals reproduced by 

fragmentation?/efvecveefueefKele ceW mes keâewve mee ØeeCeer 
efJeKeC[ve kesâ Éeje Øepeveve keâjlee nw ?  

 (a) Amoeba/Deceeryee  (b) Spirogyra/mheeFjesieeFje   
 (c) Papaya/heheerlee  (d) Hydra/neF[^e 

CG-FSL-Lab-Attendant-2024 
Ans. (b) :Spirogyra reproduces by fragmentation where 

the parent organism breaks up into small parts, each of 

which can grow into a new complete individual.  

2.  Internal digestion is mainly seen in which 

organism?/Deebleefjkeâ heeÛeve cegKÙe ™he mes efkeâme peerJe 
ceW osKee peelee nw ?  

 (a) Amoeba/Deceeryee  (b) Fish/ceÚueer  
 (c) Bird/he#eer (d) Mammals /mleveOeejer 

CG-FSL-Lab-Attendant-2024 
Ans. (a) : Internal digestion is mainly seen in organism 

like Amoeba.  

In this process food is ingested and digested within the 

body. Enzymes breakdown the food particles, allowing 

nutrients to be absorbed and utilized by the organism 

for energy and growth.  

3. Dogs can smell a body up to_____ feet 

underwater./kegâòes heeveer kesâ Devoj _____ Heâerš lekeâ 
Mejerj keâes metIeB mekeâles nw~   

 (a) 30  (b) 50  
 (c) 60 (d) 70 

HPSSC Laboratory Assistant (10.07.2021) 

Ans. (a) Dogs can detect a body upto 30 feet 

underwater due to their highly sensitive sense of smell, 

which aids in tasks such as search and rescue 

operations.   
4.  The migration of fish from fresh water to 

marine waters is known as :  
  mecegõ mes leepee heeveer ceW ceÚefueÙeeW keâe ØeJeeme Fme Øekeâej 

kesâ Debleie&le Deelee nw~ 
 (a) Diadromous/[eÙee[^esceme 
 (b) Catadromous/kesâše[^esceme  
 (c) Anadromous/Svee[^esceme 
 (d) None of the above/Ghejeskeäle ceW mes keâesF& veneR 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) Catadromous fish migrate from freshwater to 
marine waters to spawn. Unlike anadromous fish, they 
spend most of their lives in freshwater and only migrate 
to the ocean for reproduction.   
5.  Conversion coefficient of fish nitrogen to 

protein is :  
  ceÚueer veeFš^espeve mes Øeesšerve keâe ™heeblejCe iegCeebkeâ nw : 
 (a) 6.98/6.98 (b) 6.25/6.25  
 (c) 6.38/6.38 (d) 6.68/6.68 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) The conversion coefficient of fish nitrogen to 
protein in 6.25. This means that for every gram of 
nitrogen found in fish tissue, it is equivalent to 6.25 
grams of protein. It is a standard method used to 
estimate protein content in fish and is widely accepted 
in fisheries and nutrition research.    
6.  The arrangement of groups in an orderly 

sequence is called as : 
  Skeâ JÙeJeefmLele Deveg›eâce ceW mecetneW keâer JÙeJemLee keâes keäÙee 

keâne peelee nw : 
 (a) Hierarchy/heoeveg›eâce  (b) Genetics/pesvesefškeäme  
 (c) Taxonomy/JeieeakeâjCe (d) Biology/peerJe efJe%eeve 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) Hierarchy refers to the organization of groups 
in a systematic order, where each group is ranked 
according to its level of importance or authority, 
creating a structured and organized arrangement.    
7.  ______is a marine ornamental fish.  
  _______mecegõer mepeeJešer ceÚueer nw~ 
 (a) Pomacanthus imperator/heesceekeQâLeme Fchesjšj  
 (b) Poecilia latipinna/heesF&meerefueÙee uewefšefhevve  
 (c) Betta splendens/yesóe mehueW[Wme 
 (d) Pterophyllum scalare/šsjesheâeFuece mkesâuej 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) Pomacanthus imperator, also known as the 
Emperor Angelfish, is a popular marine ornamental 
fish. It is prized for it’s vibrant colors and striking 
appearance, making it a sought- after species in the 
aquarium trade.  
8.  White spot disease in aquarium fishes is 

caused by________.  
  SkeäJewefjÙece ceÚefueÙeeW ceW MJesle Oeyyee yeerceejer keâe 

keâejCe_____nw~ 
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 (a) Ichthyophtheirius multifillis 

  FÛeLeeÙeesheâLesjerGmed ceušerefheâueerme  
 (b) Ictalurus punctatus/Fkeâšeueg®me hegvkeäšelegme  
 (c) White spot virus/MJesle Oeyyee JeeÙejme 
 (d) None of these/FveceW mes keâesF& veneR 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) White spot disease in aquarium fishes is caused 

by Ichthyophtherius multifiliis, a parasitic protozoan. It 

manifests as white spots on the fish's body and fins, 

leading to irritation and potential death if untreated.     
9.  _______is a synthetic compound used for 

induced spawning of finfish :  
  efheâveceÚueer keâer Øesefjle mhee@ve kesâ Fmlesceeue kesâ 

efueS______Skeâ ke=âef$ece Ùeewefiekeâ nw~ 
 (a) Pituitary gland/heerÙet<e «ebefLe  
 (b) Ovaprim/DeesJeeefØece  
 (c) MS-22/SceSme-222 
 (d) GTH-ii/peeršerSÛe-ii 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) Ovaprim is a synthetic compound used to 

induce spawning in finfish. It helps synchronize and 

stimulates ovulation, aiding in artificial reproduction 

efforts by facilitating controlled breeding in aquaculture 

settings.    
10.  Bitter flavor in spoiled fish is due to______. 

  Kejeye ceÚueer ceW keâÌ[Jee mJeeo___keâer Jepen mes neslee nw~ 

 (a) Hypoxanthine/neFheeskeämeeefvLeve 
 (b) IMP/DeeF& Sce heer 
 (c) NH3/ NH3 
 (d) AMP/S Sce heer 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) The bitter taste in spoiled fish is mainly caused 

by high levels of hypoxanthine. When fish spoils, 

hypoxanthine increases, contributing to the 

development of a bitter flavor.  

11.  Factors that limits storage life of frozen fish is: 

  peceer ngF& ceÚueer kesâ Yeb[ejCe kesâ peerJeve keâes keäÙee meerefcele 
keâjlee nw : 

 (a) Changes in protein/Øeesšerve ceW heefjJele&ve 
 (b) Oxidation changes in fat/Jemee ceW Dee@keämeer[sefšJe 

heefjJele&ve 
 (c) Discoloration/jbie efyeieeÌ[vee 
 (d) All of these/meYeer 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (d) The storage life of frozen fish is limited by 

various factors, including changes in protein 

structure, oxidation of fats leading to rancidity and 

discoloration. These processes degrade quality over 

time, reducing the fish's shelf life and palatability.  

12.  CPUE is the most commonl used index of ___ : 

/meerheerÙetF&____keâe meyemes DeefOekeâ ØeÙegkeäle metÛekeâebkeâ nw : 
 (a) Total abundance/kegâue yengleeÙele 
 (b) Relative abundance/meehes#e ØeÛegjlee  
 (c) (a) and (b)/ (a) Deewj (b) 
 (d) Neither (a) nor (b)/ ve (a) Ùee (b) 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (c) CPUE, or Catch Per Unit Effort serves as an 
index of both total abundance and relative abundance in 
fisheries biology. It measures the average catch of fish 
per unit of fishing effort, providing insights into the 

overall and relative population sizes.    
13.  Muga silk is produced by the larva of ______ .  
  cetiee jsMece .............. kesâ ef[bYe Éeje efveefce&le neslee nw~ 
 (a) Antheraea paphia/SbLesefjÙee heefheâÙee  
 (b) Attacus ricini/Dešekeâme efjefmeveer  
 (c) Antheraea assamensis/SbLesefjÙee Smeecesefvmeme 
 (d) Attacus atlas/Dešwkeâme Dee@ušdme 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (c) Muga silk is spun by the larvae of the 
Antheraea assamensis moth. It is indigenous to Assam, 
India, these larvae produce a golden-colored silk highly 

valued for its durability and sheen.  
14.  Which among the following is a physiological 

character of Gold fish (a common aquarium 

fish)?  
  efvecveefueefKele ceW mes keâewve megvenjer ceÚueer (Skeâ meeceevÙe 

SkeäJesefjÙece ceÚueer) keâe Meejerefjkeâ ue#eCe nw? 
 (a) Thermotolerance/leeheerÙe meefn<Ceglee (Lesceexšesuesjbme)  
 (b) Lack of teeth/oeBleeW keâer keâceer  
 (c) Tolerance to acids/Decue kesâ Øeefle meefn<Ceglee 
 (d) Absence of stomach/hesš keâer DevegheefmLeefle 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (d) Goldfish lack a stomach, which means they 
have a straight digestive tract. Instead, they possess a 
long intestine for digestion, making them adapted for 

constant feeding and processing of food.  
15.  In aquaculture, nitrogenous fertilizer is supplied 

by:/celmÙeheeueve (SskeäJekeâuÛej) ceW, veeFš̂espeve GJe&jkeâ keâer 
Deehetefle& efvecve kesâ Éeje keâer peeleer nw: 

 (a) Fish culture/celmÙeheeueve  
 (b) Organic compost/pewefJekeâ Keeo  
 (c) Ammonium nitrate/DeceesefveÙece veeFš^sš 
 (d) Potassium nitrate/heesšwefMeÙece veeFš^sš 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (a) In aquaculture, fish culture provides 

nitrogenous fertilizer through fish waste, which contains 

ammonia and other nitrogen compounds. These serve as 

nutrients for aquatic plants, promoting their growth and 

sustaining the ecosystem.  
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16.  _______ is infertile female developed from 

fertilized eggs./.............. efve<esefÛele Deb[eW mes efJekeâefmele 
DevegJe&j ceeoe nw~ 

 (a) Queen bee/jeveer ceOegcekeäKeer  
 (b) Worker bee/ßeefcekeâ ceOegcekeäKeer 
 (c) Drone/vej ceOegcekeäKeer ([^esve) 
 (d) Female bee/ceeoe ceOegcekeäKeer 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) In a beehive, infertile female worker bees 
develop from fertilized eggs. They perform various 
tasks within the colony, such as foraging, nursing larvae 
and building comb structures.  
17.  Honeybees mix beeswax and resins to produce 

__________.  
  ceOegceefkeäKeÙeeB ................ keâe Glheeove keâjves kesâ efueS 

ceOegceesce Deewj jsefpeve keâes efceueeleer nQ~ 
 (a) Royal Jelly/je@Ùeue pesueer (b) Honey/Meno  
 (c) Propolis/Øeesheesefueme (d) Venom/efJe<e 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (c) Honeybees combine beeswax and plant resins 

to create propolis, a sticky substance used to seal gaps 

in the hive, reinforce the structure and protect against 

pathogens and invaders.   
18.  Abdominal dropsy of Carps is caused by____ .  
  keâehme& keâer Sy[esefceveue [^e@hmeer .......... kesâ keâejCe nesleer nw~ 
 (a) Aeromonas hydrophila/Sjesceesveeme neF[^esefheâuee  
 (b) Edwardsiella ictaluri/S[Je[&defmeSuee Fkeäšeuegjer  
 (c) Trypanosoma/efš^hewveesmeescee 
 (d) Myxobolus/ceeÙekeämeesyeesueme 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (a) Abdominal dropsy in carps is caused by the 

bacterium Aeromonas hydrophila. It leads to fluid 

accumulation in the abdominal cavity, resulting in 

swelling and ultimately affecting the fish's health and 

survival.   
19.  Who proposed five kingdom classification? 
  heeBÛe peiele JeieeakeâjCe efkeâmeves ØemleeefJele efkeâÙee? 
 (a) Ernst Mayr /Deves&mš ceeÙej  
 (b) R.H. Whittakar /Deej.SÛe. efJnšskeâj 
 (c) M.W. Beijerinck /Sce.[yuÙet. yeerpeefjefvekeâ 
 (d) D.I. Ivanovsky /[er.DeeF&. FJeeveesJemkeâer 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (b) R.H. Whittakar proposed the five kingdom 

classification in 1969 based on cell structure, thallus 

organization, mode of nutrition etc.  

Monera, protista, fungi, plantae and animalia .  
20.  Blue whale is placed under 
  veerueer Jnsue keâes efkeâmekesâ Debleie&le jKee ieÙee nw? 
 (a) Endangered/mebkeâš«emle  
 (b) Critically endangered/iebYeerj mebkeâš«emle 

 (c) Rare/efJejue 
 (d) Extinct/efJeueghle 
MP VYAPAM Lab Technician (18.10.2015, Shift-III) 

Ans. (a) Blue whale are threatened species by 
environmental changes and other factors, blue whales 
are listed as endangered under the endangered species 
act and protested under the marine mammal production 
act.   
21.  Internal fertilization is the characteristic 

feature of the most species of order :  
  efkeâme mecetn keâer DeefOekeâebMe peeefleÙeeW ceW Deebleefjkeâ efve<esÛeve 

keâer efJeMes<elee nw : 
 (a) Apoda/Dehees[e  (b) Caudata/keâe@[sše  
 (c) Anura/SvÙetje 
 (d) Lissamphibia/efuemeScHeâerefyeÙee 

UKSSSC Lab Assistant (19.05.2019) 

Ans. (b) Caudata is a order of amphibia that include 
salamanders in which fertilization occurs in the cloaca 
during the few minutes proceeding  oviposition. Thus 
while fertilization is internal embryo development is 
entirely external.  
22.  Excretory organ in insects is 

  keâerÌ[eW ceW Glmepeea Debie nQ: 
 (a) Green gland/nefjle «ebefLe 
 (b) Malpighian tubules/cewueheerieer veefuekeâeSB 
 (c) Nephridia/veseføeâef[Ùee 
 (d) Protonephrida/DeefOeJe=keäkeâ 

Kerala PSC Jr. Laboratory Asst. (07.07.2018) 

Ans. (b) Malpighian tubules is a type of excretory 
organs and osmoregulatory system in insects. Which is 
analogous organ to kidney. It is corresponding organs of 
annelids and vertebrates.  
23.  Which of the following has a laterally 

compressed body and no wings? 

  efvecveefueefKele ceW mes efkeâmekesâ heeme heeÕe& mebkegâefÛele Mejerj 
neslee nw Deewj keâesF& hebKe veneR neslee nw? 

 (a) Mosquitoes/ceÛÚjeW (b) Lice/petB 
 (c) Fleas/efhemmet (d) Bugs/keâerÌ[s 

Kerala PSC Laboratory Technician Gr. III (14.12.2016) 

Ans. (c) Fleas is a group of blood sucking insects, that 
are important carriers of disease which are parasites on 
the exterior of the host.  

Fleas are small wingless insects with a tough and 
laterally compressed body.  

24.  Sexes are separate in which of the following? 

  efvecveefueefKele ceW mes efkeâmeceW efuebie Deueie-Deueie neslee nQ? 

 (a) Amphistomes/SefcHeâmšescme 
 (b) Schistosomes/efMemšesmeescme 
 (c) Distome/ef[mšesce 
 (d) Monostome/ceesveesmšesce 

Kerala PSC Laboratory Technician Gr. III (14.12.2016) 

Ans. (b) Schistosomes belongs to phylum 

Platyhelminthes commonly known as bilharzia or snail 

fever. It is dioecious animal show sexual dimorphism 

male are short while female are large & both are 

attached with gynaecophoric canal.    

                           37 / 300



 

BIOLOGY 44 YCT 

25.  Nematodes are best fixed in: 

  met$e ke=âefce keâes DeÛÚs mes efmLej keâjles nQ~  
 (a) 10% formalin/10%heâece&xueerve 
 (b) Bouin's fluid/yeesFve õJÙe 
 (c) Phenol/efheâvee@ue 
 (d) Hot glycerine alcohol/iece& efiuemejerve Sukeâesnue 

Kerala PSC Laboratory Technician Gr. III (14.12.2016) 

Ans. (d) Nematodes belongs to phylum Aschelminthes 

which include free living forms as well as parasite of 

plants.  

Hot glycerin alcohol is the preferred fixative for 

nematodes due to its ability to preserve morphology 

effectively. It penetrates tissues well and maintains the 

integrity of specimens.  

26.  What is meant by Pisciculture is?  
  celmÙe heeueve keäÙee nw? 
 (a) The professional growing of trees/hesMesJej ™he mes 

hesÌ[eW keâer Kesleer keâjvee  
 (b) The professional growing of silver/hesMesJej ™he 

mes Ûeeboer yeveevee  
 (c) The professional growing of fish/hesMesJej ™he mes 

ceÚueer heeueve keâjvee 
 (d) The professional growing of silk/hesMesJej ™he mes 

efmeukeâ keâer Kesleer keâjvee 
MP VYAPAM Lab Technician (18.10.2015, Shift-III) 

Ans. (c) Pisciculture is the professional cultivation of 

fish for commerical purposes. It involves raising fish in 

controlled environments like ponds or tanks for food 

production or commercial sale. 
27.  Fisheries sector is operated in_____, 
  celmÙe heeueve keâe mebÛeeueve_____ceW efkeâÙee peelee nw~ 
 (a) Cold areas/"v[s #es$e  
 (b) Hot areas/iece& #es$e  
 (c) Both the above/GheÙeg&keäle oesveeW 
 (d) None of these/FveceW mes keâesF& veneR 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) The fisheries sector mainly operates in cold 

areas because they offer optimal conditions for fish 

farming and harvesting, supporting the industry’s 

growth and sustainability.  

28.  All the three species of anopheles have a 

secondary exo-erythrocytic stage, except  
  Skeâ keâes ÚesÌ[keâj meYeer leerve SveeheâerueeW ceW efÉleerÙekeâ 

FefjLeÇesmeeÙeefškeâ DeJemLee nesleer nw 
 (a) Plasmodium vivax/hueepceesef[Ùece JeeFJeskeäme  
 (b) Plasmodium malariae/hueepceesef[Ùece ceuesefjÙeeF&  
 (c) Plasmodium ovale/hueepceesef[Ùece DeesJesue 
 (d) Plasmodium falciparum/hueepceesef[Ùece heâeumeerhesjce 

HPSSC Laboratory Assistant (25.07.2019) 

 Ans.(d) Plasmodium falciparum does not have a 

secondary exo-erythrocytic stage.  

29.  Haemozoin is/nerceespJeeFve nw 
 (a) a precursor of haemoglobin/nerceesiueesefyeve keâe 

De«eCeer  
 (b) a toxin from Streptococcus species/mš^shšeskeâeskeâme 

mheerMeerpe keâe še@efkeämeve  
 (c) a toxin from Plasmodium species/hueepceesef[Ùece 

meheerMeerpe keâe še@efkeämeve 
 (d) a toxin from Haemophilus species/nerceesefheâueme 

mheerMeerpe keâe še@efkeämeve 
HPSSC Laboratory Technician (27.09.2020) 

Ans. (c) Haemozoin is not quite a toxin, but rather a by 

product of the plasmodium parasite’s digestion process. 

Malaria parasites feed on hemoglobin, the protein in red 

blood cells that carries oxygen throughout the body. As 

they digest hemoglobin they release a toxic by product 

called heme, to protect themselves from this toxic heme, 

the parasites convert it into an insoluble crysalline from 

called haemozoin.   

30.  Which parasite is single-celled, simple 
organism mainly consisting of a nucleus and 
cytoplasm ?  

  cegKÙele: kesâvõkeâ Deewj keâesefMekeâe-õJÙe mes efveefce&le Skeâue 
keâesefMekeâer mejue peerJe hejpeerJeer keâewve mee nw? 

 (a) Commensal /menYeespeer   
 (b) Protozoa /ØeesšespeesDee  
 (c) Endoparasite /SC[eshesjepeeFš 
 (d) Helminths /nsefucevLepe 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (b) Protozoa are indeed single-celled simple 
organisms consisting of a nucleus and cytoplasm. They 
are classified as eukaryotes and include various 
parasitic species such as plasmodium, Trypanosoma and 
Giardia lamblia.  

31.  Vegetative stage of intestinal protozoan is also 
called/Debelees kesâ ØeesšespeesDeve keâer keâeefÙekeâ DeJemLee Ùen 
Yeer keânueeleer nw 

 (a) Trophozoite stage/hees<eeCeg DeJemLee  
 (b) Cystic stage/hegšerÙe DeJemLee  
 (c) Dormant stage/Øemeghle DeJemLee 
 (d) All of these/Ùen meYeer 

HPSSC Sr. Laboratory Technician Gr.II(23.09.2020) 

Ans. (a) The vegetative stage of intestinal protozoa is 
often refered to as the trophozoite stage. It's responsible 
for colonization and causing symptoms in hosts. 

32.  Which of the following parasites is called liver 
fluke?  

  efkeâme hejpeerJeer keâes efpeiej DemLeeF& keânles nQ? 
 (a) Ancylostoma duodenale/SbmeeFueesmšescee [dÙet[svesue  
 (b) Toxoplasma gondii/še@keämeeshueepcee ieesv[eF&  
 (c) Fasciola hepatica/hewâefMeDeesuee efnhesefškeâe 
 (d) Plasmodium vivax/hueepceesef[Ùece JeeFJeskeäme 

DSSSB Laboratory Technician (2012) 

Ans. (c) Fasciola hepatica also known as the common 
liver fluke or sheep liver fluke is a parasitic trematode 
that infects the liver and bile ducts of various mammals 
including humans, sheep, cattle and other herbivores.  
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33.  Trichuris trichiura is commonly known as  
  š^eFkeâjerme š^eFkeäÙegje keâes meeceevÙele: _____ keânles nQ~ 
 (a) Hookworm/ngkeâ ke=âefce  
 (b) Whipworm/keâes[e ke=âefce  
 (c) Tapeworm/heâerlee ke=âefce 
 (d) Stickworm/ÚÌ[er ke=âefce 

DSSSB Laboratory Technician (2012) 

Ans. (b) Trichuris trichiura is indeed commonly known 
as the whipworm. It’s a parasitic roundworm that injects 
the large intestine of humans and other mammals. 

34.  _______ secretes a toxic fluid called ascaron.  
  _______ Skeâ efJe<ewuee õJe Smkesâje@ve ŒeeefJele keâjles nQ~ 
 (a) Ascaris lumbricoides/Smkesâefjme uegbefyeÇkeâesF[dme  
 (b) Ancylostoma duodenale/SbmeeFueesmšescee [dÙet[svesue  
 (c) Trichuris trichiura/š^eFkeâjerÙe š^eFkeäÙegje 
 (d) Enterobius vermicularis/SbšsjesyeeÙeme JeceeakeäÙeguesefjme 

DSSSB Laboratory Technician (2012) 

Ans. (a) Ascaris lumbricoides secretes a toxic fluid 

called ascaron, contributing to its pathogenic effects in 

the host's body, causing various symptoms. 

35.  ________ is found in the exoskeletons of 
crustaceans. 

  ›egâmšsefMeÙevme kesâ yeefn:kebâkeâeue ceW ______ heeÙee peelee nw~ 
 (a) Chylomicron/kewâueesceeF›eâe@ve  
 (b) Cholesterol/keâesuesmš^eue  
 (c) Chitin/keâeFefšve 
 (d) Cholic acid/keâesefuekeâ Sefme[ 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) Chitin is long-chain polymer found in the 
exoskeletons of crustaceans like crabs, lobsters, and 
shrimps, providing structural support and protection 
against environmental challenges. 
36.  A plant species is said to be 'endemic' to a 

region if it ______ 
  efkeâmeer heeohe Øepeeefle keâes efkeâmeer #es$e kesâ efueS ‘mLeeefvekeâ’ 

keâne peelee nw Ùeefo Jen ______________~   
 (a) is the most common species found in that area  

  Gme #es$e ceW heeF& peeves Jeeueer meJee&efOekeâ Deece Øepeeefle nw  
 (b) is a  species which can not be grown 

anywhere out side that particular region 
  Ssmeer Øepeeefle nw, efpemes Gme efJeMes<e #es$e kesâ yeenj keâneR Yeer 

veneR GieeÙee pee mekeâlee nw     
 (c) it is a rare species found in that area and is in 

danger of extinction  

  Gme #es$e ceW heeF& peeves Jeeueer ogue&Ye Øepeeefle nw Deewj Gmekesâ 
efJeueghle nesves keâer DeeMebkeâe nw    

 (d) is a species which is found naturally only in 
that area 

  Ssmeer Øepeeefle nw, pees Øeeke=âeflekeâ ™he mes kesâJeue Gme #es$e ceW 
heeF& peeleer nw   

NVS Lab Attendant(09.03.2022) 

Ans. (d) Endemic species are those that are native and 
restricted to a particular geographic area, meaning they 

are found naturally only in that specific region no where 
else. This term is commonly used in biology and 
ecology to describe species with limited distribution 
ranges. 
37.  One of the following organism is not included 

in the phylum Mollusca. 
  efvecveefueefKele ceW mes Skeâ peerJe ceesuemkeâe mebIe ceW Meeefceue 

veneR nw~  
 (a) Chaetopleura/Ûesšeshuetje (b) Aplysia/DehueerefmeÙee   
 (c) Ophiura/DeesheäÙetefjÙee  (d) Loligo/ueesefueiees  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (c) Ophiura is not included in the phylum 
Mollusca. Ophiura belongs to the phylum 
Echinodermata, specifically to the class ophiuroidea 
which includes brittle stars.  
38.  Pseudocoelom is found only in animals 

belonging to the phylum 
  mhet[eefmeuesece kesâJeue heâeFuece mes mecyeefvOele peeveJejeW ceW 

heeÙee peelee nw Š  
 (a) Cnidaria/veeF[sefjÙee   
 (b) Aschelminthes/SmkesâefuceLeerpe   
 (c) Mollusca/ceesuemkeâe  
 (d) Echinodermata/FkeâeFvees[cexše  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (b) Pseudocoelom is a body cavity that is not 

completely lined by mesoderm. It is found in animal 

belonging to the phylum Aschelminthes, also known as 

Nematoda (roundworm) and Rotifera (rotifers).   
39.  Which of the following fish is not larvivorous 

fish?/efvecveefueefKele ceW mes keâewve-meer ceÚueer ueeJeeaJeesjme 
ceÚueer veneR nw? 

 (a) Trichogaster/š^eFkeâesiewmšj  
 (b) Gambusia/iewcyetefmeÙee  
 (c) Haplochitus/neheueesefÛešme 
 (d) Pterophyllum/šsjesefheâuece 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (d) Pterophyllum commonly known as angelfish is 
not a larvivorous fish. Larvivorous fish are those that 
feed on the larvae of mosquitoes helping control 
mosquito populations and reduce the speed of diseases 
like malaria and dengue fever.   
40.  ____________is the practise of eating insects 

like tarantulas and centipedes.  
  ............... yeÌ[er šejWšÙegueeme Deewj Meleheeo pewmes keâeršeW 

keâes Keeves keâer ØeLee nw~ 
 (a) Melittology/cesefuešesuee@peer  
 (b) Myrmecology/efheheerefuekeâe efJe%eeve  
 (c) Entomology/keâerš efJe%eeve 
 (d) Entomophagy/keâeršeneefjlee (Sbšesceesheâeieer) 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (d) Entromophagy is the practice of eating insects. 
It involves consuming insects as food. This includes 
various types of insects such as tarantulas and 
centipedes. 
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41.  Insects have a ___________heart and the 
circulatory system is ____________.  

  keâeršeW keâe ................. ùoÙe neslee nw Deewj heefjmebÛejCe leb$e 
................ neslee nw~ 

 (a) Dorsal, closed/he=‰erÙe, yebo  
 (b) Ventral, closed/DeYÙegoj, yebo 
 (c) Dorsal, open/ he=‰erÙe, Keguee 
 (d) Ventral, open/ DeYÙegoj, Keguee 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (c) Insects have an open circulatory system, 
meaning that their blood, called hemolymph, is pumped 
into the body cavity by the heart through opening called 
ostia and then bathes the internal organs directly. 

• The heart of insects is typically dorsal and the 
circulatory system is open, allowing hemolymph to flow 
freely throughout the body cavity.   
42.  Which of the following is an example of 

negative phototaxis?/efvecveefueefKele ceW mes keâewve 
$e+Ceelcekeâ heâesšesšwefkeämeme keâe GoenjCe nw? 

 (a) Cockroaches/efleueÛeóe  
 (b) Maggots/cewieš  
 (c) Wood lice/Jeg[ ueeFme 
 (d) Cockroaches, Maggots & Wood lice, all are 

correct/efleueÛeóe, cewieš Deewj Jeg[ ueeFme meYeer mener nQ~   
DSSSB Laboratory Assistant (28.08.2021) 

Ans. (d) Negative phototaxis refers to the movement 
away from light. 

• Cockroaches, maggots and woodlice are examples of 
organism that exhibit negative phototaxis, as they tend 
to move away from sources of light to avoid detection 
by predators or to seek shelter is dark hidden places. 
43.  Bacteria belongs to which of the following 

classes?  
  peerJeeCeg, efvecveefueefKele JeieeX ceW mes efkeâmemes pegÌ[s nesles nw?  
 (a) Prokaryotes/ØeeskewâÙeexšdme  
 (b) Eukaryotes/ÙetkewâÙeexšdme  
 (c) Protozoans/Øeesšes]peesvme 
 (d) Keratorcytes/efkeâjsšesmeeFšdme 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) Bacteria belong to the class of prokaryotes, 
which are unicellular organism lacking a nucleus and 
other membrane bound organelles. Prokaryotes include 
bacteria and archaea, both of which are characterized by 
their simple cellular structure compared to eukaryotes.  
44.  Monerans bearing conidia for reproduction 

belong to  
  ceesvesje efpemeceW peveve kesâ efueS keâesveeref[Ùee neslee nw, Fmemes 

mecyeefvOele nw 
 (a) Eubacteria/ÙetyewkeäšerefjÙee  
 (b) Archebacteria/Deeefke&âyewkeäšerefjÙee  
 (c) Actinomycetes/SefkeäšveesceeFefmeefšpe 
 (d) Mycoplasma/ceeFkeâeshueepcee 

HPSSC Jr. Laboratory Technician (18.12.2020) 

Ans. (c)  Actinomycetes are a group of bacteria that 
bear conidia for reproduction. Conidia are asexual 
spores produced by certain fungi and bacteria, including 

Actinomycetes as a means of reproduction therefore the 
presence of conidia for reproduction is related to 
Actinomycetes.   
45.  Lungs is to man as _______is to fish./ceveg<Ùe kesâ 

efueS hesâheâÌ[s Jewmes ner nw ......pewmes ceÚueer kesâ efueS 
 (a) fin / efheâve (b) gills / ieueheâÌ[s  
 (c) water / heeveer (d) oxygen / Dee@keämeerpeve 

HPSSC Laboratory Assistant (22.09.2019) 

Ans. (b) Lungs are organs in mammals, including 

human that facilitate the exchange of oxygen and 

carbon dioxide with the blood stream similarly, gills are 

the respiratory organs in fishes that enable them to 

extract oxygen from water and release carbon dioxide, 

so, just as lungs are essential for breathing in mammals 

gills serve the same purpose for fish. 
46.  Which have valveless heart ?  
  efkeâmeceW keâheešefJenerve ùoÙe heeÙee peelee nw? 
 (a) Mammals /mleveOeejer ceW  
 (b) Reptiles /mejerme=he ceW   
 (c) Fish /celmÙeeW ceW  
 (d) Amphibians /GYeÙeÛej ceW  

HPSSC Laboratory Assistant (22.09.2019) 

Ans. (c) Fish have valveless hearts. Their hearts 
consists of two chambers and pump blood in a single 
circuit through the gills and then to the rest of the body.  
This type of heart structure is common among fish and 
is referred to as a "single circulation" system. 
47.  The scientific name of mid wife toad is :  
  efce[ JeeFHeâ šes[ keâe Jew%eeefvekeâ veece nw : 
 (a) Bufo/yetHeâes  (b) Hyla/neFuee  
 (c) Rhacophorus/jwkeâesHeâesjme 
 (d) Alytes/SueeFšerpe 

UKSSSC Lab Assistant (19.05.2019) 

Ans. (d) The scientific name of the midwife toad is 
Alytes. These toads belong to the genus Alytes within 
the family Alytidae. They are known for their unique 
reproductive behavior where the male carries the 
fertilized eggs on its back until they hatch hence the 
name midwife toad.     
48.  Excretory organs of plateyhelminthes :  
  huesšernsucesvLeerpe mebIe ceW Glmepeea Debie nw : 
 (a) Flame cell/pJeeuee keâesefMekeâe  
 (b) Nephridia/veseføeâef[Ùee  
 (c) Ranatte cell/jsvesš keâesefMekeâe 
 (d) Meta nephridia/cesše veseføeâef[Ùee 

UKSSSC Lab Assistant (19.05.2019) 

Ans. (a) Flame cell specialized excretory  cells found in 

simple invertevrates including flat worms, 

(plateyhelminthes). They are responsible for 

osmoregulation and excretion.  
49.  Which one of the statements given below is/are 

correct with respect to Tapeworm?  
  veerÛes efoS ieS JeòeâJÙeeW ceW mes keâewve-mee JeòeâJÙe 

Heâerleeke=âefceÙeeW kesâ mebyebOe ceW mener nw? 
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 A. They are intestinal parasites/Ùes Deeb$eerÙe hejpeerJeer 
nesles nQ~  

 B. They survives within the intestines of animals 
including humans/Ùes ceeveJeeW meefnle heMegDeeW keâer DeebleeW 
kesâ Yeerlej peerefJele jnles nQ~  

 C. They survives within the intestines of animals 
excluding humans/Ùes ceeveJeeW kesâ DeueeJee heMegDeeW keâer 
DeebleeW ceW peerefJele jnles nQ~ 

 (a) A and B  (b) A and C  
 (c) Only A (d) A, B and C 
MP VYAPAM Lab Technician (18.10.2015, Shift-III) 

Ans. (a) They are intestinal parasites-Tapeworms are 
indeed intestinal parasites that reside in the intestine of 
their hosts. 

• They survive within the intestines of animal including 
humans. Tapeworms can infect a variety of animals 
including humans and live within their intestine.  
50.  Scientific name of Sucker cat fish is________.  
  mekeâj kewâš ceÚueer keâe Jew%eeefvekeâ veece________nw~ 
 (a) Carassius auratus/kesâjsefmeÙeme Dee@jsšme  
 (b) Cyprinus Carpeo/efmeefØeveme keâeefhe&Dees  
 (c) Labeo bicolar/uewefyeÙees yeeF&keâe@uej 
 (d) Hypostomus Plecostomus/ neFheesmšesceme 

hueskeâesmšescme 
MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (d) The scientific name of the sucker catfish is 

Hypostomus plecostomus. This species is commonly 

known as the plecostomus or pleco. Plecostomus are 

freshwater fish belonging to the loricariidae family and 

are known for their ability to clean algae from aquarium 

tanks. 
51.  Vagina of Scoliodon is formed by the union 

of_____./mkeâesefueÙees[e@ve keâer Ùeesefve______kesâ efceueve mes 
yeveleer nw~ 

 (a) Uteri/«eerJee  
 (b) Ureters/cet$eJeeefnveer 
 (c) Vas deferens/Jeeme [sheâjWme 
 (d) Vasa efferentia/Jeemee FheâjWefMeÙee 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) The vagina of scoliodon, which is a type of 

shark commonly known as the spadenose shark, is 

formed by the union of uteri.  
52.  Spermatozoa in Scoliodon are developed in__.  
  mkeâesefueÙees[e@ve kesâ Meg›eâeCeg_______ceW efJekeâefmele nesles nQ~ 
 (a) Apopyle/SheesheeFue  
 (b) Testes/Je=<eCe  
 (c) Siphon/meeFheâve 
 (d) Seminal vesicle/Meg›eâeCeg hegefškeâe 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) Spermatozoa in scoliodon are developed in the 

testes. The testes are the primary organs responsible for 

producing sperm cells (Spermatozoa) in male animals 

including shark.  

53.  Ampullae of Lorenzini are_______.  
  ueesjWefpeveer keâer Schegueer_______nQ~ 
 (a) Photoreceptors/heâesšesefjmeshšj  
 (b) Thermoreceptors/Leceexefjmeshšj  
 (c) Rheoreceptors/ efjDeesefjmeshšj 
 (d) Tangoreceptors/šQieesefjmeshšj 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (b) Ampullae of Lorenzini are specialized 

structures found in sharks and related fish species. They 

act as thermoreceptors, detaching temperature changes 

in the surrounding water, aiding in locating prey and 

navigating their environment.  
54.  The term malacology is used for the scientific 

study of_________.  
  ceeueekeâesuee@peer Meyo_______kesâ Jew%eeefvekeâ DeOÙeÙeve kesâ 

efueS ØeÙeesie efkeâÙee peelee nw~ 
 (a) Decapod Crustaceans 

  ome hewjJeeuee ›eâmešsefMeÙeve  
 (b) Malacostracan crustaceans 

  ceeueekeâesmš^ekewâve ›eâmešsefMeÙeve  
 (c) Echinoderms/FkeâeFvees[cme& 
 (d) Molluscans/ceesuemkebâme 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (d) The term Malacology is indeed used for the 
scientific study of molluscs, which are soft-bodied 
invertebrates including snail, slugs, clams squid and 
octopuses.  
55.  The integument of posterior dorsal border of 

prawn head extending back over the body is 
known as_________.  

  PeeRies kesâ efmej mes heerÚs mes Mejerj he=‰erÙe meercee kesâ DeeJejCe 
keâes_______kesâ ™he ceW peevee peelee nw~ 

 (a) Somite/keâeÙeKeb[ 
  (b) Thorax/Je#e 
 (c) Carapace/he=‰Jece& 
 (d) None of these/FveceW mes keâesF& veneR 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (c) The integument of the posterior dorsal border 
of a prawn's head extending back over the body is 
called the carapace, a hard protective shell covering the 
head and thorax. 
56.  Which of the following is commonly known as 

flying fish?/efvecve ceW mes keâewve Deeceleewj hej GÌ[ves Jeeueer 
ceÚueer kesâ ™he ceW peevee peelee nw~ 

 (a) Exacoetus volitans/Skeämeeskeâesšme Jee@ueeršve  
 (b) Megalaspis cordyla/cesieeueeefmheme keâesef[&uee  
 (c) Catla catla/kewâšuee kewâšuee 
  (d) Scoliodon laticaudus/mkeâesefueÙees[e@ve ueeefškeâeT[me 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (a) The commonly known flying fish is Exacoetus 
volitans  

• Flying fish are characterized by their ability to leap 
out of the water and glide for considerable distance 
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using their enlarged pectoral fins. This behavior allows 
them to escape from predators and cover more ground 
while foraging for food.   
57.  Heterocoelous centrum is a characteristic of?  
  nsšsjeskeâesefueÙeme meWšĉe efkeâmekeâer efJeMes<elee nw? 
 (a) Amphibia/GYeÙeÛej  (b) Reptilia/mejerme=he  
 (c) Birds/he#eer 
 (d) Mammalia/mleveerÙepevleg 

MP VYAPAM Lab Technician(18.10.2015,Shift-I) 

Ans. (c) Heterocoelous centrum refers to a type of 
vertebrae found in birds. In this type of vertebrae, the 
articular surfaces of adjacent vertebrae are saddle-
shaped, allowing for more mobility and flexibility in the 
spine which is important for flight.  
58.  Body cavity lined by mesoderm is  
  ceOÙepevemlej Éeje Deemleefjle osniegne nw- 
 (a) Coelenteron/efmeuesvš^e@ve (b)Blastocoel/yueemšesmeerue  
 (c) Coelom/efmeueesce 
 (d) Pseudocoel/mÙet[eefmeueesce 

HPSSC Laboratory Assistant 10.04.2022 

Ans. (c) The coelom is a body cavity lined by 
mesoderm in higher animals, including vertebrates. This 
cavity separates the digestive tract from the body wall 
and house various internal organ.    
59.  Dead Man's Finger is  
  ce=le ceeveJeebiegefue nw- 
 (a) Coral/ØeJeeue  
 (b) Echinoderm/MetueÛeceea 
 (c) Sponge/mhebpe 
 (d) Infected appendix/meb›eâefcele Gheebie 

HPSSC Laboratory Assistant 10.04.2022 

Ans. (a) "Dead Man's fingers" refers to a soft coral in 
the genus alcyonium. It earns its name from its 
resemblance to person pale, thick fingers, like those of a 
dead person.     
60.  A dioecious animal is  
  Skeâ efÉefuebieeßeÙeer ØeeCeer nw- 
 (a) Tapeworm/Heâerleeke=âefce  (b) Earthworm/keWâÛegDee  
 (c) Liver fluke/ueerJej heäuetkeâ 
 (d) Aurelia/Dee@jerefueÙee 

HPSSC Laboratory Assistant 10.04.2022 

Ans. (d) Aurelia is a genus of jellyfish, which are 
dioecious animals. "Dieocious" means that individuals 
of the species are either male or female, with separate 
sex. This is in contrast to other animals where 
individuals may possess both male and female 
reproductive organs (hermaphrodites) or change sex at 
some point in their life cycle.   
61.  Arthropods lack  
  mebefOeheeoeW ceW keâceer nesleer nw- 
 (a) Jointed appendages/pegÌ[s Gheebie  
 (b) Cilia/he#ceeYe  
 (c) Respiratory organs/MJemeve Debie 
 (d) Segmented body/meKeb[ Mejerj 

HPSSC Laboratory Assistant 10.04.2022 

Ans. (b) Arthropods do not lack jointed appendages, 
respiratory organs or segmented bodies. However they 
lack cilia. 

• Cilia are tiny hair-like structures found in many other 
organisms such as some species of worm and protozoa, 
used for movement or sensory functions.  

62.  Connecting link between chordates and non-
chordates is:/keâe[xše leLee vee@ve-keâe[xše kesâ yeerÛe keâer 
Ùeespekeâ keâÌ[er nw : 

 (a) Peripatus/hesjerhesšdme  
 (b) Neoplina/efveDeeshesueeFvee  
 (c) Balanoglossus/yesuesveesiueesmeme 
 (d) Tochyglossus/šskeâeriueesmeme 

RSMSSB Lab Assistant (29.06.2022) 

Ans. (c) Balanoglossus is a genus of marine animal 
often considered as a connecting link between chordates 
and non-chordates. It belong to the phylum 
Hemichordata. 
63.  What is the scientific name of starfish?  
  mšej efHeâMe keâe Jew%eeefvekeâ veece keäÙee nw? 
 (a) Asterias/SmešsefjÙeme  (b) Echinus/SkeâeFvebme  
 (c) Lionulus/efuevÙegueme (d) Echidna/Sefkeâ[vee 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (a) The scientific name for starfish is " Asterias".  
The term "Asterias" is derived from the Greek word for 
"star", which reflects the star-like shape of many 
species of starfish. This genus includes several species 
commonly known as sea stars or star fish.  
64.  Which is the biggest phylum in animal?  
  pevleg peiele ceW meyemes yeÌ[e HeâeFuece keâewve mee nw? 
 (a) Arthropoda/DeeLeexhees[e  (b) Protozoa/ØeesšespeesDee  
 (c) Chordata/keâe[xše (d) Mollusca/ceesuemkeâe 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (a) The biggest phylum in the animal kingdom is 
Arthropoda. Arthropods include insects, spiders 
crustaceans and other invertebrates.  

• They are characterized by having segmented bodies, 
joined limbs, and an exoskeleton made of chitin. 

• Arthropods are incredibly diverse and abundant, with 
over million described species making them the largest 
phylum in terms of species richness.   
65.  Which type of blood is found in Aves?  
  heef#eÙeeW ceW efkeâme Øekeâej keâe jòeâ heeÙee peelee nw? 
 (a) Semi warm/Deæ& iece&  
 (b) Cold/"b[e  
 (c) Warm/iece& 
 (d) Warm and cold/iece&, "C[e oesveeW 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (c) Aves, which is the scientific classification for 

birds, have warm blood. They are warm-blooded 

vertebrates, which means they maintain a constant body 

temperature regardless of the environment.    
66.  Which of these creatures is not in the Insect 

Class?  
  FveceW mes keâewve mee peerJe keâerš Jeie& ceW veneR nw? 
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 (a) Butterfly/efleleueer  (b) Mosquito/ceÛÚj  
 (c) Spider/cekeâÌ[er (d) Beetles/yeeršume 

MP VYAPAM Lab Technician (17.10.2015) 

Ans. (c) Spiders belong to the class Arachnida, not 
Insecta. Insects have six legs, while spiders have eight 
legs. Therefore, spiders are not classified as insects.   
67.  The kingdom of prokaryotes is  
  Øeekekesâvõkeâer keâe peiele nw  
 (a) Monera/ceesvesje  (b) Protista/Øeesšermše  
 (c) Fungi/Hebâieer (d) Plantae/hueebšer 

HPSSC Laboratory Assistant(11.02.2021) 

 Ans.(a) The kingdom monera consists of prokaryotic 
organism which are unicellular organisms lacking a 
nucleus and other membrane bound organelles. This 
kingdom includes bacteria and cyanobacteria (blue-
green algae). Therefore, the kingdom of prokaryotes is 
monera.     
68.  Highest degree of polymorphism is found in  
  yeng™helee keâer GÛÛelece keâesefš heeF& peeleer nw 
 (a) Protozoa/ÇØeesšespeesDee ceW  
 (b) Cnidaria/veeF[sefjÙee ceW  
 (c) Platyhelminthes/huesšernsefucevLeerpe ceW 
 (d) Arthropoda/DeeLeÇeshees[e ceW 

HPSSC Laboratory Assistant(11.02.2021) 

 Ans.(b) Cnidaria which include jellyfish, corals and sea 
anemones, exhibit the highest degree of polymorphism. 

• Polymorphism in cnidarians refers to the presence of 
different body forms with in a single species, such as 
the polyp and medusa forms. 

• This polymorphism allows cnidarians to adopt to 
various environmental condition and lifestyles, making 
them highly diverse and successful organisms.  
69.  Methanogenic bacteria are  
  cesLewveespesefvekeâ peerJeeCeg nQ 
 (a) Anaerobic in nature/Øeke=âefle ceW DeJeeÙeJeerÙe  
 (b) Aerobic in nature/Øeke=âefle ceW JeeÙeeJeerÙe  
 (c) Saprophitic in nature/Øeke=âefle ceW ce=lepeerJeer 
 (d) None of these/FveceW mes keâesF& veneR  

HPSSC Laboratory Assistant(11.02.2021) 

Ans.(a) Methanogenic bacteria are anaerobic in nature 

meaning they thrive in environments without oxygen. 

They play crucial role in anaerobic digestion, breaking 

down organic matter such as dead plants and animals 

and producing methane gas as a by product.   
70.  Connecting link between phylum Annelida and 

Mollusca is - 
  mebIe Sveerefue[e SJeb ceesuemkeâe keâer Ùeespekeâ keâÌ[er nw- 
 (a) Peripatus/hesjerhesšme  
 (b) Neopilina/efveDeesefheueeFvee  
 (c) Chiton/keâeFšve 
 (d) Nautlus/vee@efšueme 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (b) Neopilina is a genus of deep -sea mollusks that 
is considered to be a connecting link between the 
phylum Annelida and Mollusca. 

71.  The animals of which group are 

homoeothermic ?   
  efvecve ceW keâewve mee mecetn meceleeheer ØeeefCeÙeeW keâe nQ ? 
 (a) Whale, Pigeon, Bat/Jnsue, keâyetlej, ÛeceieeoÌ[  
 (b) Crocodile, Alligator, Bat/›eâeskeâes[eFue, Ssueeriesšj, 

ÛeceieeoÌ[  
 (c) Whale, Alligator, Pigeon/Jnsue, Ssueeriesšj, keâyetlej 
 (d) Hippocampus, Bat, Alligator/efnheeskesâcheme, 

ÛeceieeoÌ[, Ssueeriesšj 
RSMSSB Lab Assistant (03.02.2019) 

Ans. (a) Whale, pigeon, Bat - regulate their body 

temperature internally, known as homoeothermic. This 

enables them to maintain a stable body temperature 

regardless of external condition, distinguishing them as 

homoeothermic animals.    
72.  Match List-I with names of Phylum with List-

II with structures and answer:  
  mebIeeW kesâ veeceÙegòeâ metÛeer -I keâes mebjÛeveeDeeWÙegòeâ metÛeer-II 

mes cesue keâjW leLee mener Gòej keâe ÛeÙeve keâerefpeS  
          List -I/ metÛeer -I  List-II/ metÛeer-II 
(a) Porifera/heesjerHesâje (i) Flame cells/ 

pJeeuee keâesefMekeâeSB 
(b) Platyhelminthes/ 

huešernsefucebLeerpe 
(ii) Choanocytes/ 

keâerheeCeg 
(c) Nemathelminthes/ 

efvecewšnsefucebLeerpe 
(iii) Phasmids/ 

Heâeefmce[dme 
(d) Chordata/keâe@[xše (iv) Cnidocytes/ 

obMekeâesefMekeâeSB 
  (v) Malpighian 

tubules/cewueheerefIeÙe
ve veefuekeâeSB 

  (vi) Postanal tail/ 

he§eiego hegÛÚ 

(a)  (a) (iv), (ii); (b) (i); (c) (v); (d) (vi) 

(b)  (a) (iii), (b); (i) (iv); (c) (ii); (d) (v)  

(c)  (a) (ii), (b); (i) (c); (iii) (d); (vi) (vi) 

(d)  (a) (i), (ii); (b) (iv); (c) (iii); (d) (vi) 

RSMSSB Lab Assistant (03.02.2019) 

Ans. (c)   
          List -I/ metÛeer -I  List-II/ metÛeer-II 
(a) Porifera/heesjerHesâje (ii) Choanocytes/ keâerheeCeg 

 

 
(b) Platyhelminthes/ 

huešernsefucebLeerpe 
(i) Flame cells/ pJeeuee 

keâesefMekeâeSB 
(c) Nemathelminthes/ 

efvecewšnsefucebLeerpe 
(iii) Phasmids/ Heâeefmce[dme 

(d) Chordata/keâe@[xše (vi) Postanal tail/ he§eiego 
hegÛÚ 
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Chapter-4 
 

Circulatory & Endocrine        

System of Humans
1.  Which hormones are mainly responsible for 

control and coordination in plants ?   
  heewOeeW ceW efveÙeb$eCe Deewj mecevJeÙe kesâ efueS cegKÙe ™he mes 

keâewve mes neceexve efpeccesoej nesles nQ ?  
 (a) Adrenaline and insulin/S[^erveefueve Deewj Fbmegefueve  
 (b) Cytokinin and ethylene/meeFšeskeâeFefveve Deewj 

FLeeFueerve   
 (c) Thyroxine and progesterone/LeeÙeje@efkeämeve Deewj 

Øeespesmš^e@ve 
 (d) Melatonin and testosterone/cesueešesefveve Deewj 

šsmšesmšerje@ve 
CG-FSL-Lab-Attendant-2024 

Ans. (b) : The hormones primarily responsible for 
control and coordination in plants are cytokinin and 
ethylene.  

These hormones play crucial roles in various 
physiological processes such as growth, development, 
and response to environmental stimuli in plants.  

2.  Which elements in blood are essential for 

human life?/jòeâ ceW keâewve-mes lelJe ceeveJe peerJeve kesâ 
efueS DeeJeMÙekeâ nesles nQ ?  

 (a) Caesium/meerefpeÙece  (b) Wood/uekeâÌ[er  
 (c) Globin/iueesefyeve (d) Metal/Oeeleg  

CG-FSL-Lab-Attendant-2024 
Ans. (c) : The elements in blood that are essential for 

human life are primarily globin.  

Globin is a protein component found in hemoglobin, 

which is crucial for transporting oxygen in the blood. 

3.  Which part of the heart is used to transport 

blood?/ùoÙe kesâ efkeâme efnmmes kesâ GheÙeesie mes jòeâ 
heefjJenve neslee nw ?  

 (a) Lateral part /heeefÕe&keâ Yeeie   
 (b) Neuroconductor/mveeÙegÛeeuekeâ   
 (c) Both/oesveeW  
 (d) None of these/FveceW mes keâesF& veneR  

CG-FSL-Lab-Attendant-2024 
Ans. (d) :  The part of the heart which is used to 

transport blood is left ventricle. 

The oxygen-rich blood from the lungs then enters the 

left atrium and is pumped to the left ventricle. 

So, none of these option is correct.   

4.  To which part of the heart does oxygenated 
blood come ?   

  ùoÙe kesâ efkeâme Yeeie ceW Dee@keämeerpeve Ùegòeâ jòeâ Deelee nw ?  
 (a) Right atrium/oeÙeeb Deefuebo  
 (b) Right ventricle/oeÙeeb efveueÙe   
 (c) Left atrium/yeeÙeeb Deefuebo  
 (d) Left ventricle /yeeÙeeb efveueÙe  

CG-FSL-Lab-Attendant-2024 
Ans. (c) : Oxygenated blood from the lungs travels 
through the pulmonary veins and enters the left atrium 
of the heart. From there, it is pumped into the left 
ventricle, which then distributes it to the rest of the 
body through the aorta.    

5.  Heparin is produced by :  
  efnhesefjve Glhevve efkeâÙee peelee nw : 
 (a) Kidney cells/efkeâ[veer mesume Éeje  
 (b) Blood cells/jkeäle keâesMeeDeeW Éeje 
 (c) Bone marrow/yeesve cewjes Éeje 
 (d) Liver cells/Ùeke=âle keâesMeeDeeW Éeje 

CG Lab Assistant-2019 

Ans. (b) : Heparin is produced by blood cells, specially 
it is synthesized and stored in mast cell and basophils 
which are types of white blood cells involved in 
immune response and anticoagulation. 
6.  When heart beat decreases, the condition is 

called :  
  peye ùoÙe keâer OeÌ[keâve keâce nes peeleer nw lees Gmes keânles nQ: 
 (a) Bradycardia/yeÇsef[keâe@ef[&Ùee  
 (b) Tachycardia/šsefkeâkeâe@ef[&Ùee  
 (c) Leucopenia/uÙetkeâeshesefveÙee 
 (d) None of the above/Ghejeskeäle keâesF& veneR 

CG Lab Assistant-2019 

Ans. (a) : When heart beat decrease the condition is 
called bradycardia. This condition is characterized by a 
slower than normal heart rate, typically defined as fever 
than go beats per minute in adults.  
7.  In man, gall bladder is situated in :  
  ceveg<Ùe ceW iee@ue yuew[j efmLele neslee nw : 
 (a) Left lobe of liver/Ùeke=âle kesâ yeeBÙes ueesye ceW  
 (b) Caudate lobe/keâe@[sš ueesye ceW   
 (c) Right lobe of liver/Ùeke=âle kesâ oebÙes ueesye ceW 
 (d) Quadrate lobe/keäJee[^sš ueesye ceW 

CG Lab Assistant-2019 
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Ans. (c) : In man the gall bladder is situated in the right 
lobe of the liver. The gall bladder is a small organ 
located on the underside of the liver, storing and 
concentration bile produced by the liver before 
releasing it into the small intestine to aid in digestion.  
8.  Emergency gland of the body is :  
  Mejerj keâer Deheelekeâeueerve «ebefLe nw : 
 (a) Thymus/LeeFceme  (b) Testis/šsefmšme  
 (c) Adrenal/S[^erveue (d) Pituitary/efhešdÙetšjer 

CG Lab Assistant-2019 

Ans. (c) : The emergency gland of the body is adrenal 
gland. It secrets hormones like adrenaline (epinephrine) 
and cortical in response to stress, regulating fight-or-
flight responses and metabolic process to cape with 
emergencies and stressful situations. 
9. Which is an angiotensin-II blocker ?  
  efvecve ceW mes keâewve mee SbefpeÙeesšWefmeve-II yueeskeâj nw? 
 (a) Captopril /kewâhšesefØeue  
 (b) Felofidine /hesâueesheâeFef[ve  
 (c) Losartan /ueesmeejšve  
 (d) Atenolol /Sšveesueesue 

HPSSC Laboratory Technician(25.07.2019) 

Ans. (c) Losartan is an angiotensin-II blocker used to 
treat hypertension and other cardiovascular conditions. 
It works by blocking the action of angiotensin-II, 
leading to vasodilation and decreased blood pressure.  
10.  Pick out the correct statements:-  

  1.  The first hormone discovered was a 
substance named secretin 

  2.  The adrenal cortex arises from endoderm  

  3.  Angiotensin II  stimulates vasoconstriction, 
causing rise in blood pressure 

  4.  The posterior lobe of pituitary gland arises 
from pharyngeal epithelium as an 
imagination called Rathke’s  pouch          

  mener keâLeve ÛegefveÙes:- 
1. ØeLece Keespee ieÙee neceexve efme›esâšerve nw  
2. DeefOeJe=òeâ Jeukegâš keâer Glheefle Sb[es[ce&ue nQ 
3. SsefvpeÙeesšWmeerve efJoleerÙe Jeeefnkeâe mebefkeâCe&ve keâes 
Gòesefpele  keâjlee nw Deewj jòeâ oeye keâes ye{elee  nw  
4. heerÙet<e «eefvLe keâer he§e heeueer iemeveerÙe Ghekeâuee mes Skeâ 
DevleJe&ueve (FvJesefpevesmeve) efpemes jeLkesâ keâe Oeeveer keânles 
nQ, mes  GlheVe nesleer nw 

 (a) (b) and (d) are correct /(b) Deewj (d) mener nw  
 (b) (b), (c) and (d) are correct /(b), (c) Deewj (d) mener 

nw  
 (c) (a) and (c) are correct /(a) Deewj (c) mener nw 
 (d) (a), (b) and (d) are correct /(a),(b) Deewj (d) mener 

nw  
RSMSSB Lab Assistant (13.11.2016) 

Ans. (c) The option (c) is correct because secretin was 
indeed the first discovered hormone and Angiotensin II 
does stimulate vasoconstriction, leading to a rise in 
blood pressure.  

11.  Aorta is/ceneOeceveer keäÙee nw? 
 (a) A type of blood vessel/Skeâ Øekeâej keâer jòeâ Jeeefnkeâe  
 (b) Nerve bundle/lebef$ekeâe yeb[ue 
 (c) A part of kidney/iegox keâe Skeâ Yeeie 
 (d) Vein/efMeje 

HPSSC Laboratory Technician (26-06-2017) 

Ans. (a) The aorta is a major blood vessel that 
originates from the heart and distributes oxygen-rich 
blood to the body. It is not a nerve bundle, part of the 
kidney or a vein.   
12.  Which of these below are true for cerebro 

spinal fluid?/FveceW mes keâewve mee veerÛes Øeceeefmle<keâ ces™ 
õJe kesâ efueS melÙe nw? 

 (a) Contains RBCs/ RBCs jnlee nw  
 (b) Contains high cellularity/DeefOekeâ keâes‰ceÙe neslee nw  
 (c) Contains low cellularity/keâce keâes‰ceÙe neslee nw 
 (d) Slightly turbid in appearance/osKeves ceW LeesÌ[e ieboe 

neslee nw~ 
GSSSB Laboratory Technician(30.11.2019) 

Ans. (c) CSF does not normally contains red blood cells 
(RBCs) and is generally characterized by low 
cellularity. 
13.  _______ is the site of T cell maturation.   
  _______T mesue cewÛÙegjsMeve keâe mLeue nw~  
 (a) Bone marrow/DeefmLe ceppee  
 (b) Thymus/LeeFceme  
 (c) Spleen/mhueerve 
 (d) Lymphocytes/efuecHeâesmeeFšdme 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) Thymus is the site of T cell maturation. T 
lymphocyte originate from bone marrow progenitors 
that migrate to the thymus.   
14.  The normal blood pressure of a healthy human 

should be:/Skeâ mJemLe ceveg<Ùe keâe meeceevÙe jòeâÛeehe 
efkeâlevee nesvee ÛeeefnS?  

 (a) 80 – 120 mm/Hg  
 (b) 90 – 130 mm/Hg  
 (c) 70 – 140 mm/Hg 
 (d) 90 – 110 mm/Hg 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(a) The normal blood pressure range for a healthy 
individual is typically between 80 to 120 mmHg for 
systolic pressure (during heartbeats) and 60 to 80 
mmHg for diastolic pressure (between beats). 
15.  Which one of the following is a master 

endocrine organ?/efvecveefueefKele ceW mes keâewve-meer 
ceemšj DevleŠ ŒeeJeer «ebefLe nw? 

 (a) Hypothalamus/neFheesLewuesceme  
 (b) Anterior pituitary/DeieÇ heerÙet<e «ebefLe 
 (c) Adrenal cortex/DeefOeJe=keäkeâ keâe@šxkeäme 
 (d) Posterior pituitary/he§e heerÙet<e «ebefLe 

GSSSB Laboratory Technician(30.11.2019) 
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Ans. (b) The anterior pituitary gland is considered a 
master endocrine organ because it secretes several 
hormones that regulate various physiological processes 
throughout the body. These hormones include growth 
hormone, Adrenocorticotropic hormone, follicle 
stimulating hormone, luteinizing hormone and 
prolactin. These hormones play crucial roles in growth, 
metabolism, reproduction and other bodily functions. 
Therefore the anterior pituitary gland is essential for 
maintaining overall hormonal balance and homeostasis 
in the body.   
16.  An increase blood flow to atria of human heart 

stimulates the release of Atrial Natriuretic 
Factor (ANF) will leads to 

  ceeveJe ùoÙe kesâ Deeefuebo ceW jòeâ ØeJeen yeÌ{ves mes Deeefuebo 
vewefš^Ùetjsefškeâ keâejkeâ (ANF) keâe œeeJe Gòesefpele keâjlee nw~  

  (i) Vasodialation/Jeeefnkeâe ØemejCe  
  (ii) Increase GFR/GFR yeÌ{lee nw~ 
  (iii) Increase urine formation/cet$e efvecee&Ce yeÌ{lee nw  
  (iv) Decrease blood pressure./jòeâ oeye Iešlee nw~  
 (a) Statement (ii) is correct/keâLeve (ii) mener nw  
 (b) Statements (ii) and (iii) are correct/keâLeve (ii) 

Deewj (iii) mener nw~   
 (c) Statement (i) is correct/keâLeve (i) mener nw~  
 (d) Statements (i) and (iv) are correct/keâLeve (i) Deewj 

(iv) mener nQ~  
Kerala PSC Lab Technician(21.01.2023) 

Ans. (d) The release of Atrial Natriuretic factor (ANF) 
in response to increased blood flow to the heart's atria 
leads to vasodilation and a decrease in blood pressure 
ANF effectively reduces blood volume and pressure by 
increasing the excretion of sodium and water. 
17.  The QRS complex in an ECG of a man 

represents 
  Skeâ Deeoceer kesâ ECG ceW QRS keâe@chueskeäme  
 (a) Ventricular depolarisation/efveueÙe efJeOeÇgJeerkeâjCe   
 (b) Atrial depolarisation/Deeefuebo efJeOeÇgJeerkeâjCe   
 (c) Ventricular repolarisation /efveueÙe hegveOeÇg&JeerkeâjCe  
 (d) Atrial repolarisation /Deeefuebo hegveOeÇ&gJeerkeâjCe  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (a) The QRS complex in ECG (Electro 

cardiogram) represents ventricular depolarization. This 

phase indicates the electrical activity that triggers the 

contraction of the ventricles, which pump blood out of 

the heart. 

• It consists of three main waves: The Q wave, the R 

wave (the largest) and the S wave. 

• The QRS complex is crucial in assessing the electrical 

conduction through the ventricles and diagnosing 

various cardiac condition. 
18.  Name the cells which synthesize and secrete 

testicular hormones called androgens. 
  Gve keâesefMekeâeDeeW keâe veece yeleeFÙes pees SC[^espeve veecekeâ 

Je=<eCe neceexve keâe mebMues<eCe Deewj œeeJe keâjleer nw~  

 (a) Leydig cells/uesef[ie keâesefMekeâeSB  
 (b) Sertoli cells/mešexueer keâesefMekeâeSB   
 (c) Male germ cells/heg®<e peveve keâesefMekeâeSB  
 (d) Spermatids/Meg›eâeCeg veeMekeâ  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (a) Leydig cells, also known as interstitial cells 

are found in the testes of males. They are responsible 

for synthesizing and secreting androgens, primarily 

testosterone. Androgens play a crucial role in the 

development and maintenance of male reproductive 

tissues and secondary sexual characteristics. Therefore, 

Leydig cells are the cells that synthesize and secrete 

testicular hormones called androgens.  
19.  Conn’s syndrome is 
  keâe@ve efmeb[^esce neslee nw Š  
 (a) Hyper aldosteronism /neFhej Su[esmšerje@efvepce   
 (b) Hyper thyroidism /neFhej LeeÙejeFef[pce   
 (c) Hypo thyroidism /neFhees LeeÙejeFef[pce 
 (d) Hypo pituitarism /neFhees efhešdÙetšsefjpce  

Kerala PSC Lab Technician(21.01.2023) 

Ans. (a) Conn's syndrome, also known as primary 

hyperaldosteronism is characterized by the 

overproduction of aldosterone hormone by the adrenal 

glands. This leads to increased sodium retention and 

potassium excretion, resulting in hypertension (high 

blood pressure) and low potassium levels. 
20.  Which disease is caused due to low iodine diet?  
  efvecve ceW DeeÙeesef[ve Deenej kesâ keâejCe keâewve mee jesie neslee 

nw? 
 (a) Goitre/ieueieC[  
 (b) Acromegaly/S›eâesceeriewueer  
 (c) Cretinism/›eâerefšefvepce 
 (d) Beri-beri/yesjer-yesjer 

DSSSB Lab Assistant (10.05.2015) 
Ans. (a) Goitre is a disease caused by a deficiency of 

iodine in the diet. Iodine is essential for the production 

of thyroid hormones, which regulate metabolism. 
21.  Breakdown of Glycogen to glucose is termed as   
  iueeFkeâespeve keâes iuetkeâespe ceW efJeMues<eCe keâes keânles nw 
 (a) Glycolysis/iueeFkeâesueeFefmeme  
 (b) Glycogenolysis/iueeFkeâesefpeveeueeFefmeme  
 (c) Glycogenesis/iueeFkeâesefpevesefmeme 
 (d) Gluconeogenesis/iuetkeâesefveDeesefpevesefmeme 

DSSSB Lab Assistant (10.05.2015) 
Ans. (b) Glycogenolysis is the breakdown of glycogen 

into glucose molecules.  

• This process occurs primarily in the liver and muscles, 

when blood glucose levels need to be maintained, such 

as during fasting or intense exercise.  

Glucose released from glycogenolysis can then be used 
for energy production by cells through out the body.  
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22.  Inflammation of vein complicated by an 

obstructing clot is known as 

  ™keâeJeš hewoe keâjves Jeeues Lekeäkesâ mes efMeje ceW peueve keâer 
mecemÙee keâes keânles nQ 

 (a) Venous thrombosis/Jeerveme LeÇe@cyeesefmeme  
 (b) Thrombus/LeÇe@cyeme  
 (c) Thrombophlebitis/LeÇe@cyeesefheäueefyeefšme 
 (d) Embolus/Jeeefnkeâe 

DSSSB Lab Assistant (10.05.2015) 
Ans. (c) Thrombophlebitis refers to inflammation of a 
vein caused by blood clot. This condition often occurs 
in the legs but can happen in other parts of the body as 
well. 

• The obstruction caused by the clot can lead to pain, 
swelling and redness along the affected vein. 
23.  ________ cell line was used for the production 

of polio vaccine.  
  heesefueÙees šerkesâ kesâ Glheeove kesâ efueS .............. keâesefMekeâe 

jsKeeSB keâe GheÙeesie efkeâÙee ieÙee Lee~ 
 (a) Dog kidney/kegâòes keâe Je=keäkeâ  
 (b) Primate kidney/ØeeFcesš Je=keäkeâ  
 (c) Mouse fibroblast/ceeGme heâeFyeÇesyueemš 
 (d) Human Stem Cell/ceeveJe cetue keâesefMekeâe (ceeveJe mšsce 

mesue) 
DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) Primate kidney cells, specifically from the 
African green monkey, were used in the production of 
the polio vaccine. 
24.  Which hormone stimulates the adrenal glands 

to produce hormones?  
  keâewve mee neceexve DeefOeJe=keäkeâ «ebefLeÙeeW keâes neceexve GlheVe 

keâjves kesâ efueS Gòesefpele keâjlee nw? 
 (a) Anti-Müllerian Hormone/Sbšer-ceguesefjÙeve neceexve  
 (b) Dehydroepiandrosterone/ef[neF[^esSefheÙeve[^esmšerje@ve 
 (c) Adrenocorticotropin 

hormone/Sef[^veeskeâe@efš&keâesš^e@efheve neceexve 
 (d) Luteinizing hormone/uÙetšsveeFefpebie neceexve 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (c) Adrenocorticotropin hormone (ACTH) also 
known as corticotropin, stimulates the adrenal glands to 
produce hormones such as cortisol, aldosterone and 
adrenal androgens. 

• These hormones are essential for various 
physiological processes in the body, including 
metabolism, immune response, and stress regulation. 
25.  ________is the region of the brain responsible 

for maintenance of homeostasis and regulation 
of the endocrine system.  

  ............. ceefmle<keâ keâe Jen #es$e nw pees mecemLeeheve kesâ 
jKejKeeJe Deewj Deble:œeeJeer leb$e kesâ efveÙeceve kesâ efueS 
efpeccesoej nw~ 

 (a) Hippocampus/efnhheeskewâcheme  
 (b) Hypothalamus/neFheesLewueceme  
 (c) Thalamus/Lewueceme 

 (d) Cerebral Hemisphere/Øeceefmle<keâ ieesueeOe& (mesjeryeÇue 
nsefcemHeâerÙej) 

DSSSB Laboratory Assistant (28.08.2021) 

Ans. (b) The hypothalamus is responsible for 
maintaining homeostasis by regulating various bodily 
functions such as body temperature, thirst, hunger, sleep 
and circadian rhythmus. It also controls the endocrine 
system by secreting hormones that stimulate or inhibit 
the release of hormones from the pituitary gland, thus 
regulating hormone levels throughout the body. 
26.  Which is the only tissue present in 

cardiovascular system?   
  keâeef[&ÙeesJewmkegâuej ØeCeeueer ceW efJeÅeceeve Skeâcee$e efšMÙet 

keâewve mee nw?  
 (a) Cartilage/keâeefš&uespe  
 (b) Cardiac muscles/keâeef[&Skeâ ceebmehesMeer  
 (c) Smooth muscles/meceleue ceebmehesMeer 
 (d) Neuroglia tissue/vÙetjesefiueÙee Tlekeâ 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(b) The only tissue present in the cardiovascular 
system is cardiac muscle tissue. This tissue is 
specifically designed to contract rhythmically and 
involuntarily to pump blood throughout the body other 
tissue listed, such as cartilage, smooth muscles, and 
neuroglia tissue, are not exclusive to the cardiovascular 
system and serve different functions in the body. 
27.  Which of the following is not related to heart 

attack?  
  efvecveefueefKele ceW mes keâewve mee efJekeâuhe £oÙeeIeele mes 

mebyebefOele veneR nw?  
 (a) Elevated blood pressure/GÛÛe jòeâÛeehe   
 (b) Stress/leveeJe  
 (c) Cholesterol/keâesuesmš^e@ue 
 (d) Marasmus/cesjsmceme  

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(d) Marasmus is a severe form of malnutrition, 
characterized by inadequate intake of calories and 
protein. 

• It is not directly related to heart attack. Elevated blood 
pressure, stress and high cholesterol levels are all risk 
factors associated with heart attack.  
28.  ______ plays an important role in sleep-wake 

cycle.   
  meesves-peeieves kesâ Ûe›eâ ceW ______ cenlJehetCe& Yetefcekeâe 

efveYelee/efveYeeleer nw 
 (a) Spinal/jerÌ{   
 (b) Cerebrum/mesjeryeÇce  
 (c) Hypothalamus/neFheesLewueceme 
 (d) Epithalamus/SefheLewuesceme 

Bihar SHSB Lab Technician (19.03.2016) 

Ans.(c) The hypothalamus is a small region of the brain 
located just below the thalamus and above the pituitary 
gland. It plays a crucial role in regulating various bodily 
functions including the sleep-wake cycle or circadian 
rhythm. 
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